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$16 |50 36187 20000 ] s [ 285 TEE | 25700 32

R AR -ER L] TNCEE) 6187 [ 20000 4 ELNE SN 000 785 [ 21700 0073 o0

L] 39900, 34800, T 97,0, 36000 SEI8T | 30600 [ i [J35 600, 436900, 436900, $:30500. T 36,600, E32200 785 [ 71700 5 )
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- - 3 - /1 1172 T 11/3 T 11/4 |
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ki E:Aﬁm EER | AR | AR | R 65N | B8 | S5 | S84 | 54 | B84 | B84 | B854 | 504 | 55 | 5550 | 58
HR(PE) =% R CRE) % — 1400 | 25.300 1400 R 25,600 R X 23,400
— 1400 1400 . 25,600 . 25.300
1400 1400 ; 24,700 ; 29,000
s TIES 1400 1400 . 25,400
1400 1400 ; 25,400
1400 1400 . 24,800
R CRE) =R R CRE) % 9.200 9.200
39.200 39.200
39,200 39,200
39.200 39.200
JENIES 39,200 39,200
39.200 39.200
39,200 39,200
39.200 | 1 39.200
R CRE) =8I RRCRE) % 38,800 38,800
38.800 38.800
38,800 38,800
FEES 38.800 38,800
38,800 38,800
38,800 38.800
IR CRB)=#HIK RRCRE) £ 38,100 38,100
38.100 38.100
38,100 38,100
38.100 38.100
HILR — | 38100 38,100
38.100 38.100
38,100 38,100
— 8.100 38.100
FR(CRE) =R HR(PE) R 7 7.400
T 7 7.400 37.400
T 7 7.400 37.400
Ji 7 7.400
Ji 7 7.400
Ji 7 7.400 37.400
RIGS [ JL 7 7,400 37.400
UL 7 7.400
JL 7 7.400
JL 7 7.400
JL 7 7.400
JL 7 7.400 37.400
AR EFFR)=LE &g [ JL2901 - 28,600 28,600
[ JL2903 28,600 28,600
[ JL2905 28,600 28,600
JL2907 28,600 28,600
JL2909 B B B 28,600 28,600
FLUR (37 T 3%) % |_JL2900 = = 28,600 28,600
JL2902 B B 28,600 28,600
JL2904 = = 28,600 28,600
JL2906 B B 28,600 28,600
JL2910 = = — [ 28600 28,600
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- - - - 12/27 T 12/28 T 12/29 T 12730 ]
- [ s 10 O S e o ey i R A o e o T TR A s ey e s (R
ki E:Aﬁm EEE | EEH | EAE | EAE | BN | BN | BEG | BESA | BN | R | I8y | 84 | 84 | E88 | 88 | S50
RECRE) =R (HT8&)| RRCHHE) R ——— | 38900 | 32.400 | 30.000 38,900 | 3 1,900 38,900 | 32.900 | 31,900 38,900 | 32.900 | 31,900 | —
—— | 738.900 | 32.400 | 30.000 38,900 | 3 1.900 | —— | 38,900 | 32.900 | 31.900 38,900 | 32.900 | 31.900 | ——
38,900 | 32.400 | 30,000 38,900 7,700 38,900 | 38.700 | 37.700 38,900 | 38.700 | 37.700
38,900 | 32.900 | 32.000 38.900 7.700 38,900 | 38.700 | 37.700 38,900 | 38.700 | 37.700
38,900 | 32.900 | 32,000 38,900 7,700 38,900 | 38.700 | 37.700 38,900 | 38.700 | 37.700
38,900 | 32.900 | 32.100 38.900 7.700 38,900 | 38.700 | 37.700 38,900 | 38.700 | 37.700
38,900 | 32.900 | 32100 38,900 7,700 38,900 | 38.700 | 37.700 38,900 | 38.700 | 37.700
38,900 | 32.900 | 32.100 38,900 | 3 7.700 38,900 | 38.700 | 37.700 38,900 | 38.700 | 37.700
38,900 | 32.900 | 31.200 38,900 7,700 38,900 | 38.700 | 37.700 38,900 | 38.700 | 37.700
38,900 | 32.900 | 31.200 38.900 7.700 38,900 | 38.700 | 37.700 38,900 | 35.900 | 35.400
38,900 | 32.900 | 31.200 38,900 7,700 38,900 | 38.700 | 37.700 38,900 | 35.900 | 35.400
38,900 | 35.900 | 35.400 38,900 | 3 7.700 38,900 | 38.700 | 37.700 38,900 | 35.900 | 35.400
38,900 | 35.900 | 35.400 38,900 | 3 7,700 38,900 | 38.700 | 37.700 38,900 | 32,900 | 31,900
38,900 | 35.900 | 35.400 38,900 | 3 7.700 38,900 | 38.700 | 37.700 38,900 | 32.900 | 31.900
38,900 | 36.500 | 35.500 38,900 7.700 38,900 | 38.700 | 37.700 38,900 | 32,900 | 31,900
38,900 | 36.500 | 35.500 38.900 7.700 38,900 | 38.700 | 37.700 38,900 | 32.900 | 31.900
38,900 | 32.900 | 31,900 38,900 | 3 7,700 38,900 | 38.700 | 37.700 38,900 | 32.400 | 31,900 | ——
FLIE F TR % 35.400 | 32.900 | 29.800 35.400 29.800 35.400 | 32.900 | 29.800 35.400 | 32.400 | 28.800
35,400 | 32,900 | 29.800 35,400 | 3 29,800 35,400 | 32,900 | 29,800 35,400 | 32.400 | 29,600
35.400 | 32.900 | 29.800 35.400 | 3 29.800 35.400 | 32.900 | 29.800 35.400 | 32.400 | 29.600
35,400 | 32,900 | 29.800 35.400 29,800 35,400 | 32,900 | 29,800 35,400 | 32.400 | 28,800
35.400 | 30.300 | 25.700 35.400 28.100 35.400 | 32.400 | 28.100 35.400 | 32.400 | 28.100
35,400 | 29.300 | 25.500 35.400 27,300 35,400 | 32.100 | 27.300 35,400 | 32.100 | 27.300
35.400 | 30.300 | 25.700 35.400 27.100 35.400 | 31.900 | 27.100 35.400 | 31.900 | 27.100
35,400 | 32.900 | 29.800 35.400 29,800 35,400 | 32,900 | 29,800 35,400 | 32,900 | 29,800
35.400 | 32.900 | 29.800 35.400 | 3 29.800 35.400 | 32.900 | 29.800 35.400 | 32.900 | 29.800
35,400 | 33.200 | 29,800 35.400 27,600 35,400 | 32.400 | 27.600 35,400 | 32.900 | 29,800
35.400 | 33.200 | 29.800 35.400 21.600 35.400 | 32.400 | 27.600 35.400 | 32.900 | 29.800
35,400 | 33.200 | 29,800 35.400 27,300 35,400 | 32.400 | 27.300 35,400 | 32.900 | 29,800
35.400 | 33.200 | 29.800 35.400 | 3 27.300 35.400 | 32.400 | 27.300 35.400 | 32.900 | 29.800
35,400 | 32.900 | 29.800 35.400 27,000 35,400 | 32.200 | 27.000 35,400 | 32,900 | 29,800
35.400 | 32.900 | 29.800 35.400 | 3 27.000 35.400 | 32.200 | 27.000 35.400 | 32.900 | 29.800
35,400 | 30.800 | 26.100 35.400 26.200 35,400 | 31,300 | 26.200 35,400 | 31,300 | 26.200
5.400 | 30.800 | 26.100 5.400 26.200 5.400 | 31.300 | 26.200 5.400 | 31.300 | 26.200
T CHE) =& m R (PE) R 7,500 | 38.900 | 37.900 39,600 7,500 | 40600 | 39,600 7,500 | 40600 | 39,600
—— | 47.500 | 38.900 | 37.900 39.600 7.500 | 40.600 | 39.600 7.500 | 40.600 | 39.600 | —
500 | 39.900 | 38,900 38,900 500 | 39,900
S TES .200 |35.300 |_31.000 32,000 .200 | 35.300 |
200 | 33.300 | 29,000 29,000
.200 | 32.400 | 31.100 28.100
R (PE) =R R (PE) % 600 | 37.600 | 36,600 37,600
.600 | 37.600 |_36.600 38.300
,600 | 37.600 | 36,600 38,300
.600 | 38.600 | 37.600 37.600
JCITIES B B B .100 | 35.600 | 30.600 31,600
= = .100 | 35.600 | 30.600 30.600
B B .100 | 35.600 | 30.600 30,600
= = .100 | 34.700 | 29.700 29.700
RE (FA) =8I ESACES ] ] 100 | 35.800 | 34.800 36.800
= = 100 | 45.000 | 35.700 35.700
B B 100 |36.800 | 35.800 35.800
FEES = = .500 | 29.400 | 28.900 28.700 .
] ] .500 | 40.400 | 28,600 28,600 500 | 40.400
= = .500 | 28.500 | 28.000 25,600 28500 | 21
RE (PA)=HE R CHE) % B B 1400 | 37.600 | 36.600 37,600
= = .400 |_37.600 | 36.600 38.300
B ] 1400 | 37.600 | 36.600 38,300
= = .400 |_38.600 | 37.600 37.600
B B B — .800 | 29.900 | 27.200 26.800
= = .800 | 29.300 | 26.600 26.800
] ] .800 | 29.300 | 26.600 26.800
= .800 | 28.400 | 17.200 25.900
RE(FE)=X5 R CHE) % B B 78 100 | 36.000 | 35.000 35,600
= = 78 1400 | 36.100 |_35.000 37.400
B B 7H 1400 | 36.100 |_35.000 37.400
= = 78 1400 | 36.100 | 35.000 37.400
B B 7H 1400 | 36.100 | 35.000 37.400
= = 78 1400 |_36.400 |_35.400 35.500
K55 B ] 7H .600 | 30.100 | 27.000 29,000
= = 78 .600 | 30.100 | 27.000 29,000
B B 7H .600 | 31.600 | 28.400 28,600
B B 78 .600 | 31.600 | 28.400 28,600
= B 7H .600 | 31.800 | 28.600 29,000
= = 78 36,600 | 31,600 | 28,400 28,000
R (PE) =R R CHE) % B B 78 45100 | 40.000 | 39.700 40,300
= = 78 45,100 | 40.100 | 39,700 41,100
= B 7H 45,100 | 40.100 | 39.700 41,100
= = 78 45,100 | 40.100 | 39,700 41,100
= B 7H 45100 | 40.100 | 39.700 41,100
= = 78 45,100 | 41,300 | 40,300 41,100
AR B B 78 41,200 | 35.000 | 31.400 32,000
= = 78 41,200 | 35.000 | 31,400 32,000
= B 7H 41,200 | 36.100 | 31.400 31,800
= = 78 41,200 | 36.300 | 31,600 30,100
= = 7H 41,200 | 36.300 | 31.600 30.100 . .
= = 78 41,200 | 36,300 | 31,600 | 29.400 | 41,200 | 34,600 | 29,900 | 27.700 | 41,200 | 34,600 0 | 27.700 | 41,200 | 34,600 | 29,900 | 27.70
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71520
B =23 7B - ﬂﬂmﬁmnn
wE wE ¥ i s
P ! | __ | mam EEES
FER(AB)=XR (P | mREE)FE [ JL101 H:12.600 H:11.500 ] -
[CuLi03 00, £:14,400, H12600 L] B0,
[CuLio7 15,800, B:13.000 L] 13,400, F1:11.000
15,400, B:12.600 L] 3400, H:10600
. B1:12,600 L]
5200, 5:12.600 L]
13,000, H:12.600 L]
[ 00 L]
[CuLizt 13,000, H:12.600 L]
[CuLizs 00, B:13,000 L]
[CoLiz7 13,000, B1:15.800 L]
NET] 12,600, B:15.400 L]
[CuLiss 12,600, H:15.400 L]
NET] 12,600, B:15.400 L]
159 13,000, B:15.800 L]
KR (G % | _JLi02 | EE2600 | L]
[CuLioa L]
[CJL106 L]
14,000, F:12600 17500 L]
00 11,500 L]
00 11.500 L] 10,600
00 00 L] 12,000, 10600
[ 00 00 L] 600
[CuL120 H:11,500 L]
[CoLi2a 11500 L]
[CuLi26 00 H:11,500 L]
[CJLiz 0 N 00 11,500, B-14.300 L] 11,100, B-13.400
[CuL130 5500 | 13,000, B:15.800 11,500, B:14.300 L] 11,100, H-13.400
[CoLisa 5500 | 38% 12,600, H:15.400 11,500, B1:14.300 L] 10,600, H1:13.400
138 5500 | 3% 12,600, H:15,800 11,500, H:14.300 L] 10,600, H:-13.400
RRCAE) AR (B | RRGEE |22l 600 | _38% | 15,900, B:14.500 T L] 12,500 12,400, B11,000
[CuL225 5300 | 395 [ F:14.800 L] [F:12.800 H:11.300
229 300 | 39% | 16,400, F:15,100, B:16,600 14900 £:13,600, H15.100 LiE] 47| %1440, £:13.100, B-14600 % 12,900, F11,600, B13.100
X () 5 |_JL220 2700 |50 L] 5%
[Cui224 00 | 40% | E-16,200, £:15.100 FE-14.700, E13,600 L] 4% [SE14.200, £ 13100 FE12.700_ £.11.600
1228 5,100 | 36% [2:16,400, +:14,300, {16,200 14,900, 12,800, BT L] 44%_[%:14.400, 12,300, B-14.200 % 12,900, 10,800, B1Z.700
[E2E ) BN 000 | L] 6%
[Lies | 2.200 | =] 3Tk
[ JLI6S 1.600 | L] 36%
167 2200 | L] 334
TRESE L162 | 200 | L] 3i%
[oLiea | 2.200 | =] a3
[CuLie6 2200 | L] 3
[ [ JLi68 | 2,200 | EiEE] 33% | 218,600, H:19.400
ERPE RRCPE)R | JLiss 400 14300,  B:13,000 EE11500 36T 524 |+ 6:10500
ES 15,400 00 3EE 48% [+ B:10500
[JLie7 )00 13,500 EEL] 50% | £ B:10.500
TNED) 14,400 | _a1% .00 3EHE 524 | 510500
[JLTet 14400 [ 41% 900, I H:13,000 EEL] 52% | #:12,300, X B:10,500
193 3400 |_a1% 00, 13,000 3EHE 524 [212.300. £ H:10,500
g | e | 14300 | _47% EEL ] 52% | 610500
[CuLisa 4,300 | 425 3EE 524 [ %+ H:10500
[CJLise 4,300 | 424 EEL ] 52% | 510500
[CuLiss 4900 |39 3EE 524 |212.300. T H:10500
RED 5400 | a7 EEL ] 48% |+ B:10,500
192 4900 |39 13400, T E11500 3EH 50% | %:12.800. £ H:10500
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7213
= AT TS
5 ¥ ™
wE wE AH
RRPE)=-AR (B [ RRPED R 13,800, B1:11,400 1,500, H:10.400 k=]
[y 3,700 | 15,300, F:14.400_ H:12,600 Eilz]
[Cuci07 | w8 [ 15300 17.400. 15,800, H:13.000 Lil:]
L] 17,000, F:15.400. H:12.600 LilE]
] N N ]
LiEE] 00, 15200, B:12.600 LilE]
] 16,500, A:12,600 ]
[y iz} 12,600 Lilz]
(o2l | e 16,500, :13,000 L]
iz | aiE 00 Eilz]
[Cutizr | wie 17.400. £:15,000. B-15.800 Lil:]
TN ] 17,000, F:12.600. H:15.400 Lilz]
oo | ma 17,000, :12,600, B1:15,400 L]
T B ] 17,000, F:12,600. H:15.400 £l LilE]
139 | &R 17,400, 13,000, 815,800 £:11,500. 614,300 L]
KRR | _Ji0z | &8 1,500, 5:10.900 Lilz]
[Cutioa [ ma 1,500, B1:10,900 L]
[CJLios | aie £ H:11.500 i)
] £:11,600, H11.500 ] ]
L] E:12,900, 511500 L] 14,500, B:10,600
] L] 14,500, F1:10,600
EiEE] Eilz] 14,000, F:12,000. H:10600
[ ] 1,900, B:11.500 L] 14,000, H:10,600
[Liz0 | aiE 11,500 Eilz] £ 14,000
[Cuiza | mia 11,500 L] 214,000
[CLize | aiE 11,500 Eilz] 14500
[uLize [ mie 1,500, B-14.300 L] 15000 F11,100. B:13.400
[JLiso [ miE 1,500, B:14.300 Eilz] 15,000, 11,100, H:13.400
[Cutea [ ma 17,000, :12,600, B:15,400 1,500, B:14.300 L] 15,000, :10,600, H:13.400
138 | &8 17,400, F:12,600, H:15,800 £ 11,500, H14.300 Eilz] 15,000, F:10,600. H:13.400
REIE) AR (BE) | RR B E | 221 | mie 15,900, H:14,500 L] 13,900, 00 £12.400, B:11,000
225 | aiE 14,800 13,30 Eilz] 12800 5:11.300
229 | el 16,400 £:15,100, H:16,600 14900 £:13,600, H15.100 L] 14,400, 13,100, B-14600 %:12.900, 111600, B.13.100
KR (BT & [ _JL220 | 878 HiE
[Cuiz2a | mia 40%_ | S E16.200, 15100 FE14.700_£.13.600 L] $H14200_T.13.100 & H:12.700, 11,600
L228 | miEl 36% [ 16.400, +:14,300, 616200 14900, +:12,800. H14.700 Lil:] 44%_|% 14,400, £:12.300. B % 12,900, 10800, B:12.700
Cm)® | Jsor | iH 3EH 394 | +:26.300
[Js03 | aie SEEL 30%
[JLsos [ mie EEL ] 30%_| 126,800
[CJso7 | aie REL 24% | A %:29.400, 526,800
[Cuts0s | wiel EEL] 24% [ %:29.400, B:26,800
[CJsii | me REL 20
[Cusis [ we EEL] 2%
[Cisis | aie SEEL 30%
[ U517 | mig EEL] 30%
[Csio | mie SEEL 30%
[Cutset | e 381 30 [&H29.400
[Jis23 | mie REL 30%_[% B:29.400
[ U525 | miE EEL] 30% | $H:29.800
[Cuts27 | aie REL 30% 29,800
[Cuiseo | mia SER 30%_[%:29400, H:29.800
531 | miE SEEL 30%_[%29400
U (G ) 38 |_JLs00 | HiE ®3 388 304 [£:20.400. 26,800
[CJs02 | aie $31.300 SEEL 24% | % 20400, 526,800
[Cuisos | wie EEL] 2%
[Jis06 | aie REL 30%
[Jsos [ mie EEL ] 30%
[Cusio | miE 3EEL 30
[tz | me FE31I00 EEL] 308 [$E29.400
[Cisia | miE IEEL 30%_| %2940, 529,800
[Custe | me EEL] 30%_[%:29400, H:29.600
[isis | miE IEEL 30%_|%:29.400, B:29.800
[Cuts20 [ mie EEL] 30%_[%:29400, §:29,600
[Js22 | miE IEEL 30%_|%:29.400, B:29.800
[CJs24 | e EEL] 30% 9,400, B:27,800
[Jis26 | miE £ 831300 IEEL 30%_|%:29,400, B:27.800
[z | e EEL] 37 [$ 626300
530 | miE IEEL 37% | % 826,300
RIR (B % | 250t | mie SER 51% [:24.700, :26,300, 23,300, B:18,000
[Cuizs03 [ miE IEEL 65% | % T 21800, H:19,900
2505 | WiE SER 68% | 20,800, B:19.900
AT 3| Ji2s02 | #IE IEEL 59% |K20,900, 21,800, £ 19800, 519,300
[Cotzs0a [ e SER 59% 21,900, %:23,800. 20400, H:21,300
2506 | iH | 42.200] 3EEL 21%
R (RB)=HE RER(AE) R [ JLi6l | #H 9,000 | L] 46%
[Jii6s | @B | 22.00] Eil:] 3%
[JLies | me | 21.600] ] 36%
167 | #18 | 22,000 ] Eil:] 3%
EGES 162 | #B | 22,200 ] 3%
[JLiea | @B | 22000] Eil:] 33
[Jeieo | mB | 22.200] ] 3%
T68 | #1B | 22,000 ] Eil:] 33%_|%16600. 519,400
RE (AR % | JU18s | mEe 900 EE11500 EEL] 525 10500
[JLiss | @B | 14900 IEEL 48%_| T B:10500
[uLie7 | e | 14400 EEL] 50% | 610500
[JLis9 | miE | 13000 X IEEL 524 |+ H10,500
[Cucior [ me 00 |43y [ :14,400, £ E-13,000 SER 52% | %:12.300, £ B:10500
193 | #18 | 13,900 43% [&14.400, £ H:13000 IEEL 524 | 12,300, £ H:10500
NEE [ Juisz | me 00 | 434 000 EEL] 52% | 510500
[JLisa | mie | 13900 43w 0 IEEL 524 |&+ H 10,500
[JLise | miE | 10900 43% [FH:13,000 EEL] 525 | 510500
[JLiss | miE | 14900 39 [FH13000 % 12900, T E11,500 IEEL 524 | 12,000, TH10500
[CJLiso | #iB [ 14900 39% [+E-13.000 £H:11500 EEL] 48% [+ 6:10500
197 | #18 | 14400 41% [%14.900, £ H:13000 %13.400, TE11500 3EEL 50% | 12,800, TH10500
ERCGAR RRCRAE)% | JL23t | WiB | 19200 [ 0% ] 574
(U233 | miE | 19200 43v Eilz] 554
[JL237 | e | 19200 [ 43% [iL:] 524 [ 16200
U239 | miE | 19200 43% Eilz] 524 | +:16.200
241 | WiE | 19200 43% [iL:] 524 | £:16.200
MR | Ji23 | mid | 19200 43v Eilz] 57%
[JL2ss | e | 19200 43% [iL:] 574 | E15600
U236 | miE | 19200 43u Eilz] 524 | F:16.200
[Jt240 | e | 19200 43% [iL:] 525 | £:16.200
Lod2 | mid | 19200] 43% Eilz] 524 | +16.200
RR(AB)LES ER(AE) S [ U253 | WE 500 [ 38% WiE 56%
255 | miEl 500 | sy Eilz] 53 |B:15100
[JL257 | e | 21500 [ 38% [iL:] 40%_[H:16800
[0 | miEl 500 | sy Eilz] 42%_[B:16800
[Cutze | mie 500|384 ] 52% [&H:17.300
[Jiz63 | miE 500 | sy Eilz] 524 |$H:17.300
[Ji265 | iE | 21500 [ 38% [iL:] 445 [+:16200
L267 | miE 00 | 384 Eilz] 4% | 15,100, 520200
EEB% | Ji2s2 | Wi | 21500 [ 38% ]
[Jizs4 | miE 500 | sy EiEE]
[Cuizs6 | ma 00 | 38% ]
N ] 500 | sy EiEE]
U260 | WiB | 21,500 38% ]
[CJize2 | miE 500 | sy EiEE]
[Cuized [ ma 00 | 384 ]
L266 | AiEl 500 | sy EiEE]
ERAR RE(AE) % | _JL605 | WEB | 87.400 3R [ 46w [&pa700 25500 |
[Jleo7 | miE | 31400 L] 46% |k H:24,700, 25,100, £:28.300
[JLeos | e | 37400 SEH 464 500, 524,700
[Jeii | miE | 37400 L] 6% 00, 124,700
U613 | e | 37400 SER 6% 00, %:25.500 0
615 | AiE | 31400 L] 0 6% 00, 25,500, B:25.900
R#% | JL606 | WiH | 37400 SEH _H:30.100 464 00, £:25,500
[Je0s | miE | 31400 L] 0 46% | 28,300, 25,500
[Jteio | e | 37400 SER 464 24,700, F1:25.900
[Jei2 | miE | 31400 L] 43y K:23.700, %:25.900, B:28.300
[Jte14 | e | 37400 SEH 434 K.23,700, 25,900, B:28.300
616 | miE | 37400 H:33500 L] 6% 25,900, H:28,300




TH{EEI511/3/718&

2A1~3BEED)

EREAR 2019/09/21 ~
773
U578 W57 C TW517D
A H W W T [ wam] EEW W
EEES " mAZR | TR mEiE
R AR AR () | RR(AE) % F11500. B10.400 X — =1 -
12,000, H:10,600
£:13.400, B:11,000
13,400, H:10,600
13,400, B:10,600
13,200, H:10,600
KR P 5
[E.0.000
[£:11.400, H:10,600
[A.12000
10,600
10,600
12,000, H:10,600
[ L]
120 Eil=l A:13.000
[oti2s [ e
[Cutizs | #iE E:12,600, B:13,000 200
[Ji2s | wie 00, H:15,800 500. H1:14,300 11.100. B:13.400
[_JL130 Eil=l 113000, H:15,800 00, H:14,300 11,100, H:13,400
[JLi3a | miE £:12,600, H:15.400 500, H:14.300 £:10600, B:13.400
138 Eil=l £:12.600, B:15.800 00, H:14,300 10,600, H:13,400
R E) AR (EE | RRGEE | J22 | me 00, H1:14,500 400, H1:13,000 13,900, B:12.500 12.400. B:11.000
[Cu225 | w18 14,800 00 [H:12.800 11300
229 | wiE £:15,100, H:16,600 3,600, H:15.100 [£:13.100. B:14,600 £:11.600. H:13.100
KR (BT & [ _JL220 | 878
[ JL224 L] £:15.100, H:16.200 46% [ £:13,600, B:14.700 £:13.100, B:14,200 11,600, B:12,7
L228 Eil=l £:14.300, B:16.200 42% [+:12.800, B:14.700 £:12.300, H:14.200 10,800, H:12,700
RE%E oo | me Ta| F:20300
[_JL501 Eil=l 1:26.300
[CJs0s | miE
[ JL505 Eil=l H:26,800
[JLs07 | w8 H:26.800
[ JL509 Eil=l H:26,.800
[Cutst | me
[usts [ #iE
[Cutsts | gie
[Cust7 [ #iE
[Cutste | gie
[Cuts2t | #iE
[Cuts2s | gie
[Cuis25 | w1l
[Cutser | mie
[Cus29 | #iE
531 g8
R BT 500 | #iH H:26.800
[JLs02 | w8 H:26.800
594 Eil=l H:26,.800
[Cueos | e
[uLs06 | #iE
[CJis0s | miE
[Cusio [ #iE
[Jst2 [ mie 1:29.400
[Cusia |zl 129 800
[Jsi6 [ me 1:20.800
[Cuisis | @il 120,800
[(Jts20 [ wiE 1:20.800
[CJs22 | @il 800
[(Js2a | wiE 1:27.800
[CJis26 | #iE 127,800
[(Js2s | miE 1:26.300
{ [ Js0] &E 126,300
SRR AR (BE % | 250l | WE F26.300. H20000
[_JL2503 Eil=] ,800, H:19,900
2505 LilE] 800, H:19,900
FUR (BT 5 | JL2502 | @iE 800, £:21,300
[JL2504 | ATE .900
2506 EiiE]
ER(AE) % [ JLI6] LilE]
T )
[Jies [ mie
167 | WA
HER L6z | me
[CiLies [ &8
[Jiee [ me
166 | #E
ER(AE) % [ JLI8S LilE] 12,400
[CuLiss | #iE 13,400
[ JLI87 LilE] 12,900
[CuLiss | #iE 12.400
[_JL191 LilE] 12,400
193 Eil=] 12,400
INERSE [Jtie2 | §iE 12,400
[Cuiea | #iE 12.400
[ JLI86 LilE] 12,400
ITREEN =] 12,800
[_JLI190 L] 13,400
192 Eil=] 000 12,900
RE(AE)=ML EE(AE) R [ JL23) [iE] 9,200 |
U233 | ziE 9,200 | 43%
(U237 [ wiE 9,200 | 43% £.16.200
U239 | myB | 19200 43% £:16.200
241 | ma 9,200 | 43% £:16.200
MW | J232 | @A ),200 |_43%
[J2sa | wiE 9,200 | 43% H:15.600
[J236 | AyB | 19200 43% £:16.200
[(J240 [ wiE 9,200 | 43% £:16.200
L242 | AiE | 19200 | 43% £:16.200
FR(AE)-LE TS CAE)% | J253 | WIB | 21500 | 38% .
[Cui2s5 | @il 1,500 |_38% 115
[CJ257 | wiE 1500 | 38% 1:16.800
(U250 | @il 1,500 |_38% 00
[CJ261 [ wiE 1500 | 38% 7.300
263 | @iE 1,500 |_38%
[CJ265 | wiE 1500 | 38%
1267 | @iQ 1,500 |_38%
EB% | J252 | WiB | 21500 38
T 1,500 |_38%
[(J256 [ wid 1500 | 38%
[Cui2ss | @iE 1,500 |_38%
[(J260 [ wiE 1500 | 38%
[Cu262 | @il 1,500 |_38%
[(J26a [ wiE 1500 | 38%
266 | @iE 1,500 |_38%
RH CAE) =58 RR(RE) % | _JL605 | WiH 400 700 | 46%
[uteo7 | @il 400 700 46%
[_JL6O09 [iE] 400 700 46%
[Cuett | #iE 400 700 46%
[ JL613 [iE] 400 1:30.100 700 43%
615 Eil=] 400 1:30,100 700 43%
R&% | _JL606 | WiE | 37.400 H:30.100 700 46%
[JLe0s | giE | 37.400 700 46%
[_JL61O0 [iE] 7,400 700 46%
[CJet2 | g1 | 37.400 H:32.100 700 434
[ JL614 L] 7,400 H:32,100 700 43%
616 Eil=] 7,400 24% [ H:33,500 H:31,900 700 46%




THEEI511/3/7 5 BER(2A12~18ARRS)

EREAA . 2019/09/21 ~
277218
AT TS HWI7C W70
= [ [ kag n an [
A — _ A EEES
RRPE)=-AR (B [ RRPED R 13,800, B1:11,400 1,500, H:10.400 k=] —
[ 15,300, 114,400, B-12,600 EiEE]
[Cutio7 | mie 394 ]
L] a4 LilE]
L] 2 L]
L] aa LilE]
L] 8% L]
[ EiE] 8% L]
(o2l | e 504 ]
[Cutizs [ wia 8% 00, £:12,600 Eilz]
[Cutie7 | ma 424 400, 13,000, H:15800 ]
TN ] 4% 000, 12,600, H:15.400 Lilz]
[JLiss | mia a4 000, :12,600, B:15.400 ]
T B ] a1 000, 12,600, H:15.400 £l LilE]
o9 | mie 3% 400, +:13,000, 15800 £:11,500, 6:14.300 L]
X (G % [ L0z | #ie 50% 000, :11,900 1,500, 5:10.900 Lilz]
[Cutioa [ ma 504 0 1,500, B1:10,900 L]
[CuLios [ wia 39% £ H:11.500 i)
L] 44y £:11,600, H11.500 ]
L] g7y £:12900, H:11.500 L]
L] a4 . B1:12,600 L] 14,500, F1:10,600
EiEE] 48%_[$:16.000, 14,000, H-12600 L] 14,000, F:12.000, B-10600
[ EiEE] 8% 1,900, B:11.500 L] 14,000,
[Liz0 | aiE 8% 11,500 L] 114,000
[Cuiza | mia 50% 11,500 L] 214,000
[CLize | aiE 6% 11,500 L] 14,500
[uLize [ mie 404 1,500, B-14.300 L] 15,000, £:11.100. FL-13.400
[JLiso [ miE 30% 1,500, B:14.300 L] 15,000, :11.100, H-13.400
[Cutea [ ma 4% 000, 12,600, B:15.400 1,500, B:14.300 L] 15,000, :10,600, H:13.400
138 | &8 s 400, :12,600, H:15.800 £ 11,500, H14.300 Eilz] 10,600, H:13.400
REIE) AR (BE) | RR B E | 221 | mie 384 900, B1:14.500 L] 1 12,400, B11,000
225 | aiE 30% 800 13,30 L] 12,600 H:11.300
229 | el 3% 400, F:15,100, B:16,600 14900 £:13,600, H15.100 L] 14,400 £:13,100, H14,600 % 12,900, F11,600, B13.100
X () 5 | Ji220 | miE 50% EiEE]
[Cuiz2a | mia 40%_ | S E16.200, 15100 FE14.700_£.13.600 L] 4% [SE14.200, £ 13100 FE12.700_£:11.600
L228 | miEl 36% [ $:16400, 14,300, H16.200 14,900, 12,600, B14.700 L] 445 [%:14,400, 12,300, B-14.200 12,900, 10,600, BT
Cm)® | Jsor | iH 3EH 394 | +:26.300
[Js03 | aie SEEL 30%
[Cuisos | mia EEL ] 30%_| 126,800
[CJso7 | aie 300 REL 24% [k %29.400, H26.800
[Cuisos | ma 300 EEL ] 24% | A%29.400, B:26,800
[CJsii | me 300 REL 20
[uss | e 300 EEL ] 248
[Cisis | aie SEEL 30%
[ U517 | mig EEL] 30%
[Csio | mie SEEL 30%
[Cus2i | ma 300 SER 30%_[$629.400
[Jis23 | mie 300 REL 30%_[% B:29.400
[Cuises | mia 31.300 SER 30% 529,800
[Cuts27 | aie 31,300 3EHE 30% 29800
[z | mie 5:31.300 EEL ] 30%_[%:29400, H:29.800
531 | miE 31,300 3EE 305_[$26400
U (G ) 38 |_JLs00 | HiE 31300 388 304 [£:20.400. 26,800
[CJs02 | aie $31.300 SEEL 24520400, H:26,800
[Cuisos | wie 388 2%
[Jis06 | aie REL 30%
[Cuisos | mie EEL ] 30%
[Cusio | miE 3EEL 30
[Cusiz | ma FE31I00 EEL] 308 [$E29.400
[Cisia | miE 3EH 30%_[$:20400, 29800
[Cuisie | ma EEL] 30%_[%:29400, H:29.600
[isis | miE 3EH 30%_[$:20400, H:29.800
[Cus20 | ma EEL] 30%_[%:29400, §:29,600
[Js22 | miE 3EH 30420400, H:29.800
[Cuisea | ma EEL] 30% 100, B1:27,800
[Cucs2s | #re £ 831300 IEEL 30%_[$:20400, H:27.600
[Cuises | ma EEL] 37 [$ 626300
530 | miE IEEL 37% | % 026,300
RIR (B % | 250t | mie EEL] 47| T 26,300, B:20,000
[Cuizs03 [ miE IEEL 65% | 18000, %£:21,800, H19.900
2505 | e EEL] 68% 17,000, %:20,800. H:19.900
AT 3| Ji2s02 | #IE 3EH 55% |2 +:21800. H:21.300
IET ] EEL] 53%_[%23,800, + B:23.300
2506 | #iH 3EEL 21%
RE(PB) KA ERAE)E [ U6l | W8 L] 46%
[JLies | miE Eil:] 3%
[Cuiies | ma [il:] 36%
67 | &8 Eil:] 3%
REISE 162 | e [il:] 315
[JLiea | miE Eil:] 33
[Cuiiee | ma [il:] 315
68 | #1B L] 334 16,600, H:19.400
FRCAE)%E | JL1ss | mie EEL] 525 10,500
[iss | miE 3EH 8% 0,500
[Coier | ma EEL] 50 0,500
[JLis9 | miE | 13000 3EH 524 0,500
[Coiei [ ma 00 EEL] 52% | %:12.300, £ B:10500
193 | #18 | 13,900 ] 3EH 524 | 2:12.300, £ H:10,500
N | Juis2 [ e 00 EEL] 52% | 510500
[JLisa | @B | 13900 IEEL 524 | %+ H:10500
[Jie6 | WiB [ 10900 43% [FE-13,000 1,500 EEL] 525 | 510500
[JLiss | miE | 14900 39 [FH13000 $:12.900, TE11500 IEEL 524 | %:12.300. T H:10500
[CJLiso | #iB [ 14900 39% [+E-13.000 11,500 EEL] 48% [+ 6:10500
197 | #18 | 14400 41% [%14.900, £ H:13000 13,400, T H11500 EEL 50% | 12,800, £ H:10500
ERCGAR RRCRAE)% | JL23t | WiB | 19200 [ 0% [il:] 575
(U233 | miE | 19200 43v Eilz] 554
(U237 | B | 19200 43% [iL:] 524 [ 16200
U239 | miE | 19200 43% Eilz] 524 | +:16.200
241 | WiE [ 19200 ] 4% [iL:] 524 | £:16.200
MR | Ji23 | mid | 19200 43v Eilz] 57%
[Ji2sa | WiE | 19200 43% [iL:] 574 | E15600
U236 | miE | 19200 43u Eilz] 524 | F:16.200
240 | WiE | 19200 43% [iL:] 525 | £:16.200
Lod2 | mid | 19200] 43% Eilz] 524 | +16.200
RR(AB)LES ER(AE) S [ U253 | WE 1500 | 38% WiE 56%
[Ji2s5 | miE | 21500 38w Eilz] 53 |B:15100
257 | B | 21500 38% [iL:] 40%_[H:16800
[Ji259 | miE | 21500 38w Eilz] 42%_[B:16800
U261 | miE | 21500 38% [iL:] 524 [ & H:17.300
[Jiz63 | miE | 21500 38w Eilz] 524 |$H:17.300
U265 | B | 21500 38% [iL:] 445 [+:16200
L267 | miH | 21500 38w Eilz] 42115100, 520200
BE%® | Ji2s2 | Wi [ 21500 38w [iL:] 545
[Jizs4 | miE | 21500 38w ] 42 [H:16000
[Ji256 | WiE | 21500 38% [iL:] 50% | 516,800
[z | miE | 21500 38w ] 50% | H:16.800
U260 | WiB | 21,500 38% [iL:] 50% | 16,800
[Jiz62 | miE | 21500 38w Eilz] 44| 16000
[Ji264 | WiE | 21,500 38% [iL:] 425 [£16200
Lo66 | miH | 21500 38w ] 42 [+:16000 —
ERAR RRCRAE)% | JL605 | #iH | 37.400 EET] 31528000 700 | 6% 24,700, £25.500
[Jleo7 | miE | 31400 3EEL 29 [+:31.900 700 | 43s 23,700, $:25.100. £ 28300
[Cuteos | mia | a7.400 EEL ] 26% 700 | a6% 24700, 25,500
[Cuteri | a1\ | a7400 EEL 20% 700 | 464 [k 24700, £:25500
[Cutes | ma | a7.400 EEL ] 29% [ 30100 700 |__46% | 7:24.700, k25,500, 6:25.900
615 | AiE | 31400 3EEL 204 [+:30,100 700 | 46s 4,700, K :25,500, H:25.900
REE | JL606 | WIE | 37.400 EEL ] 29% [ F:30.100 700 | a6% 5900, 25,500
[Je0s | miE | 31400 3EEL 20% 700 | 464 [k:25.900. £:25500
[Cuteio | e | a7.400 3EH 26% 700 | 46%
[Jei2 | miE | 31400 L] 29% | K#31000, B32.100 300 354
[Cuteia | e | a7.400 EEL ] 29%_[%:31.900, 5:32.100 300 | 354 2
616 | miE | 37400 H:33500 3EEL 3231900 700 | a6s 4,700, 25,900, H:28300




THEEI511/3/7 5BER(2A19~29A KRS

EFBAR : 2019/09/21 ~

DAL ]
W70 HWIT7D
= [ i3 w o | ma| ZEE [
- mAZR | TR mEiE
RRAE)-AR (B | RACAE) % 12.400 — — E
[ 3,700 | 900, £:14,400 13,500, £:12,000
[Cutio7 | wiB 30% 17500, £:15,800 15,100, £:13,400
Lil=] 15.400, :13.400
] 15,400, 13,400
Lil=] 15.400, +:13.200
HE 15.300
[ i) 5,300, £:11,000
[otiat [ @iE 15,400, £:11,000
[ JL125 Eil=l 15.400, +:10,600
[(uti27 [ @id 15,500, £:11,000
[ JLI31 Lil=] 15.500, :10.600
TR ] 15,500, £:10,600
[ JL137 Lil=] 15.500, +:10,600
139 | @B 1,000 | 15,500, £:11,000
KR (B % | _JLi02 | & 600 100
[Cucios | gie 600 | 00
[CuLios [ #iE 1,000 | 5400, £:11,400
HE 3,000 | 5,400, £:10,600
i) 3,000 | 400
L] 3,000 | 15,400
Eif:] 2000 | 100 £:12000
[ [il:] 2000 | 100
[Cuti20 [ &8 2,000 | 00
[Jti2a | miE 1,600 | 100
[Cutizs | #iE 2,200 | 400
[JLizs | miE 000 400, £:11,100
[Cuizo [ &8 000 515,400, £:11.100
[JLi3a | miE 400, £:12,600 215,400, £:10,600
138 Eil=l 44% 800, +:12,600 :15.400, £:10,600
R (HE) =K (B | mRAE % | J2t | WE 38% 00 £:13.900 12,400
[Cu225 | w18 39%
229 | el 39% [%16.400, £15.100 14900, 13600 14400, £:13.100 17900, £:11,600
KR (BE) % | _JL220 | #iE 50% 56%
[ JL224 L] 408 [#:16.200, +:15,100 46% | #:14,700, 1:13,600 14,200, £:13,100 12,700, £:11,600
L228 Eil=l 36% [#:16.400, +:14.300 %:14.900, :12.800 14,400, 1:12.300 12,900, £:10,800
IR (@) % | JL2s01 | WIE
[ JL2503 Eil=l 18,000, & 1:21,800
2505 |6 17,000, %2080
FUOR (B Fa) 5 | JL2502 | @i £:21.800
[Ut2s04 [ miE 23,800, £:23,300
2506 EiiE]
R (E) & RRAEDR | Juiol | mE 318
[ JL163 Eil=l 16%
[CJLies | mie 22%
167 Eil=l 18%
ER 62 | mia 6%
[ JL164 Eil=l 18%
[JLiee [ me 16%
168 Eil=l 2200 | 20% [R#:22600, £:22,900 A%:18.600, :18.900
FERCAE) % | JLiss | ma 3,000 | 434
[Cutiss [ #iE 4,900 | 39% | 14,500 00 £12.000
[Jie7 | miE 1400 | 41% 48% | £:12.800 £:11.800
[Cuiss | #iE 3,000 | 43% 50%
[Jtie1 | miE 3,900 | 43% | %:14.400 [_s0%_[%:12.900 %:12.300
193 Eil=l 3900 | 43% [:14.400 #:12.300
A% [ Juie2 | me 3,000 | 438
TR =] 3,900 | 43%
[ JLI8E LilE] 900 43%
[JLiss | #rE | 14.900 | 39% A% 12,300, £:12,000
[CJLio0 | @i | 14,900 398 £:12.000
192 Eil=] 400 4% #:12.800, £:12,000
RRAE)-EL | RRAGAEE | JL201 | W8 | 19200 434 16300
U233 | @il 9,200 | 43% £ 116,300
[(J2s7 [ miE 9,200 | 43%
(U239 [ @il 9,200 | 43%
241 | e 9,200 | 43%
EITES 232 | miH ).200 |_43% & 115,600
[(J2sa [ wiE 9,200 | 43%
1236 | @8 9,200 | 43%
240 | i 9,200 | 43%
242 | @8 9,200 | 43% —
BR(mE RER(AE) R [ J253 | WH 00 | 38% ¥:17.300, X:19.400
[_JL255 Eil=] 500 38% 18,300, 1:20.400
[ JL257 LilE] 500 38%
(U250 | @il 500 | 38% > £21.
[ JL261 LilE] 00 38% 119,
U263 | #iE 500 | 38% 019,
[(J265 | miE 500 | 38% FE21
1267 | mid 500 | 38 =K
EE&¥x | Jw2s | mA 500 | a8% £ 17,600
[Cui2sa | w1l 500 | 38% 521,600, T:20900
[(J256 [ miE 500 | 38% 719400, 19,800
[Cuizse | #iE 38% 519,400, F:19,800
[(J260 [ wiE 38% 219400, 19,800
U262 | #iE 38% 520,500
[(J26a | miE 38% >:21,100. £:19,400
L266 Eil=] 38% 21,600, :19,400
RR(AE)-RE ER(R@E) S [ _JL605 LilE] 30,100 700 43% A:23.700, +:25.500
[ JL607 Eil=] A$:31.800, +:32.500 700 43%
[_JL6O09. LilE] ,700 46%
[ JL6TT Eil=] 700 46% 24,700, $:25,500
[ JL613 LilE] 700 46% £:25,500
615 Eil=] 700 46% #:25,500
RER [ JL6O6 L] 700 46% :25.900, +:25,500
[Cuieos | #ia 700 | 464 25,900, £.25,500
[ JL61O0 [iE] 700 46% :25.500, & 1:24,700
o6z [ a8 3250 500 | 424 [7K23.700. £:24.700, #2590, £28:300
[ JL614 [iE] 1:32.500 500 42% 700, 7:24,700, %:25.900, 1:28,300
616 | miE 700 | 464 24,700, £:25.900




THEZIE11/3/7:BEXR (1 A10~13BEEN)

EEMAE . 2019/09/21 ~
N N y y 710 T [l T /12 T /13 ]
- [T W B R B s B BB G BRI L RE L EE O REG BEG REG RE 0 BE T EE R RE 0 BE T EETT
ANAE I T T e T e e e e e e e
BER(PH)=AREFEFE)| "REA) R f— 33.300 33.300 29,500 33,300 | 29.500 | 23.000 f—
— 33.300 33.300 33.300 26.300 f—
33.300 33.300 33.300 26,300
33.300 33.300 33.300 28.500
33.300 33.300 33.300 28,500
L! 33.300 33.300 33.300 28.500
L! 33.300 33.300 33.300 28,500
L! 33.300 33.300 33.300 26.300
L! 33.300 33.300 33.300 26,300
33.300 33.300 33.300 26.300
33.300 33.300 33.300 26,300
33.300 33.300 33.300 26.300
33.300 33.300 33.300 26,300
33.300 | 3 33.300 33.300 26.300
33.300 33.300 33.300 26,300
33.300 33.300 33.300 26.300
FLIR R TR R 33.300 33.300 33.300 26.300
33.300 33.300 33.300 28.500
33.300 33.300 33.300 28,500
33.300 33.300 33.300 26.300
33.300 33.300 33.300 26,300
33.300 33.300 33.300 26.300
33.300 33.300 33.300 26,300
33.300 33.300 33.300 26.300
33.300 33.300 33.300 26,300
33.300 | 3 33.300 33.300 26.300
33.300 33.300 33.300 26,300
33.300 33.300 33.300 26.300
33.300 33.300 33.300 26,300
33.300 33.300 26.300
33.300 33.300 X | 23.600
33.300 33.300 | 23.600
FRGE-EL | RRER 19200 19200 14,600
19.200 19.200 | _15.100
19.200 19.200 | 16.300
— [ 19.000 19.000 | 1 [ 16.300
19.200 19.200 | 16.300
0T 19200 1 19.200 [ 14.600
19.200 19.200 | 16.300
19.200 19.200 | _16.300
19.200 19.200 | 16.300
200 200 | _16.300
RECABR)=LES R (CRE) 5 .500 .500 [ 15.100
f— .500 .500 | _16.100
=] =] .500 .500 20.600
=] =] .500 .500 20.100
=] =] .500 .500 | 2 16.700
=] =] .500 .500 16.700
=] =] .500 | 2 .500 | 2 19.400
=] =] .500 .500 20.100
L% =] =] .500 .500 | 2 16.000
=] =] .500 .500 20.100
=] =] .500 .500 | 2 | 17.300
A A 500 500 | 2 [ 17.300
=] =] .500 | 2 .500 | 17.300
=] =] .500 | _19.400
5] 5] .500 20.000
=] =] .500 20.000
FRIE A | RRGER = = 7H 400 30.100
=] =] 78 7.400 31.100
5] 5] 78 7.400 | 3
=] =] 78 7.400
5] 5] 78 7.400
=] =] 78 7.400
RIGH 5] 5] 78 7.400
=] =] 78 7.400
5] 5] 78 7.400 | 3
=] =] 78 7.400
5] 5] 78 7.400
A A 78 7.400 | 3

JAL
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- N - - 274 T 2/5 T 2/6 T 2/7 ]
- [ s 10 O S e o e B R e e R e T TR A s Ry e s (AT
ki E:Aﬁm EEY | EER | 6| 4| EEY | BEY | 555 | 556 | 5645 | 5859 | BEY | EE5H | 555 | 556 | 584 | 284
RR(PE)=XIR(FF) | RR(OE) R —— | 12,600 [ 11.600 [ 10.600 12,600 [ 11.600 | 10,600 500 [ 13.700 | 12,300 | ——
— 700 | 12.200 | 11.000 700 | 12.200 | 11.000 000 | 15.300 | 13.800 | ——
300 | 14.000 | 12,800 .300 | 14,000 | 12,800 100 | 16.300 | 15,200
000 | 13.000 | 12,000 000 | 13.000 | 12,000 100 | 16.300 | 14.900
000 | 13.000 | 12,000 ,000 | 13,000 | 12,000 100 | 16.300 | 14,900
000 | 13.000 | 12,000 000 | 13.000 | 12,000 100 | 16.300 | 14.900
,000 | 12.000 | 11,000 000 | 12,000 | 11,000 300 | 15.600 | 14,100
000 | 12.000 | 10.600 000 | 12.000 | 10.600 300 | 15.600 | 14.100
600 | 11.600 | 10,600 ,600 | 11,600 | 10,600 300 | 15.600 | 14,100
000 | 12.000 | 11.000 000 | 12.000 | 11.000 800 | 16.100 | 14.600
500 | 13.500 | 12,500 500 | 13.500 | 12,500 100 | 16.300 | 15,100
000 | 13.000 | 12,000 000 | 13.000 | 12,000 800 | 17.100 | 15.600
000 | 13.000 [ 12,000 ,000 | 13,000 | 12,000 100 | 17.300 | 15,900
000 | 13.000 | 12,000 000 | 13.000 | 12,000 300 | 17.600 | 16.100
.300 | 14,000 | 12,800 .300 | 14,000 | 12,800 .300 | 18.100 | 17.100
KRR (F+73) 5 ,600 | 11.600 | 10.600 ,600 | 11.600 | 10.600 600 400
600 | 11,600 | 10,600 ,600 | 11,600 | 10,600 100 900 | ——
300 | 14.000 | 12.800 300 | 14.000 | 12.800 .900
000 | 13.000 | 12,000 000 | 13.000 | 12,000 .900
.000 | 13.000 | 12.000 000 | 13.000 | 12,000
000 | 13.000 | 12,000 ,000 | 13,000 | 12,000
.000 | 12.000 | 11.000 000 | 12.000 | 11.000
000 | 12.000 | 11,000 ,000 | 12,000 | 11,000
.000 | 12.000 | 10.600 000 | 12.000 | 10.600
600 | 11,600 | 10,600 ,600 | 11,600 | 10,600
.700 | 12.200 | 10.600 700 | 12.200 | 10.600
100 | 14,000 | 12,600 100 | 14,000 | 12,600
.300 | 14.000 | 12.800 300 | 14.000 | 12.800
000 | 13.000 | 12,000 13,000 | 12,000
000 | 13.000 | 12.000 13.000 | 12.000
RE(HE) =Kk (BE#E) | RECHE) 600 | 14.100 | 13,600 14,100 | 13,600
.300 | 13.800 | 13.300 13.800 | 13.300
300 | 13.800 | 13,300 13.800 | 13,300
R (B8 5 700 | 11.200 | 10.700 11.200 | 10,700
.200 | 13.700 | 13,200 13.700 | 13,200
100 | 14.600 | 14.100 14.600 | 14.100
KR () L0 (& T 5R)| ABR (E) % 200 | 41,800 | 24,700 41,800 | 24.700 24
.200 |_41.800 | 16.000 41.800 | 16.000 8
,200 | 41,800 | 15,000 41,800 | 15.000 7
IR (BT FiR) % .200 [ 41.800 [ 20.900 41,800 | 20.900
,200 | 41,800 | 21,900 41,800 | 21,900
.200 | 41.800 | 36.700 41.800 | 36.700
FRCRE)=ME HR(PE) R ,000 | 17.000 | 15.000 17.000 | 15.000
.200 | 20.200 | 19.100 20.200 | 19.100
] ] 600 | 19.600 | 17.600 19.600 | 17.600
B B 200 | 20.200 | 18.600 20.200 |_18.600
HER B ] 200 | 20.200 | 19,100 20.200 | 19.100
B B 200 | 20.200 | 18.600 20.200 | 18.600
] ] 200 | 20.200 | 19,100 20.200 | 19.100
B B 200 | 20.200 | 18.400 20.200 |_18.400
RR CHE) =/ R (AE) 5 ] B 900 | 12.400 | 11,800 i 12400 | 11,800
B B 900 | 13.400 | 12.800 14.900 | 13.400 | 12.800
B B 400 | 12.900 | 12,300 14,400 | 12.900 | 12.300
B B 900 | 12.400 | 11.800 13.900 | 12.400 | 11.800
B B 900 | 12.400 | 11,800 13,900 | 12400 | 11.800
B B 900 | 12.400 | 11.800 13.900 | 12.400 | 11.800
INARE B 0 900 | 12.400 | 11,800 13,900 | 12400 | 11.800
B B 900 | 12.400 | 11.800 13.900 | 12.400 | 11.800
B B 900 | 12.400 | 11,800 13,900 | 12400 | 11.800
B B 900 | 12.800 | 11.800 14.900 | 12.800 | 11.800
B B 900 | 13.400 | 12,800 14,900 | 13.400 | 12.800
B B 400 | 12.900 | 12.300 14.400 | 12.900 | 12.300
RA CHE) =W R (AE) 5 B B 200 | 18.700 | 14,600 19,200 | 18.700 | 14,600 )
B B .200 | 18.700 | 15.100 19.200 | 18.700 | 15.100 19.200
] ] 200 | 18.700 | 16.300 19,200 | 18.700 | 16.300 19,200
B B .200 | 18.700 | 16.300 19.200 | 18.700 | 16.300 19.200
] ] 200 | 18.700 | 16.300 19,200 | 18.700 | 16.300 19,200
TEILFE B B .200 | 18.700 | 14.600 19.200 | 18.700 | 14.600 19.200
] ] 200 | 18.700 | 16.300 19,200 | 18.700 | 16.300 19,200
B B .200 | 18.700 | 16.300 19.200 | 18.700 | 16.300 19.200
] ] 200 | 18.700 | 16.300 19,200 | 18.700 | 16.300 19,200
B B .200 | 18.700 | 16.300 19.200 | 18.700 | 16.300 19.200
AR (FE)=LS R CHE) % B B 500 | 21.000 | 15.100 21,500 | 21,000 | 15.100 21,500
B B 1500 | 21,000 | 16,100 21,500 | 21,000 | 16,100 21,500
B B 500 | 21,000 | 20.600 21,500 | 21,000 | 20.600 21,500
B B 1500 | 21,000 | 20,100 21,500 | 21,000 | 20,100 21,500
B B 500 | 21,000 | 16.700 21,500 | 21,000 | 16.700 21,500
B B 1500 | 21,000 | 16,700 21,500 | 21,000 | 16,700 21,500
B B 500 | 21,000 | 19.400 21,500 | 21,000 | 19.400 21,500
B B 1500 | 21,000 | 20,100 21,500 | 21,000 | 20,100 21,500
3 B B 500 | 21,000 | 16.000 21,500 | 21,000 | 16.000 21,500
B B 1500 | 21,000 | 20,100 21,500 | 21,000 | 20,100 21,500
B B 500 | 21,000 | 17.300 21,500 | 21,000 | 17.300 21,500
B B 1500 | 21,000 | 17,300 21,500 | 21,000 | 17,300 21,500
B B 500 | 21,000 | 17.300 21,500 | 21,000 | 17.300 21,500
B B 1500 | 21,000 | 19,400 21,500 | 21,000 | 19,400 21,500
B B 500 | 21,000 | 20,000 21,500 | 21,000 | 20.000 21,500
B B 1500 | 21,000 | 20,000 21,500 | 21,000 | 20,000 21,500
R (PE)=RI& R (AE) 5 B B 7H 37.400 | 33.300 | 30.100 [ 37 33.300 | 30.100 37.400
B B 78 37,400 | 34,300 | 31,100 3 34,300 | 31,100 37,400
B B 7H 37.400 | 34.100 | 31.900 3 34.100 | 30.800 37.400
B B 78 37,400 | 34,100 | 31,900 3 34,100 | 30,800 37,400
B B 7H 37.400 | 34.100 | 30.800 3 34.100 | 30.800 37.400
B B 78 37,400 | 34,100 | 30,800 3 34,100 | 30,800 37,400
R B B 7H 37.400 | 34.100 | 30.800 3 34.100 | 30.800 37.400
B B 78 37,400 | 34,100 | 30,800 3 34,100 | 30,800 37,400
B B 7H 37.400 | 34.100 | 31.900 34.100 | 30.800 37.400
B B 78 37,400 | 34,100 | 30,800 34,100 | 30,800 37,400
B B 7H 37.400 | 34.100 | 30.800 34.100 | 30.800 37.400
B B 78 37,400 | 33,100 | 29,800 33,100 | 29,800 37,400
R (FE) =X R CHE) % B B 78 35,300 | 31.500 | 29.300 31,500 | 29.300 35.300
7 35,300 | 32100 | 29,300 32,100 | 29,300 35,300
7 35.300 | 32.100 | 29.300 32.100 | 30,000 35.300
7 35,300 | 31,500 | 29,300 31,500 | 30,000 35,300
7 35.300 | 31,500 | 29.300 31,500 | 30,000 35.300
7 35,300 | 31,500 | 29,300 31,500 | 29,300 35,300
7 35.300 | 31,500 | 29.300 31,500 | 29.300 35.300
7 35,300 | 31,500 | 29,300 31,500 | 29,300 35,300
AR 7 35,300 | 31.500 | 29.500 31,500 | 29.500 35.300
7 35,300 | 31,500 | 29,300 31,500 | 29,300 35,300
7 35.300 | 31,500 | 29.300 31,500 | 29.300 35.300
7 35,300 | 31,200 | 26,900 31,200 | 26,900 35,300
7 35.300 | 31,500 | 29.300 31,500 | 29.300 35.300
7 35,300 | 31,500 | 29,300 | 23. 35,300 | 31,500 | 29,300 35,300
7 35.300 | 32.100 | 29.300 35.300 | 32.100 | 29.300 35.300
7 35,300 | 31,500 | 29,300 35,300 | 31,500 | 29,300 35,300

JAL
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5 . 5 - 2721 772 73 728 |
- g [T RO R G O e e e T R R T S T S AT
FAFAR R | B | B | ERE | R | ERE | ERE | SR | R | aRa ERHE | ERE
R PR =FRGTFR)| RRCABEE [_JL501 38 300 | 29,500 | 24,600
[JL503 38 700 | 29,500 | 26,300
505 38 700 | 29500 | 27.500
[ JC507 38 700 | 30,800 | 27.500
509 38 700 | 30800 | 27,500
L511 38 700 | 30,800 | 28,500
L513 38 300 | 30800 | 28,500
L515 38 300 | 29,500 | 26,300
L517 38 300 | 29500 | 26,300
L519 38 300 | 29,500 | 26,300
21 38 300 | 29500 | 26,300
[ JL523 38 300 | 29,500 | 26,300
525 38 300 | 29500 | 26,300
[ 527 38 300 | 29,500 | 26,300
529 38 300 | 29500 | 26,300
[ JC531 38 300 | 29,500 | 26,300
LR (37 F8) 3 |_JL500 38 300 | 30,800 | 26,300
[ JL502 38 300 | 30,800 | 27,500
[JL504 36 300 | 30800 | 28,500
[ JL506 38 500
L508 38
5 38
L 38
38
L 38
38
[ JL520 38
[ Ji522 38
[ JL524 38
[ JL52%6 38
[ JL528 38
530 38
HR CRE) =18 HRCPE) % | JL303 38
[ JL305 38
[JL307 38
309 38
L311 38
3 38
L315 38
7 38
L319 38
21 38
[ JL323 38
[ JL325 38
[ JL327 38
[ JL320 38
[JL331 38
[JL333 38
L335 38
EEES [JL300 38
[ JL302 38
[JL304 38
[ JL306 38
[JL308 38
[JL310 38
312 38
L314 38
316 38
[JL3i8 38
[JL320 38
[ JL322 38
[JL324 38
[ JL326 38
[JL328 38
[JL330 38
332 38
(398) =R (FE) % | _JL281
[JL233
[ JL237
[JL239
241
LR | JL232
[ JL234
[JL236
240
242
HROCPB)=LEE HRCPE) % | JL263
[JL255
[ JL257
[JL259
[ JL261
[JL263
[ JL265
267
EB3% | J252
[JL254
[ JL256
[JL258
[ JL260
[JL262
[ JL264
266
RRCPAE)=LOFH | RRCAEF [ JL291
[JL203
[ JL295
297
woFasE | JL290
[JL202
[JL294
296
(PR =S CRE) % [ JL453 36
[ JL455 38
[ JL457 38
[ JL459 38
[ JL46t 38
[JL463 38
465 38
®BRE | Js2 38
[ JL454 38
[ JL456 38
[ JL458 38
[ JL460 38
[ JL462 38
464 38
R CRE)=#l RRCPE) S | JLas1 38
[JL433 38
[ JL435 38
[JL437 38
[JL439 38
443 38
PAIES | Jr43o0 38
[JL432 38
[JL434 38
[JL436 38
[JL43s 38
440 38
R CRHE)=Ri& RRCAE) % | JL605 38
[ JL607 38
[ JL609 38
611 38
613 38
615 38
FW% | _JL606 38
[ JL608 38
L610 38
612 38
614 38
616 38
RRCRH)=1ER RRCAE) &% | JL623 38
[ JL625 38
[JL627 38 ,300 | 32,100 5300 |
[ JL629 38 300 | 31500 300 300
[ JL631 38 .300 | 31,500 5,300 | 300
[JL633 38 300 | 31500 300 300
[JL637 38 .300 | 31,500 5,300 | 000
639 38 300 | 31500 300 000
EAR [ Jr622 38 300 | 31,500 5,300 | 500
[JL624 38 300 | 31500 300 300
[ JL626 38 .300 | 31,500 5,300 | 300
[ JL628 38 300 | 31500 300 000
[ JL630 38 ,300 | 31,500 5,300 | 000
632 38 300 | 31500 300 000
[ JC634 38 ,300 | 32,100 5,300 | 000
638 38 300 | 31500 | 300 | 000
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(3A1~5BEES)

=]

R (AE)=KR(F7)

R (RE) =Xk ()

RECAE)=HKE

RRPE)-LE

R (PE) =R

RRRE)R [ J

{70

KR (7 %

BERRE) R [ J

R (BT 5t |

Kb (BAE) %

I

g

ks

€

2

14.800
16,600

B:16.200

LR B R

ERRE) R [ J

<5

2

2

EEES

ERRE) R [ J

MRS

RREERE |

I

5

&

RREERE | J

[
|a§~

&

&

&

&

522900

B:14500

FHR
AHR

=DM
B3I

%

400
200, F1:13.400
00

o
152
106

0
00, H:10,600
00

11,000
11.300
B.13.100

12.700
B.12.700

B:14.400

B:14.400

H.18.900

H.11.800

F.11.800

B.12.000

512,000

5%

52%

B.13.000

43,

3g%

39%

12,000

112000

112000

17.300

£:18,300

7K:22.300

3g%

425

[JK:22.300

2%

39%

a1

K :22.300, ;20500

a3,

a1

2%

21600, B:19.400

125

2%

125

2%

a1

24

20500

#:21.100

:21,600

22%

9%
a9,
49%
a9,
9%
a9,
9%

24,700, H:25.900

a9,
495
6%

X K:23.700, H:28.300

B:31.900

6%
9%

X 7K:23.700, H:28.300
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EREAA . 2019/09/21 ~
Kl
= - T = - HUHTE - - T - 7:@470
E= 7 om 7 E— £ E=
BiE % " kel wam | EAH | i kel wAmm | FA| i kel
RRPE)=-AR (B [ RRPED R 49% [ #:13.800, £:12.600, B:11.400 12,800, £:11.600, H:10,400 8 [ 12000 | 57% [#:11.800, £:10,600, B:9.400 — — —
[ 415 [ 115900, 14,400, 12,600 14,400, 12,900, B:11,500 W1 [ 13000 | 53% [%12.900. £:12000. H:10600
[TJLi07 | #18 | 16900 | 9% [%:17.500, 15,800, 13,000 16,000, 14,300, B:11.500 FIH | 14,400 | 48% [2:15.100. £:13.400. H:11.000
B [ 16,700 | 395 | 15400, F:12.600 14,300, B:11.500 WIE [ 14700 | 47% [+ 13400, B:10,600
AIE | 16,700 | 39% 0, :12,600 AIE | 14700 | 47% |+:13.400, B:10,600
BB [ 16700 [ %% 00, 12,600 FIE [ 14700 | 47% [ 13,200, 10,600
AIE | 16400 | 418 |+:13,000, H:12,600 00, H:11.500 AUE | 14400 | 48% |+:11,000, H:10,600
[ BB [ 16400 [ 41 00, 12,600 00, B:11.500 WIE [ 14400 | 48% [F11.000, 10,600
[JLi2i | wiE | 16400 [ 41% 00, 12,600 00 FIH | 14,400 | 48% | %11.000. B:10.600
[Uiz5 [ @18 [ 16400 4i% 00, B:13,000 00 FIH | 14400 | 48% [ 10600, 11,000
[ui27 | miB | i7.200] 38% 00, :15,800 00 FIH | 14700 | _47% [%:15.200. £:11000. H13400
[UCia1 [ g8 [ 16700 39% 00, B:15.400 00 FIE [ 14700 | 47% [+10600, B:13.400
[ULias | giB | 16700 3o% 00, B:15.400 00 FH | 14700 | 47% | %1060, B:13.400
[UCie7 [ @18 [ 16700 39% 00, 12,600, HL15.400 00, B14.300 W1 [ 14700 | 475 [5K15.400. £:10,600. H13400
139 | gIE | 17.200| 38% 00, :17,900, E:13,100_ FI15.800 00, 11,600 H14.300 FIH | 14700 | 47% |/K15.400. %:15,600. £:11.000. H13400
KRG % [JL102 | #iE [ 16700 a9 00, 111,900 00 Wi [ 14700 | 475 [+:10,600. 59,900
[CJiioa | miB | 16700 3o% 00, 111,900 11,600, F1:10,900 FIH | 14700 | _47% | F:10,600. B:.900
[CJL106 | #18 [ 17,000 38 [F5:17,600, 14400, B-13,000 16,300, 12,900, 11500 W1 [ 14700 | 475 [A:15,500. £:12000. H10600
AIE | 16,700 | 39% |+:14,000, H:12,600 00 AUE | 14700 | 47% |+:12,000, B:10,600
BB [ 16700 [ a9 00 FIE [ 14700 | 47% [%12,000, 10,600
HIE | 16700 | 39% 00 AIE | 14700 | 47% |+:12,000, B:10,600
HiE [ 16400 [ a1 00 FIH | 14400 | 48% [+12,000, 510,600
[ §E [ 16400 [ ais 00 FH | 14400 | 48% |F11.000, B:10,600
[Li20 [ @18 [ 16400 a1% WIH [ 14400 | a8% [£H:10600
[ui2a | miB | 16400 4is 00 WE | 14400 | 48% [T H:10600
[JLi26 | @18 [ 16700 39% HH [ 14700 475 [£H:10600
[Jizs | miB | i7.000] 38% 11,500, B-14.300 FE | 14700 | _47% [+:11.100, H:13400
[JLi30 [ @18 [ 17.000] 38% 00 FIH | 14700 [ 47 [E11.100, B:13.400
[TJLio4 | WIB | 16700 | 39% [:12600, F:15.400 11,600, F1:14.300 FH | 14700 | 47% |F:10600, B:13.400
138 | BB [ 16700 | 39 [&:17,600, 12,600, H15,800 16,300, 11600, H14.300 B | 14700 [ 47% [%10600, B:13.400
RECRE) AW (B | RR(AE % | J221 | WB | 15600 43y N 14,400, B1:13.000 W | 13600 | 5% |£:13.900, B:12500 £12.400, B:11,000
[Ui225 [ @18 [ 15000 45% [H:14800 13,300 ¥iH [ 13300 | 524 [B:12800 ZE]
229 | §iE | 15300 | 455 416,400, £:15,100, H:16600 14,900, F-13,600, 15,100 WIE | 13300 | 52% |%:14,400. E:13,100, H14600 %:12.900, 111600, B.13.100
R (BAFE) 5 [ U220 | ATH [ 12700 [ 54% HiE | 10700 [ 61% |
[Ji224 | W8 | 15200 | 45% | 16200, £:15100 114700, £:13.600 WIE | 13200 | 52% |&E 14200 £13.100 FE12,700, 11,600
(226 | BiH [ 16,100 [ 425 216,400, +:14,300, H:16200 14,900, 12,800, B14.700 FIH [ 14100 | 49% [%:14.400. £:12,300, H14200 %:12,900, 10800, B12.700
IR (B % | L2501 | _#1H | 44500 3EHT | 36,700 | 25% |%%:30.900. F:20000 —
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o526 400 | 31,300 [729,500 | 26800 400 | 300 400 | 34.100 | 29800
[CuLs28 400 | 26,500 [29,500 | 25.400 400 | 800 400 | 29,500 | 27,500
[JL530 400 | 26,500 [729,500 | 25.400 400 | 800 400 | 29,500 | 27,500
[EiCTIE T FRIE) % |_JL303 500 | 31,300 [731,300 | 27800 500 | 500 | 31,100 | 26,800
[JL305 500 | 31,300 [731,300 | 27800 500 | 500 | 31,300 | 27,800
[CuLso7 500 | 32,100 [732,100 | 28,300 500 | 500 | 32,100 | 27,800
[JL309 500 | 32,100 [732,100 | 28,300 500 | 500 | 32,100 | 28,900
[t 500 | 32,100 [732,100 | 28,300 500 | 500 | 32,100 | 28,900
[uLsis 500 | 32,100 [732,100 | 28,300 500 | 500 | 32,100 | 28,900
[uLsis 500 | 32,100 [732,100 | 27.800 500 | 500 | 32,100 | 27,800
[oLsi7 500 | 31,300 [ 731,300 | 28,300 500 | ¢ 500 | 31,300 | 27,800
[owsie | me | w8 | [ 38500 | 1,300 00 | 27.800 [ 38500 ] 500 | 31,300 | 27,800
[CoLazt 500 | 31,300 [731,300 | 26800 500 | 500 | 31,300 | 27,800
[uLazs 500 | 31,300 [731,300 | 26800 500 | 500 | 31,300 | 27,800
[uLazs 500 | 31,300 [731,300 | 26800 500 | ¢ 500 | 31,300 | 27,800
[uLaz7 500 | 32,100 [731,100 | 26800 500 | 500 | 31,300 | 27,800
[uLaze 500 | 32,200 [31,100 | 26800 500 | 500 | 31,300 | 27,800
[CoLsat 500 | 32,200 [730,000 | 25,600 500 | 500 | 31,300 | 27,800
[uLass 500 | 32.800 [730,000 | 25,600 500 | 500 | 32,800 | 30,800
335 500 | 32,700 [730,000 | 25,600 500 | 500 | 31,300 | 27,600
BERE | _JL300 500 | 31,300 [731,300 | 27.800 500 | 500 | 31,300 | 27,800
[uLs0z 500 | 31,300 [731,300 | 27.800 500 | ¢ 500 | 31,300 | 28,400
[uLs0a 500 | 31,300 [ 800 500 | x 500 | 31,300 | 28,400
[JL306 500 | 31,300 [ 800 500 | 31,300 | 27,800 500 | 31,300 | 28,400
[JLa0s 500 | 31,300 [ 800 500 | 31,300 | 27,800 500 | 31,300 | 27,800
[uLsio 500 | 31,300 [ 800 500 | 31,300 | 27,800 500 | 31,300 | 27,800
[uLsiz 500 | 31,300 [ 31,300 | 27.800 500 | 31,300 | 27,800 500 | 31,300 | 27,800
[JLsia 500 | 31,300 [ 731,300 | 27.800 500 | 31,300 | 27.800 500 | 31,300 | 27,800
[JLaie 500 | 31,300 [731,300 | 27800 500 | 31,300 | 27,600 500 | 31,300 | 28,300
[JLais 500 | 31,300 [31.300 | 27.800 500 | 31,300 | 27,600 500 | 31,300 | 28,300
[CJLazo 500 | 32,100 [ 732,100 | 27.800 500 | 32,100 | 27.600 500 | 32,100 | 28.300
[CuLazz 500 | 32,100 [ 732,100 | 27.800 500 | 32,100 | 27.600 500 | 32,300 | 30,300
[CJLa2a 500 | 32,300 [ 732,100 | 27.800 500 | 32,100 | 27.600 500 | 32,100 | 27.800
[JLaze 500 | 32,300 [ 732,100 | 27.800 500 | 32,100 | 27.600 500 | 32,100 | 27800
[JLaze 500 | 33,800 [ 732,100 | 27.800 500 | 32,100 | 27.600 500 | 32,100 | 28,300
[JLaa0 500 | 31,300 [ 500 | 31,300 | 27.600 500 | 31,300 | 28,300
[JLasz 500 | 30,000 [ 500 | 31,100 | 26,800 500 | 30000 | 27,300
TR CRE) @ TERE & |_JL231 600 | 18,700 [ 600 | 1 600 | 16,700 | 14,600
[Jr2as 000 | 19,500 [ 000 | 1 000 | 19,500 | 15,100
[CJr2ar 000 | 19,500 000 | 19,500 | 16.300
[Jr23s 000 | 19,500 000 | 19,500 | 16.300
241 000 | 19,500 000 | 19,500 | 16.300
@l | J232 600 | 18,700 600 | 16700 | 14,600
[Jr2aa 000 | 19,500 000 | 19,500 | 16.300
[Jr236 000 | 19,500 000 | 19,500 | 16.300
240 000 | 19,500 000 | 19,500 | 16.300
[Jr2az 000 | 19,500 000 | 19,500 | 16.300
FEE) 55 WERE % | _JL253 500 | 21,000 500 | 21,000 | 15,100
255 500 | 22,000 500 | 22,000 | 16,100
o257 500 | 22,000 500 | 22,000 | 17,300
250 500 | 22,000 500 | 22,000 | 17,300
[or261 500 | 21,500 500 | 21,500 | 16,00
[Jr263 500 | 21,500 500 | 21,500 | 16,00
[Jr265 500 | 21,500 500 | 22,000 | 19.400
267 500 | 22,000 500 | 22,000 | 20,100
GER | 252 500 | 21,000 500 | 21,000 | 16,000
[or2sa 500 | 22,000 500 | 21,500 | 16,000
(o256 500 | 21,500 500 | 21,500 | 19.400
[Jr2se 500 | 21,500 500 | 21,500 | 16,800
[JL260 500 | 21,500 500 | 21,500 | 17,300
[CJr262 500 | 21,500 500 | 21,500 | 19.400
[Jr26a 500 | 21,500 500 | 21,500 | 19.400
[JL266 — | 22500 | 22,000 [22500 | 21,500 | 19.400
TR CAE) -WOFH | RECAE % | _JL291 B8] | 29,000 28,000 000 | 26,000 | 28,000 | 20,500
[Ji203 81 | 29,000 28,000 700 | 26,000 | 28,000 | 24,600
[JL205 81 | 29,000 28,000 500 | 20,000 | 28,000 | 25,800
297 81 | 29,000 28,000 500 | 20,000 | 28,000 | 25,800
WOFHE | _J200 81 | 29,000 28,000 500 | 20,000 | 28,000 | 23,000
[Ji202 81 | 29,000 28,000 500 | 20,000 | 28,000 | 23,000
[Ji204 81 | 29,000 28,000 100 | 29,000 | 28,000 | 26.600
[JL296 [ 7B | 29,000 | 28,000 100 | 29,000 | 28,000 | 27.100
[EEEEY WRECRE % |_JL661 3EE] | 7EA] | 36600 31,600 700 | 36.600 | 31,600 | 29,800
[JLe63 3E#] | 7EA] | 36600 32200 800 | 36,600 | 32,200 | 29,800
[JLe65 3E#] | 7EA] | 36600 32200 800 | 36,600 | 32,200 | 29,800
[JLe67 3E#] | 7EA] | 36600 32200 800 | 36,600 | 32,200 | 29,000
[JLe69 3E#] | 7EA] | 36600 32200 800 | 36.600 | 32,200 | 29,000
671 3EH] | 7EA] | 36600 32100 800 | 36,600 | 31,600 | 28,800
xH% [ JL66z 3E4] | 7EA] | 36600 31,600 200 | 36,600 | 31,600 | 28,800
[JLe6s 3E4] | 7EA] | 36600 31,600 200 | 36,600 | 31,600 | 28,800
[JLees 3E4] | 7E4] | 36600 31,600 000 | 36.600 | 32,200 | 29,000
[JL670 3EH] | 7E4] | 36600 31,600 000 | 36,600 | 32,200 | 29,000
672 3E#] | 7EA] | 36600 32200 800 | 36,600 | 31,600 | 29,800
[Ji674 3E#] | 7EA] | 36600 32700 800 | 36,600 | 31,600 | 29,800
[SEEET) WRECRE) 5 |_JL60s 3EH] | 7EE] | 41200 35500 600 | 41200 | 36,700 | 32,000
[JLeo7 SEE] | TEE] | 41.200] 36,700 800 | 41200 | 36,700 | 32,000
[JL609 300 400 | 41200 | 36,700 | 32.000
(o6 300 400 | 41200 | 36,700 | 32.000
[E 700 800 | 41200 | 36,300 | 31,900
615 700 800 | 41200 | 36,300 | 31.900
EmRE | _JL606 900 000 | 41200 | 36,700 | 32.000
[JLe0s 900 000 | 41200 | 36,700 | 32.000
610 300 400 | 41200 | 36,300 | 31,900
iz 700 800 | 41200 | 35900 | 31.900
(614 700 800 | 41200 | 35900 | 31.900
[JL616 700 800 | 41200 | 34,600 | 31,500
W HE) TR (RE) 5 | _JL623 000 600 | 38,800 | 33,200 | 29.900
o625 ,100 600 | 38,800 | 32,100 | 29,300
(o627 100 800 | 38800 | 32,100 | 29,300
[JL629 200 800 | 38,800 | 33,200 | 29.900
[Jeat 200 800 | 33,200 | 20900
[Jess 500 800 | 31,500 | 29,300
[Jear 500 00 | 38,800 | 31,600 0
639 200 400 800 | 38,800 | 32,800 400
FeAR | U622 000 800 600 | 38,800 | 33,200 00
[CJe2a 200 800 800 | 38,800 | 33,200 00
o626 500 800 800 | 38,800 | 31,500 | 29,300 | 28,800
[JLezs 500 800 800 | 38,800 | 31,200 800
[JL630 200 800 800 | 38,800 | 33,200 00
[Jeaz 200 200 800 | 38800 | 32,100 00
[CJeaa 100 200 800 | 38800 | 32,100 00
[JL638 ,300 200 800 800 ,300 00
Wx A -BE | JRCRE)E | Jiee7 | wiH | Al 400 .800 | 000 |38.400 | 33,200 3,800 |
[JLess 400 800 000 | 38.400 | 33,200 00
[CJLeot 800 800 400 | 38.400 | 33,200 00
693 800 400 400 | 38.400 | 32,800 00
o695 200 600 800 | 38400 | 32,000 600
697 200 000 800 | 38.400 | 32,400 00
EBRE | _JL6ss 200 800 800 | 38.400 | 33,200 00
[JL6%0 400 800 000 | 38400 | 33,200 800
6oz 400 400 000 | 38,400 | 32,600 | 29,500 | 28.400
[JLeoa 800 400 400 | 38.400 | 32,800 00
[JL696 800 400 400 | 38,400 | 83,100 | 30,500 | 30.400
[JLe9s 200 700 800 | 38,400 | 83,100 | 30,500 | 30.400
HRCRE) § 300 ),700 | 70( 500 700 ),700 |
300 500 500 | 85,700 | 31,600 | 31,500
700 500 500 | 85,700 | 31,600 | 31,500
700 700 500 | 35,700 00
700 700 500 | 35,700 00
[ 700 700 500 | 35,700 700
o658 700 700 500 | 35,700 00
655 800 700 500 | 32,800 00
BRER 300 700 500 | 35,700 700
800 700 500 | 32,800 700
700 700 500 | 35,700 00
700 700 500 | 35,700 00
[ 700 700 500 | 35,700 00
[ JLes0 700 500 500 | 35,700 00
[JLe52 800 [ 31, 500 500 | 33,800 00
654 700 | 30,800 ] 700 500 | 35,000 | 32,000 | 31.000
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=40} B4 TEHM7E
h | Eaa
AR
RECRE) =R (HF&)| HmCRE)F |_JL593 B 19,200
JL501 19.200
JL503 19,200
JL505 20,900 200, B:19.
JL507 23,800 26,100, £:27.300, H:19.600
JL509 23.300
JL511 23,100
JL513 20.700
JL515 19,900
JL517 18.400
JL519 18400 | 51% 600
JL521 20.700 | 45% .900. £:20.900
JL523 20700 | 45% .00, £:20.900
JL525 20.700 | 45%
JL527 21,900 | 42%
JL529 20.700 | 45%
JL531 20000 | 47%
ALAR (BT F %) & |_JL500 21,700 42%
JL502 23.300 | 38%
JL504 300 | 38%
JL504 700 | 39%
JL506 600 | 42%
JL508 400 1%
JL510 400 1
JL512 900 7%
JL514 500 3
JL516 100 1%
JL518 400 |40
JL520 400 | 40%
JL522 400 | 40%
JL524 20700 | 45%
JL526 20.700 | 45%
JL528 20700 | 45%
JL530 18400 | 51%
FRCRE) = (BH) | FRCAE)E |_JL01 14,800 68%
JL903 25600 | 44%
JL905 25600 | 44%
JL907 25600 | 4%
JL909 23700 | 48%
JL913 700 | 48%
JL915 500 | 64% ]
JL917 .000 | 65% 1400
JL919 000 | 78% 500, +:15.100
JL921 9.500 79% 000, £:14.600
JL923 B 16.000 | 65% .+ H:17.400
JL925 12.000 | 74% :27.200. £ H:17.400
SRR RE) % [_JLe0 15500 | 66%
JL902 15500 | 66%
JL904 14000 | 69%
JL906 000 | 67%
JL908 .800 | 66%
JL910 700 | 59%
JL912 .800 | 59% |
JL914 .800 | 59% . .
JL916 20900 | 54% |H:24.600, £:25100. 1:22.400, H:26.300
JL918 .300 | 58% | H:22.900. +:22.300. H:25.400
JL920 .800 | 66% £:19.300.
JL922 800 | 68% [ :17.400, B:23.700
KR (FFD=HLIR (FF8)| KRR (FFD % [_JL2001 900 | 51% |%:26.600. +:27.100, H:17.600
JL2005 900 | 51% |%+:25800. H:19.000
JL2009 100 | 76% |+ H:12500
JL2019 .000 | _68%
FLBR (BT %) % |_JL2000 600 | 60%
JL2006 100 | 74%
JL2010 100 | 48%
JL2016 100 | 48%
KB (BAEE) =#LIR (3 FiR)| KB (BEFE) F | JL2501 200 69%
JL2503 10700 | _77%
JL2505 11100 | 76% 49700, £ H:12.500
FLAR (B F i) & |_JL2502 .200 76% :10.100. :10,900. H:10.400
JL2504 600 | 77% :
JL2506 400 | 49% |B 24,100, £:22.600. B:21.500
KR (=08 (BH) | ARFFHF [ JL2osi 300 | 37% :21.500
JL2087 10800 | 72% :11,500
SRR (RE) 5 | JL208a 0800 | 72% |H:9.600, AH:11.500
JL2088 19,300 | 50%
A= (FFR) [EES JL3513 20100 | 65%
JL3515 18900 | 67%
ALIE (7 F#%) % [_JL3510 13.900 | 76%
JL3512 15100 | 74%
R (CHE) =& 5] R CAE) 5 |_JL565 4400 | 69%
JL567 15900 | 66%
JL569 6700 | 64%
S EES JL562 15,200 67%
JL564 5200 | 67%
JL566 12300 | 73%
R (HE) =) R CAE) % |_JL551 4600 | 67%
JL553 14800 | 67%
JL555 6.000 | 64%
JL557 16700 | 62%
JIIES JL552 7200 | 61% |+:17.400
JL554 14300 | 68% 14,500, £:14.600,
JL556 13.200 | 70% |%:14.100, £:12.300.
JL558 13200 | 70% 14,100, £:12,300,
R (PE)=R& HRCHE) % [ _JL605 20400 | 53% 20.000. £:21.000,
JL607 22400 | 49% |:22,200, £:24.80 .
JL609 20500 | 53% |H:20.300, £:23000. £:23.600, H:21.400
JL611 20500 | 53% |9:20,300, £:23,000. £:23,600, H:21.400
JL613 9600 | 55% .
JL615 19600 | 55%
R JL606 9,700 55%
JL608 21,600 | 50%
JL610 20500 | 53%
JL612 24000 | 45%
JL614 24000 | 45%
JL616 20500 | 53%
KIR (f59) =B KR (FFH % | J12123 26000 | _40%
BT JL2124 7,000 | 38%
[ & B (PER)=4L0R (37 F % & & B (P#R) %[ _JL3103 8.600 | 56%
JL3105 7600 | 58%
JL3107 2600 | 70% .90, H:15.400
JL3117 9,600 77% 13,900, H:14.200, %:12.200
ALIE (3 F#%) % [_JL3100 12400 | 70% 300, B:12.500
JL3106 4500 | 65% 000, :15.100
JL3114 8200 | 57% 1,700, % £:22.000. H:24.200
JL3118 7200 | 59% 19,900, +:20,600. H:20.700
ALIE FHTF &) =B as JL2901 200 | 68% 10400
JL2903 100 | 59% 4,400, B:12.700
JL2905 900 | 63% |H:11.500. F:12.100, B:11.700
JL2907 500 | 58% 6.200. 00, 00
JL2909 500 | 61% |%:15.200. N 00
FLIE (F T #%) % [_JL2000 9,700 70% 500. £:9.000. £:9.200. H:9.900
JL2902 10200 | 68% 10.400
JL2904 200 | 68% 10400
JL2906 400 4.900, £:10.600. B:
JL2910 1400 114,900, £:10,600, B:12.
AR FHTFR) =B L&% JL3403 200 :18.200, +:20.500. H:19.400
FLOR (37 F58) 3| JL3406 ,200 1 H:19.400

JAL
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T1/10-20
=40} B4 BREMTE
The mREm
AR
HR (FE) =4I (T Fi%)| RRCRE) % [_JL593 B 19,200
JL501 19.200
JL503 19,200
JL505 20,900
JL507 23,300
JL509 23,300
JL511 23,100
JL513 20.700
JL515 19,900
JL517 18.400
JL519 18.400
JL521 20.700
JL523 20,700
JL525 20.700
JL527 21,900
JL529 20.700
JL531 20,000
ALIR G F i) $|_JL500 21.700
JL502 23300 | 38% :25,800
JL504 300 | 38% :25.800
JL504 700 | 39% :25,800
JL506 600 | 42% :25.800
JL508 400 1% :25,800
JL510 .400 :25.800
JL512 .900 25,800, H:25.900
JL514 500 25800,
JL516 100
JL518 400
JL520 400
JL522 400
JL524 20,700
JL526 20.700
JL528 20,700
JL530 18.400
KR (BAEE) =ALIR (3 Fi%)| ABR (BEE) & | JL2501 18.500 1,700, H:16.600
JL2503 10.700 2500
JL2505 9,700 0,500, H:12.500
ALIR G %) ¢ |_JL2502 100
JL2504 400
JL2506 100 £:22.600. H:27.100
RR ()= RRCHE) [ JL51 .600 17700, +:16.500, H:14.800
JL553 800 800, +:18.400. H:15.600
JL555 900 17,800, £:15.200
JL557 16.700 :17.800
JIIIES JL552 B 17.200
JL554 14300 115,000, +:15.100. H:16.500
JL556 13.200 114,600, A:14.400. %:15,500, £:13.600. H:16.300
JL558 200 112500, £:15.500. £:13.600. H:16.300
RE(FE) =K% TR CRIE) % |_JL661 800 9700
JL663 500 100, H:21.400
JL665 500 3:21.400
JL667 700 23.400. H:25.500
JL669 200 .800.
JL671 20,900 200, £:20.200. H:23.500
K55 JL662 800
JL664 100 :21.800
JL668 200 00. % H:22.800, +:23.300
JL670 200 ,300. % H:22.800, +:23.300
JL672 .900 00, B:
JL674 400 200,
R (PE) =R R CHE) % [ _JL605 20,400 .000
JL607 22.400 200,
JL609 20,500 0
JL611 20.500 0
JL613 19.600 60!
JL615 19.600 .60
RIER JL606 19.700 00. H:20.200
JL608 21,600 60
JL610 20400 | 53% 00, £:22.000, H:23.100
JL612 24000 | 45% .100. H:25.100
JL614 24000 | 45% 100
JL616 20500 | 53% 00
ALIE FTF &) =B as JL2901 10200 | 68% §:10.400
JL2903 | 2 14600 | 54% 13,800, 13,100, £:16,000, H:13,300
JL2905 | 2 11700 | 63%
JL2907 | 2 13500 | 58% 113,300, B:15,000
JL2909 | 2 12500 | 61% :12.300, B:14.000
ALOR (3 F#%) | _JL2900 | 2 9,300 1%
JL2902 | 2 10200 | 68%
JL2904 | 2 10200 | 68%
JL2906 | 2 11.400 116,500, £:13.600. H:15.500
JL2910 | 2 11,400 %:16,500, £:13,600, H:15,500
AR FHTFR) =R LB% JL3403 | 2 19.100 X A:19.000. + H:20.400
FLOR (BT F58) 3 [ JL3406 | 2 18,200 1 H:19.400
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T1/21-30
=40} B4 e FHEMTE
FH e ERE
AR
HR (FE) =4I (T Fi%)| RRCRE) % [_JL593 B 19,200
JL501 19.200
JL503 19,200
JL505 20,900
JL507 23,300
JL509 23,300
JL511 23,100
JL513 20.700
JL515 19,900
JL517 18.400
JL519 18.400
JL521 20.700
JL523 20,700
JL525 20.700
JL527 21,900 20,600, 700
JL529 20.700 26,100, £:20.600, H:22.100
JL531 20,000 20
ALIR G F i) $|_JL500 21.700
JL502 23,300
JL504 300
JL504 700
JL506 600
JL508 400
JL510 400
JL512 900
JL514 500
JL516 100 :
JL518 400 |40 E
JL520 400 | 40% |&
JL522 400 | 40% |&
JL524 20700 | 45% |&f
JL526 20700 | 45% |&
JL528 20700 | 45% |&F
JL530 18400 | 51% |[£H:22.100
KR (BAEE) =ALIR (3 Fi%)| ABR (BEE) & | JL2501 18.500 60% [£:21.700, +:21.800. H:16.600
JL2503 10100 | 78% |A%£:10.700. £:13.200. H:12.500
JL2505 9.700 79% |%:10.700. %:11.200. H:12.500
ALIR (B F i) % |_JL2502 .100 78% [ KIKK:9.700
JL2504 400 | 78% |H:12.100
JL2506 100 | 48% | koK:23400. £:22.600. H:27.100
R CRE) =R HR(PE)H [ JL551 .600 67% |#+:16.000. H:14,000
JL553 800 | 67% |£:17.800. +:19.300
JL555 900 | 64% |7 17,100, 16,200, H:17.800
JL557 16700 | 62 £ H:17.800
JIIIES JL552 B 17200 | 61%
JL554 14.300 | 68" :14.800. H:16.500
JL556 13.200 | 70% 115,000, +:14.100. H:16.300
JL558 13200 | 70% 300, B:16.300
R (FE) =8I HRCHE) % [ _JL541 13200 | 70% |£:12.900. +:18.200. H:12.500
JL543 18.400 | 58% |A%:19.400. £:22.500. H:17.700
JL545 15500 | 64% |%:17.400, £:15300, H:17.600
S JL540 17.600 60% [£:18.300. 1:18.700. H:16.700
JL542 16800 | 61% |2 118,300, H:17.700
JL544 13.000 | 70% |A:13.700. %:14.400. £:15.300. H:15.800
R (HE) =M R CRIE) % | JL183 11300 | 54% |/KA:9.700, £:12.200. + H:9.800
JL185 13.200 | _46% |A:12.600. + H:9.800
JL187 9.700 61% |+:10300, H:9.800
JL189 9.700 61% |+ H:9.800
JL191 9,700 61% | H:9.800
JL193 10200 | 59% |£:12.800. f H:9.800
INEFE JL182 10200 | 59% [/KA:11,300. £:12.100. T H:9.800
JL184 9.700 61% |7k:11.300
JL186 11300 | 54% |X:10.200. %:12.100, £ H:9.800
JL188 11300 | 54% |:10.200. %:12.100. £ H:9.800
JL190 12500 | 49% 9.800
JL192 12500 | 49% |/KA:9.700. %:12.800. £ H:9.800
R (PE) =R R CHE) % [_JL605 20000 | 54% |A#:20.400
JL607 22400 | 49% [%:24.700. 1
JL609 20600 | 53% |£:23.000. &
JL611 20600 | 53% |£:23.000. &
JL613 19700 | 55% |£:24.700.
JL615 19700 | 55% |£:24.700.
AR JL606 19600 | 55% |A:19.700. 4
JL608 | 2 21500 | 51% |A:21,600, %
JL610 | 2 20600 | 53% |X:21.300. %
JL612 | 2 600 | 44% | kK:23.600.
JL614 | 2 600 | 42% | kK:23.600. %:
JL616 | 2 100 | 52% |H:21,200, £:23,
ALIE (FTF &) =ME as JL2901 | 2 200 | 68% §:10.400
JL2903 | 2 13,800 | 57% K:13,100. £:14,400, H:12,800
JL2905 | 2 12700 | 60% H:12.900
JL2907 | 2 13500 | 58% 6,200, £:13,600. B:
JL2909 | 2 12500 | 61% 5.200, £:12.600. B:
FLAR (B F %) 56| _JL2900 | 2 8,600 73% 9,300, £ H:9,000
JL2902 | 2 10200 | 68% 10.400
JL2904 | 2 10200 | 68% |+ H:10,400
JL2906 | 2 11.400 #:14.700, £:10.600. B:
JL2910 | 2 11,400 114,700, £:10,600, B:
AR FHTFR) =B LB% JL3403 | 2 19.000 3 :19.200. & H:20.500
FLOR (B Fa8) 3[ J13406 | 218 18,200 1 H:19.400




MEEZIS21 1 EER(12A1~58BFED)

EREAE 2019/09/21 ~
12/1-5
=40} B2 BREMTE
rn s
AR "
RECRE) =R (HF&)| HmCRE)F |_JL593 B 100
JL501 00
JL503 00
JL505 700, H:25.000
JL507 L .900. H:25.000
JL509 26000 | 35% |A:21.900, H:25.000
JL511 25000 | 37% |A:21,700
JL513 600 | 38% |A:19.800
JL515 000 | 45% |A:19.200
JL517 800 | 45% |A:17.500
JL519 800 | 45% |A:17.500
JL521 20800 | 48% [A:19.600
JL523 20800 | 48% |:19,600
JL525 20600 | 48% |A:19.800. H:20.900
JL527 20700 | 48% |H:21.300
JL529 20.600 | 48% [/:20.300. H:20.900
JL531 20600 | 48% |:18,800, H:20.900
ALAR (BT F %) & |_JL500 20.600 48% | A:20.700. H:17.500
JL502 21900 | 45% |H:18.700
JL504 21,900 | 45% 700
JL504 21300 | 47% 800
JL506 20400 | 49% |H:19.800
JL508 17500 | 56% | H:20.300
JL510 17500 | 56% |H:21.300
JL512 18700 | 53% |H:22,500
JL514 20.300 | 49% |H:22.500
JL516 20900 | 48% |A:21,100, H:22.500
JL518 .100 7 :23.000
JL520 100 7% :23,000
JL522 .100 7 :23.000
JL524 .600 1 :21.900
JL526 600 1 21.900
JL528 600 1%
JL530 500 | 56% |A:
FRCRE)=k#5 HR(PE)F |_JL565 6.600 66% | K:
JL567 7500 | 64% |A
JL569 8100 | 63% [A:
BT JL562 7300 | 64% |A:
JL564 7300 | 64% |A:
JL566 4000 | 71% A&
FR CRE) =Rl HR(PE)H [ JL551 4.600 69% | K:
JL553 7700 | 62% |A:
JL555 7100 | 63% [A:
JL557 17500 | 62% |A
JCITIES JL552 B 16500 | 65% |A:
JL554 15.900 | 66% |A:
JL556 14700 | 68% |A:
JL558 14700 | 68% |A:
RE (PA)=HIE RRCAE) % |_JL578 13900 | 69% |A:
JL575 14900 | 67% A
JL577 14900 | 67% |A:
JL579 14100 | 69% |A
B JL570 15300 | 66% |A:14.000, H:15.501
JL572 14100 | 69% |A:13.900. H:16.10
JL574 14100 | 69% |A:13.900. H:16.101
JL576 13700 | 7 :16.700
RR CHE) =/ HRCHE) % [ _JLis3 9,700 64% | H:0.800
JL185 13.200 :13.600. H:9.800
JL187 9.700 3 0.300
JL189 9.700 4 800
JL191 9,700 4% 800
JL193 10200 | 62 800
IVEFE JL182 10200 | 62% 800
JL184 9.700 64
JL186 10200 | 62% |H:9.800
JL188 10200 | 62 :9.800
JL190 12500 | 54% |/K:12.700. H:9.800
JL192 9.700 64 :9.800
R (PE) =R RR CAE) % |_JL605 22600 | 51% [A:17.300
JL607 600 | 49% |A:19.500. H:24.600
JL609 600 | 49% 00
JL611 600 | 49%
JL613 600 | 49% . H:25.800
JL615 | 2 23600 | 49% B:25.800
AR JL606 | 2 9400 | 58% B:19.900
JL608 | 2 18,600 | 60%
JL610 | 2 9400 | 58% . H:20.400
Ji6i2 | 2 20900 | 55%
JL614 | 2 20900 | 55% 1,900
JL616 | 2 17.800 | 61% 7,900, H:19,800
ALIE (FTF &) =B T3 JL2901 | 2 0200 | 70% .
JL2903 | 2 15300 | 56% 17,800, 7K:18,500, H:15.800
JL2905 | 2 14600 | 58% 4900
JL2907 | 2 13400 | 61% |H:14,500
JL2909 | 2 12.400 | 64% 3,500
ALIR (37 F %) 5| _JL2000 | 2 8600 | 75% |H:8,800
JL2902 | 2 10200 | 70% |H:10.400
JL2904 | 2 10200 | 70% 400
JL2906 | 2 15.100 | 56% |:13.800. H:15.000
JL2910 | 2 15100 | 56% |A:13,800. H:15,000
AR FHTFR) =R LB% JL3403 | 2 18.300 | 66% |H:19.500
FLOR (BT F58) 3 [ JL3406 | 2 18,300 66% 500

JAL



MEEEISI21 EEXR(12A6~12BEED)

EREAE 2019/09/21 ~
12/6-12
=40} B4 BREMTE
1o mmm [S00 i
AR EIEES
HR (FE) =4I (T Fi%)| RRCRE) % [_JL593 Z] 21,800 45% | :18,100, £:19,400
JL501 21,800
JL503 21,800
JL505 26,000 700, H:25.000
JL507 26,000 28,600, H:25.000
JL509 26,000
JL511 25,000
JL513 600
JL515 ,000
JL517 800
JL519 800
JL521 20,800
JL523 20,800
JL525 20,600
JL527 20,700
JL529 20.600
JL531 20,600 00, H:20.900
ALAR (BT F %) & |_JL500 20.600 .400. H:17.500
JL502 21,900 700
JL504 21,900 700
JL504 21,300 3:19.800
JL506 20.400
JL508 17,500
JL510 17.500 :
JL512 18,700 X
JL514 20.300 X:
JL516 20,900 :
JL518 .100 7 3
JL520 100 PE
JL522 .100 7 3
JL524 .600 1 R
JL526 600 1 3
JL528 600 e
JL530 500 | 56% |&
FRCRE)=k#5 HR(PE)F |_JL565 6.600 66% | K:
JL567 7500 | 64% |A:
JL569 8100 | 63% [A:
BT JL562 300 | 66% |4
JL564 300 | 66% |4
JL566 000 | 71% |4 .
R CRE) =R HR(PE)H [ JL551 .600 69% |4 :15.700
JL553 6.900 | 64% |4 8.300, H:17.900
JL555 7100 | 63% |4 5,800, H:17.400
JL557 17500 | 62% |A:
JIIIES JL552 B 16500 | 65% |4
JL554 15100 | 68% |A: 14.800, H:16.900
JL556 13.700 | 71% [k 113,000, £:13.300. H:16.500
JL558 13700 | 71% |k: 13.000, +:13.300. H:16.500
RE (PA)=HIE RRCAE) % |_JL578 13900 | 69% |A: }
JL575 14900 | 67% |A: 5.800. H:15.600
JL577 14900 | 67% |&: 5700, H:15.600
JL579 14100 | 69% |A3 00
B JL570 15300 | 66% |4 700, H:15500
JL572 14100 | 69% |4 :15.400
JL574 14100 | 69% A&
JL576 13700 | 70% A
R (PE) =R R CAE) % |_JL605 22600 | 51% [#
JL607 600 | 49% [
JL609 600 | 49%
JL611 600 | 49%
JL613 600 | 49%
JL615 600 | 49%
RIER JL606 400 | 58% |
JL608 18.600 | 60%
JL610 19.400 | 58% 119500, H:20.400
JL612 20900 | 55% . :
JL614 20900 | 55% .800. H:21.900
JL616 7.800 | 61% 1900, %:20.400. £:17.300. H:19.800
ALIE (FTF &) =LA [T JL2901 200 | 70% H:10.400
JL2903 500 | 46% 15.300, £:13.100. £:19.100. H:15.800
JL2905 600 | 58% B:14.900
JL2907 400 | 61% [%:16.200. £:13.600. H:14.500
JL2909 400 | 64% |%:15.200, +:12.600. 500
ALOR (3 F#%) | _JL2900 | 2 8,600 75% 8,800
JL2902 | 2 10200 | 70% 10.400
JL2904 | 2 10200 | 70% 10,400
JL2906 | 2 15900 | 54% |k:13.800. %:14.700, £:10.600. H:18.100
JL2910 | 2 15900 | 54% |A:13,800. %:14,700, £:10,600, H:18.,100
AR FHTFR) =B LB% JL3403 | 2 18.300 | 66% :19.500
FLOR (B F58) 3 [ JL3406 | 2 18,300 66% :19,500

JAL



MEEZI5I21 1 EEXR(12R13~26 BB RS)

EREAE 2019/09/21 ~
12/13-26
=40} B2 BREMTE
rn s
AR "
HR (FE) =4I (T Fi%)| RRCRE) % [_JL593 B
JL501
JL503
JL505 :25.000
JL507 :27.800. 128,600, H:25.000
JL509
JL511
JL513
JL515
JL517
JL519
JL521 :
JL523 X [&:20.
JL525 20,600 :24.700, H:20.900
JL527 20,700 [£:26.100. £:20,600. H:21,300
JL529 20.600 [£:26.100. H:20.900
JL531 20,600 2:24,700, H:20.900
ALAR (BT F %) & |_JL500 20.600 .400. H:17.500
JL502 21,900 700
JL504 21,900 700
JL504 21,300 3:19.800
JL506 20.400
JL508 17,500 :20,100. 120,400, H:20,300
JL510 17.500 £:20.100, +:19.900. H:21.300
JL512 18,700 X: 9,900
JL514 20.300 X 19.900
JL516 20,900 : :22.500, +:19.900
JL518 .100 E 1
JL520 100 PE
JL522 .100 7 3
JL524 .600 1 R
JL526 600 1 3
JL528 600 1% | % H:20,900,
JL530 500 | 56% | H:20.900
KR (D =4LIR i FiR)| KB (FH % | _JL2001 26.600 45% :25.300, A:22.900, £:27.100, H:19.500
JL3911 26.600 | 45% 2 800, H:19.500
JL2005 26,600 | _45% :20,000
JL3917 11500 | 76%
JL2009 11500 | 76%
JL2019 20.900 | 57%
FLUR (B F %) % |_JL2000 8.600 62%
JL3912 5300 | 69%
JL2006 7700 | 64%
JL2010 100 | 5
JL3918 B 100 | 51%
JL2016 100 | 5
KR (FFH) = (&) | KR (FFHF | JL3941 .500 40% :24.300, & .
JL2081 500 | 40% |A:24.300. & 4.200
JL2087 800 | 7%
SPEE(ERER) | JL3942 9.800 76%
JL2084 10800 | 74%
JL2088 24300 | 40% 25,500
R (HE) =% 5] R CHE) % [ _JL565 15400 | 68% |H:16.700. :21.200, 7K:20,500, A:22.700. F:16.500, H:16.600
JL567 6.300 | 66% |A:17.600. %:22.100. 7K:21.400, A:22.700. £:17.400, B:17.500
JL569 7200 | 65% |H:18.400. :20
ESES JL562 7.800 | 63% |A:17.300. 4
JL564 7.800 | 63% |A:17.300.
JL566 13500 | 72% |A:14.600. 4
RE (@)=l WA CAE) 5 |_JL561 16200 | 65% |A:15500.
JL553 18700 | 60% |H:18.000. A:
JL555 17100 | 63% |A:17.900. %:
JL557 17700 | _62% |H:17.500. A:
JIIIES JL552 15700 | 66% |H:16.500, :
JL554 15100 | 68% |A:15.900. 4
JL556 13.700 | 71% [H:16.400, #
JL558 13700 | 71% |A:15.900.
RE(FE) =K HRCHE) % [ JL573 13900 | 69% |A:23.200. %
JL575 14900 | 67% |A:18.800.
JL577 14900 | 67% |A:18.800. %
JL579 14100 | 69% |A:18.800.
B JL570 15300 | 66% |A:19.200. %
JL572 14100 | 69% |A:16.200.
JL574 14100 | 69% |A:16.200. 00
JL576 | 2 12900 | 72% 3,700, 2 00, £:13,500, H:16.700
R (PE) =R WRRCPIE)$ | _JL605 | 2 23500 | 49% |/K:24.500. 4
JL607 | 2 26500 | 43%
JL609 | 2 25300 | 45%
JL61t | 2 25300 | 45%
JL613 | 2 25900 | 44%
JL615 | 2 25900 | 44%
AR JL606 | 2 9.400 9800, £:18.200. +:20,000. H:19.900
JL608 | 2 18,600 | 60% |} 19,500, H:19,000
JL610 | 2 9400 | 58% 8300, £::19.500. H:20.400
JL612 | 2 20,900
JL614 | 2 20,900
JL616 | 2 17,800
IR EFFR)=ILE (¢ 3 JL2901 | 2 10.200
JL2903 | 2 18,500
JL2905 | 2 14.600
JL2907 | 2 13,400
JL2909 | 2 12.400
ALOR (3 F#%) | _JL2900 | 2 8,600
JL2902 | 2 10.200
JL2904 | 2 10,200
JL2906 | 2 15.900
JL2910 | 2 15,900
AR FHTFR) =B LB% JL3403 | 2 18.300
FLOR (B Fa8) %[ J13406 | 218 18,300

JAL



MEEZIS21 1 EER(11A1~4BBED)

EREAE 2019/09/21 ~
g 1/1 11/2 11/3 11/4
- PO b v 253 2 2 X LY VS
| RS | BEE | mam | EEa
RECRE) =R (HF&)| HmCRE)F |_JL593 =] 21.600
L501 21,600
[JL503 21,600
[JL505 26.200
[ JL507 28,300
L509 28.300
L! 27.300
L 27500
L! 23.800
L 000
9 000
L521 900
[ JL523 ,900
L525 200
L527 7.300
[ JLs520 7.300
JL531 7.300
FLUR (37 F %) % [_JL500 3.900
[ JL502 4,900
[ JLs594 4.900
[ JL504 23.800
[ JL506 000
[JL508 .000
JL 000
JL ,200
JL 4.600
JL .000
JL518 000
[ JL520 000
[ JLs22 000
[ Jis24 26.700
[ JL526 26.700
[ JL528 23,800
JL530 23.800
RE(CHE) =4 (3&H) | "RECHE)F [ JL01 29,800
[JLo03 30.200
[ JLoos 30.700
[JLe07 30.700
[ JLoog 30.700
JL913 30.700
JLI1S 29,600
JL917 29,600
JL919 20,500
JLo21 9.800
JL923 B 1,500
JL925 4.100
SRR RE) % [_JLeo 7.500
JL902 7.500
JL904 8.200
JL906 28,000
JL908 28,000
JLo1 28,000
JLo1 400
JLo1 400
JLot 400
JLI18 .100
JL920 22.300
JL922 20.500
KR (FH=4LIR G FiR)| KB (FH % | JL2001 100
JL2005 100
JL2009 000
JL2019 800
FLR (BT F %) 58 |_JL2000 .600
JL2006 3.800
JL201 4,600
JL201 25.300
KB (BAFE) =#LIR (3 FiR)| KB (BAFE) & |_JL250 25,500
JL250: 500
JL2505 000
FLAR (#7F i) % |_JL2502 300
JL2504 600
JL2506 1.000
KR (FF =5 FH) | KARAEFH R | JL2081 7,600
JL2087 14,500
P (VT 5 | JL2084 20.100
JL2088 24,600
TRE=ALIR (T %) TR JL3513 18.000
JL3515 19,000
ALIR (371 F %) 5| _JL3510 29,300
JL3512 29,300
RRCAB) =283 | FoR (CHE) 5 | JL565 16.200
JL567 18,100
JL569 22,500
@RI JL562 20,600
JL564 20.600
JL566 15,200
RRCHE) =8Il R CAE) % |_JL561 15,300
JL553 16,800
JL555 18.800
JL557 23,700
JCITIES JL552 20.300
JL554 17,100
JL556 15,900
JL558 14,000
RRCHE)=ES RECRE) % |_JL253 14,500
JL255 15,500
JL257 17.800
JL259 17,700
JL261 16.500
JL263 17,100
JL265 16,700
JL267 17,700
LER JL252 15,300
JL254 16,500
JL256 17.000
JL258 17,000
JL260 14,700
JL262 16,500
JL264 16.700
JL266 19,800
RECAR)=HE R JL277 23500
JL279 24,500
JL283 23,500
JL285 20,600
JL287 23,000
HESR JL276 18,700
JL278 22,000
JL280 19,100
JL284 22.200
JL286 20,400
RRCHE) =S5 RR(AE) R | _JL453 7.500
JL455 17.500
JL457 500
JL459 ,500
JL461 600
JL463 ,900
JL465 900
mER JL452 500
JL454 200
[ JL456 200
[JLass 600
[ JL460 .600
JL462 400
JL464 .400

JAL



MEEZIS21 1 EER(11A1~4BBED)

EFEAR . 2019/09/21 ~
g 11/1 11/2 11/3 11/4
- PO b v 253 2 2 X LY VS
| RS | BEE | mas | Eaa
TR GHE)-BF: | RA (P | JL4T5 | 2168 | 17100
L4T .700
L47 ,.800
L48 .700
[ JL4s 700
[JLass 900
187 .900
AR L474 400
L476 ,000
L478 .800
[ JLaso 800
[ Jras? 800
L484 .400
L486 .700
R CRB)=FA RRCRE) % L491 .900
JL493 .900
[ JLa95 900
JL497 .900
JL499 20.800
e [ JL490 .900
[_JL492 ,700
JL494 .700
[ JL496 000
JL498 .600
RRGAE) ML | R (RE)E |l 300
JL433 .200
[ JL435 600
JL437 .300
[ JL439 400
JL443 .100
EATES [_JL430 .900
JL432 .900
JL434 .300
JL436 7.800
[ JL438 8900
JL440 9.300
RRGAE)-RE | RR(AE)E | JL60s 20,000
[ JL607 23.100
[ JL609 22,400
JL6T1 22.400
JL613 23.100
JLB1S 29.500
RIGHE [ JL606 9,700
JL608 1.600
JL61 B 1.000
JL61 7.800
JL61 28,800
JL6T 27.800
KR (1) =EfE KR (FFF) % | JL2123 21,000
AR JL2124 29.300
EEE (FE) ALB (5T B B AR (PH) 3| JL3103 21.200
[JL3105 15.200
JL3107 13.800
JL3117 .300
FLU B 7 B 56 | L3100 000
[JL3106 900
JL3114 700
JL3118 .700
EECEETES WEE 2ol 500
JL2903 4.500
JL2905 7.000
JL2907 4.700
JL2909 3.700
FLIR (B F %) % |_JL2900 9.900
JL2902 17.300
JL2904 14.900
JL2906 16.100
JL2910 16.100
IR EFTFR)=IES IEE% JL3403 18.700
FLAR (B F58) 2| JL3406 21.100

JAL



MEHEZI5I21 1 EEXR(12A27~31 BERS) JAL

EW#EMAAE ;. 2019/09/21 ~

4 E447 12/27~ WZ/ZBK 12/29~ 12/3(]& 12/31~
- 5% @ E[ T E| BT E| @A £ E AT E]
| 58 | 8Ew | smw | Sa=s | EEs
TR (B A (FTA)| Ba (WE)% | 503 | 2188l | 21800
[ JL501 21.800
[JL503 21,800
[ JL505 26.500
[ JL507 28.900
[ JL509 28.900
L! 28.900
L! 25.800
L! 7,900
L! 7.900
L! 7,900
[ JL52 4,600
[ JL52 4,600
[ JL525 4.600
L527 30.500
[ JL529 30.500
JL531 26.900
LR (BT ) 3 |_JL500 400
[ JL502 ,600
[ JL504 600
[ JL504 .900
[ JL506 20.400 2
| JL508 20,100 2
JL! 20.100 [ i
JL 500 |19
JL 500 [ 0.
JL 500 [ 1o
JL518 000 [
[ JL520 23,000 |19
[ JL522 23,000 [
[ JL524 21,900 18,
[ JL526 21,900 |18,
| JL528 20,900 1
JL530 20.900
R (A =%#5] RRE(CHE)F [ _JL565 23,400
[ JL567 23.400
JL569 29,700
S TES [ JL562 7.300
[ JL564 7,300
JL566 4.900
RE(CHE) = RHRCHE)F [ JL551 1,200
[ JL553 1.600
[ JL555 7,900
JL557 7.900
FEVIE:S JL552 H 6.400
JL554 15.600
JL556 15.200
JL558 14.600
RR(HME)=K5 RRECPA) % JL661 29,000
JL663 29.000
JL665 29,000
JL667 .800
JL669 .300
JL6T71 .300
K% JL662 .900
JL664 19.300
JL668 19.400
JL670 19.400
JL672 19.700
JL674 22.000
R (PE)=RE RRCRA) % |_JL605 28,800
JL607 29.000
JL609 0.000
JL611T 0.000
JL613 4.100
JL615 4.100
RIGS JL606 9.400
JL608 19.400
JL61 19.400
JL61 20.900
JL61 20.900
JL61 20.400




TEZISI21 1 EEXR(A1~6BEED)

EWEHR  2019/09/21 ~
PP VA /2 1/3 /4 175 176
= @s B (7 E| B (T E| BB (T E| R E B T E| BEAE
| 58 | BEm | mme | Ssw | Sss | 8EA
RER(PE) =X RRCHE) [ JL66T =] 19,000
[ JL663 25.900
[ JL66S 25.900
[ JL667 25.900
[ JL669 20.200
671 20.200
S 662 25,400
[ JL664 25.400
[ JL668 28.400
L670 28.400
672 28.800
L674 28.400
WRGAE)-RR | TR GRE)R | JL605 23500
[ JL607 26.500
[ JL609 25,300
L611 25.300
613 20.200
615 20.200
RIBRE 606 25,800
[ JL608 25.800
L 28,800
L 28.800
L 28,800
L 28.800
ARG R-115 WeE [l 500
[ JL2903 .500
[ JL2905 .300
[ JL2907 .800
JL2909 .400
A7 ) 8| L2900 500
["JL2002 600
[ JL2904 .500
[ JL2906 .800
JL2910 .800

JAL



TEEZISI21 1 EEXRAT~IBEED)

EREAE 2019/09/21 ~
1/7-9
=40} B2 - BREMTE
A ERH ksl
R (FE) =4I (T F )| RRCRE) % [_JLs01 Z] .100 7k:18.700
JL503 .200 7K:19.800, A:19.600
JL505 .800 7K:20,500, £:20.700
JL507 .900 :22.800
JL509 .900 :22,.800
JL511 .700 22.500
JL513 600 20,500,
JL515 600 7K:19.500. %
JL517 700 7K:18.100. #
JL519 .700 7k:18.100. %
JL521 600 7K:18.700
JL523 600 7K:18.700
JL525 600 [ 7K:20.200. :19.800
JL527 20.700 7k:21.400
JL529 19,600 [ 7K:20.200. :20.300
JL531 8.800 7K:19.600
FLUR (B F %) % |_JL500 20.600 7K:21.300, 7:20.700
JL502 21,900
JL504 21,300
JL506 20.400 7k:21.100
JL508 19.600 7K:18.100, A:17.500
JL510 9.600 7K:18.100. A:17.500
JL512 18.700 7k:19.500
JL514 20.300 7k:21.000
JL516 20,900 s |7K:21.700. £:21.100
JL518 .100 7k:21.800
JL520 .100 % |7K:21.800
JL522 .100 7k:21.800
JL524 600 | 48% :20.200
JL526 600 | 48% :20.200
JL528 600 | 48% [/K:20.200
JL530 500 | 53% |7k:18.100
RECPE) =&kl WA CPIE) # |_JL565 5,500 66% | 7k:15.400, 7:15.000
JL567 6.400 | 64% [/K:16.300, :15.900
JL569 7.000 | 63% [A:18.300
ESFES JL562 7.800 | 61% [7K:18.900
JL564 7.800 | 61% [/K:18.900
JL566 3600 | 70% |X:14.600
R CRE) =R HR(PE)H [ JL551 6.700 62% |7K:17.700
JL553 7.300 1% _|7K:18.400
JL555 5.900 4% | 7K:16.900. A:16.000
JL557 6.500 3% | K:17.700, A:16.700
JENTES JL552 7.200 1% [7K:18.200
JL554 15.900 4% | 7K:16.800
JL556 B 16500 | 63% |7K:17.600
JL558 500 | 63% [/K:17.600
R (HE)=EW FR(CHE) F [_JL231 700 | 62%
JL233 200 | 61%
JL237 900 | 59% |k:15.300
JL239 15700 | 53%
JL241 15900 | 53%
FELL R JL232 13.500 60%
JL234 15700 | 53%
JL236 12700 | 62
JL240 15700 | 53%
JL242 5700 | 53
R (PE)-LS HRCHE) % | _JL253 3300 | 62% |A:13.900
JL255 300 | 59% |A4:14.900
JL257 500 | 4%
JL259 18.000 | _48%
JL261 13300 | 62%
JL263 13500 | 61%
JL265 17200 | 50%
JL267 17.400 | 50% [A:17.900
EB% JL252 14200 | 59%
JL254 17.300 | 50%
JL256 13500 | 61%
JL258 13500 | 61%
JL260 13500 | 61%
JL262 16.600 | 52%
JL264 19.100 | 45%
JL266 19.100 | _45%
HRCAB)=X% HRCHE) % [ _JL661 20200 | 49% [7K:21.400
JL663 | 2 20,700 | _48% [K:21,900
JL665 | 2 20700 | 48% [7K:21.900
JL667 | 2 20,400 | 49% [7K:21,500, %:20,300
JL669 | 2 19100 | 52% |7K:20.200
JL671 | 2 18400 | 54% |7K:19,300
K% JL662 | 2 17300 | 57% |7K:18.400
JL664 | 2 19400 | 51% |7K:20,600
JL668 | 2 19.900 20,000, :19.000
JL670 | 2 19,900 20,000, :19.000
JL672 | 2 21,300 7k:22.600
JL674 | 2 20,900 [ k:22.100
R CRE)=RK FR(AE)F [_JL60s | 2 18.300 7K:19.500
JL607 | 2 20,400 7k:21,700
JL609 | 2 17.800 | 59% |7K:19.000
JL61t | 2 17.800 7K:19.000
JL613 | 2 17.000 7K:18.000
JL615 | 2 17,000 7K:18,000
AR JL606 | 2 17.400 7K:18.000, A:17.000
JL608 | 2 19,300 [ k:20.500
JL610 | 2 18.300 7K:19,000, A:17.800
JL612 | 2 20,900 22,200
JL614 | 2 20900 22.200
JL616 | 2 18,300 :19,500
R EFFR) =LS LE% JL3403 | 2 18.700
FLOR (B Fa8) %[ J13406 | 218 19,300

JAL



MFEEI5121 1 EEXR(1A14~208BF )

EBEERA 2019/09/21 ~
T/74-20
=/ B4 BEHMIE
EE#
R (FE)=ALIR (FF&%)| RmCRE) % |_JL501 100 00, +
JL503 200 00, &
JL505 800 00, &
JL507 .900 00, £
JL509 .900 00, £
JL511 .700 00, £
JL513 600
JL515 20.400
JL517 7,500
JL519 7,500
JL521 600
JL523 600
JL525 600
JL527 B 20,700
JL529 B 19,600
JL531 18.800
FLIR (H7F %) 5 [_JL500 20,600
JL502 21,900
JL504 21,300
JL506 20.400
JL508 17500
JL510 17.500
JL512 18.700
JL514 20.300
JL516 20.900
JL518 100
JL520 100
JL522 100
JL524 600
JL526 600
JL528 600
JL530 500 H:20.900
KB (BA7E)=4LIR (37 F )| AMR(BIF) % | JL2501 9,000 121,000, B:15.700
JL2503 0,700
JL2505 9,700
FLIR (H7 T #%) 5 [_JL2502 9,300
JL2504 300
JL2506 000
R (HE) =& #H5 HR(FHE) S |_JL565 500
JL567 400
JL569 000
BT JL562 800
JL564 800
JL566 600
R (FE) =R R CRIE) % | JL551 200
JL553 300
JL555 5,900
JL557 6,500
JEIIES JL552 7,200
JL554 900 :
JL556 000 | 68% 00, £:12,900, H:17.300
JL558 000 | 68% 00, £
RECHE)=HL RR(HA) R [_JL573 .500 69% 00, +:
JL575 400 | 67%
JL577 400 | 67%
JL579 600 | 66%
WER JL570 200 65%
JL572 400 | 67%
JL574 400 | 67%
JL576 400 | 69%
R (FE) =M S CRIE) % |_JL183 9.700 61%
JL185 12.700 | 48%
JL187 10200 | 59%
JL189 9,700 61%
JL191 9700 61%
JL193 10200 | 59%
INASE JL182 10200 | 59%
JL184 9700 61%
JL186 10200 | 59% 9,300
JL188 11,600 | 53% 2200, £ H:9.300
JL190 9,300
JL192 +12.700. £ H:9.300
R (FE) =FE L R CRIE) % | JL231 12.800
JL233 12,800
JL237 :14,100, A:15.300, %:15.700, T H:12,800
JL239 12,800
JL241 12,800
[ZIES JL232 :12.700, £ H:12.800
JL234 700 | 53% |:14,500, + H:12.800
JL236 700 | 62% |:15700, + H:12.800
JL240 700 | 53% |+ H:12.800
JL242 700 | 53% |®: 12,
R (PE)=LEE RRECRE) % | _JL253 000 62% 600, + H:13.100
JL255 000 | 60% |A%:14.600. £ H:13.100
JL257 500 | 44%
JL259 900 | 48%
JL261 3900 | 60%
JL263 3300 | 62%
JL265 7200 | 50%
JL267 7300 | 50%
LEB% JL252 4,100 59%
JL254 7300 | 50%
JL256 900 | 60%
JL258 900 | 60%
JL260 300 | 62%
JL262 600 | 52%
JL264 100 | 45%
JL266 100 | 45%
R (FE)=K% R CRE) % | JL661 .200 49%
JL663 700 | 48%
JL665 700 | 48%
JL667 300 | 49%
JL669 100 | 52% 0, £:18.600. H:23.81
JL671 600 | 53% 00, :17.800, H:20.700
K55 JL662 400 | 56% 00
JL664 500 | 51% :21,300. B:19,300
JL668 300 9,900, 7K:20,000, :19,000, £:20.700
JL670 .300 000, 7:19.000. £:20.700
JL672 300
JL674 20.900
R (FE)=RE FRCFE) % |_JL60S 8300
JL607 0,400
JL609 7.800
JL611 7,800
JL613 7.000 20,
JL615 7.000 00. H:20.400
RIBSE JL606 7.000 800 20,000, H:17.400
JL608 9300
JL610 7,800
JL612 0,900
JL614 20.900
JL616 300
R (PE)= FRCFE) % |_JLe23 100
JL625 000
JL627 000
JL629 700
JL631 700
JL633 600 00, £:18.100, £:17.900, H:19.500
JL637 700 400
JL639 7.300 900, %:20.700, £:17.100. H:20,000
BEAR JL622 9500
JL624 0,200
JL626 7.300
JL628 100
JL630 000
JL632 .000 400
JL634 000
JL638 800
HAMFFR)=LE e JL3403 700
AL07 (35 F ) 3| _JL3406 7700 | 65% |+ H:18.800

JAL



MEEEISI21 SBEXR(1A21~31BERED)

EREAE 2019/09/21 ~
1/21-31
=40} B2 - BREMTE
A ERH ksl
R (FE) =4I (T F )| RRCRE) % [_JLs01 Z] .100 JK:18.700, £:20,100, £:20.700, B:17,500
JL503 .200 0. 5 1
JL505 800
JL507 .900
JL509 ,900
JL511 .700
JL513 600
JL515 20.400
JL517 100 B
JL519 100 A:
JL521 600 k:
JL523 600 ok
JL525 600 E
JL527 20.700 7
JL529 19,600 [ k:
JL531 8.800 7 :20.900
FLUR (B F %) % |_JL500 20.600 kK: :17.500
JL502 21,900 7 :18.700
JL504 21,300 :19.800
JL506 20.400 A£:21.100. H:19.800
JL508 18,100 :17.500, K 20,800, £:20.400, H:20.300
JL510 18.100 117500, &
JL512 18700 K:19.500.
JL514 20.300
JL516 20,900 3
JL518 .100
JL520 100 3
JL522 .100
JL524 600 | 48%
JL526 600 | 48%
JL528 600 | 48% 221,700,
JL530 500 | 53% . %:21.700,
KB (BAEE) =#LIR (i FiR)| KB (BEFE) R | JL2501 9,000 59% 2:23.900, 1!
JL2503 0700 | 77%
JL2505 9,700 79%
ALIR (B F i) % |_JL2502 9.300 80%
JL2504 0300 | 78% |#H:11,300. +:10800
JL2506 000 | 59% |7k:21.400. £:22.500, £:19.200. H:21.300
FRCRE)=k#5 HR(PE)F |_JL565 .500 69% | A:13.500, K 19,300, 1:18.700, H:18.600
JL567 400 | 67% | A:14.400.
JL569 500 | 66% |JKA:16.500,
BT JL562 800 | 66% |kA:16.900.
JL564 800 | 66% |/KA:16.900.
JL566 13.600 | 70% |7KA:14.600.
RE (@)=l TR CRIE) % | JL551 B 14200 | 68% |£:18.300. £
JL553 17.300 1% _[JkK:18.400. £:22.000. £:20.600. H:17.800
JL555 15.900 4% | /KA:16.900. %:18,100, £:16.000. H:17.800
JL557 16.500 3% | /KA:17.700. %:19.000. %:16.700. H:17.800
JIIIES JL552 17.200 1% A:17.500. 4 0. 400
JL554 15.900 4% 216,800,
JL556 14000 | 68% |%:15.700, £:12.400. H:17.800
JL558 14000 | 68% |£:15.700. £:12.400. H:17.800
RE (PA)=HE RRCAE) % |_JL578 13500 | 69% |£:15.900. £:13300. H:12.700
JL575 14400 | 67% 15.200
JL577 14400 | 67% |#H:15.200
JL579 14600 | 66% |£:16.900.
B JL570 15200 | 65% |£:18,600. 1
JL572 14400 | 67% |£:16.100. 3
JL574 14400 | 67% |£:16.100.
JL576 13.400 00.
R (HE) =M HRCHE) % [ _JLis3 9,700 .300
JL185 12.700 .300
JL187 10.200 .800
JL189 9.700 .300
JL191 9,700 :9.300
JL193 10.200 2.200. £ H:9.300
INEFE JL182 10.200 H:9.300
JL184 9.700 5:9.300
JL186 10.200 5:9.300
JL188 11600 | 53% |£:12.200. E H:9.300
JL190 12.500 H:9.300
JL192 9.700 12.700. £ H:9.300
R CHE) =W HRCHE) % [ _JL2si 12.700 B:12.800
JL233 13,200 12,800
JL237 13.900 :14.100, A:15.300. %:15.700. & H:12.800
JL239 15,700 : 12,800
JL241 15900 | 53% |+ H:12.800
FELLRE JL232 13,300 61% 12,700, + H:12,800
JL234 15700 | 53% |£:14.500. £ H:12.800
JL236 12700 | 62% |#:15.700. £ H:12,800
JL240 15700 | 53% |+ H:12.800
JL242 15700 | 53% |#:15.900. £ H:12.800
AR (PE)=LS HRCHE) % [ _JL253 13000 | 62% |A%:13.600. £H:13.100
JL255 14000 | 60% |A%:14,600, £H:13,100
JL257 19500 | 44% |4
JL259 17900 | _48%
JL261 13.900 | 60% £H:13.100
JL263 13300 | 62% 216,300, F H:13,100
JL265 17200 | 50% |&: 100
JL267 17300 | 50% £H:13.100
=S JL252 14100 | 59% 0
JL254 17300 | 50% 0
JL256 13.900 | 60% 0
JL258 13,900 | 60% 0
JL260 13300 | 62% 0
JL262 16,600 | 52% 0
JL264 19.100 | 45% 0
JL266 19,100 | _45% 0
R (FE) =K% WRCRIE) % |_JL661 20200 | 49% |J 0. +:20.800. H:17.400
JL663 20,700 | 48% |/KA:21,900, £:22,100. £:21,300, B:19,000
JL665 20700 | 48% [/KA:21.900, 0. + :
JL667 21500 | 46% | H:20,300, K20,
JL669 19100 | 52% |/KA:20.200. 600, +:18.600, H:23.
JL671 18,600 | 53% [7K:19.500, A:19.700, £:22,600, +:17.800. H:20,700
K55 JL662 17400 | 56% |/KA%:18.500, +:19.300
JL664 19500 | 51% | :21,300, H:19.300
JL668 20000 | 50%
JL670 20000 | 50%
JL672 21300 | 47%
JL674 20900 | 48%
RECRR)=Ri& RR( JL605 19.500 55% 100
JL607 20400 | 53% 21,300, H:18,700
JL609 17.800 | 59%
JL611 17.800 | 59%
JL613 17.000 | 61%
JL615 17.000 | 61%
R JL606 18.000 | 59% 000, +:20.000. H:17.400
JL608 19300 | 56% |k :20,000, H:18,600
JL610 19.000 | 56% 700, +:19.200. H:20.000
JL612 200 | 49% 00
JL614 200 | 49%
JL616 ,300 | 58%
RECRE)=RER EREE) R [_JL623 .100 54% |7}
JL625 19,000 | 54% |
JL627 9000 | 54% KA 120700,
JL629 18700 | 55% |/KA%:19,900, £:19.400
JL631 8700 | 55% |sKA%£:19.900, £:19.400
JL633 16,600 | 60% |7K:17.500. /:18.400, :19,200, £:17.900. H:19.500
JL637 7700 | 57% |sKA:18.800. %:19.300.
JL639 17.300 | 58% |:X:17.400. /K:18.400. A:19,000, £:21.900. £:17.100, H:20,000
AR JL622 20.600 | 50% %:19.500, +:19.800. H:17.900
JL624 20,200 JkA%:21.300. H:17.300
JL626 7.700 :16.800, .:17.400. %:18.300. £:17.300. H:17.200
JL628 16.100 KA :
JL630 20,000 KA
JL632 20,000 KK
JL634 20,000 KA
JL638 16800 | 59% /KA 3:19.400

JAL



MEEEISI21 SBEXR(1A21~31BERED)

EREEAAE : 2019/09/21 ~
1/21-31
BREMTE
=
= Rl S TR o
AR #I51% "
WEFTFR)-LE | LBE JL3403 | 21ERI | 17.700 | 65% |EH:18.800
FL0E. (5 F#) 5| JL3406 | 21AA1 | 17.700 | 65% |+ H:18800

JAL



M#EZI5121 1 EEXR A1 ~3BEESD)

EBEERA 2019/09/21 ~
2/1-3
=] B2 BEIIE
%
R CRE)=ALIR (T Fm)| RRCPE) K | JL503
JL501
JL503
JL505
JL507
JL509
JL511
JL513
JL515
JL517
JL519
JL521
JL523
JL525
JL527
JL529
JL531
ALUR (FFF#%) [ JL500
JL502
JL594
JL504
JL506
JL508
JL510
JL512
JL514
JL516
JL518
JL520
JL522
JL524
JL526
JL528
JL530
KBR (B§78) =ALIR (B %) KMX (BSE) % | JL2501
JL2503
JL2505
ALIR G F i) | JL2502
JL2504
JL2506
R (PR =% #H5 R CRIE) % |_JL565
JL567
JL569
ESTES JL562
JL564
JL566
RECHE) =R R (FHE) S |_JLS61 E=
JL553 [£2
JL555 [£:1
JL557 [E=]
JEIIES JL552 [£:1
JL554 ¥ [B:1
JL556 800 | 67% |+:15800, H:18,800
JL558 800 | 67% |+:15800, H:18,.800
R (AE)=HE R CHE) % | _JL518 000 | 65% [+
JL575 900 | 54% |A:1
JL577 900 | 56% [A:
JL579 900 | 54% |18
WER JL570 900 54% | T2
JL572 900 | 58% |1
JL574 7900 | 58% [E:1
JL576 6000 | 63%
R () =M R (FE) % | _JLis3 300 62%
JL185 300 62%
JL187 800 60%
JL189 300 62%
JL191 300 62%
JL193 300 62%
INASE JL182 300 62%
JL184 300 62%
JL186 300 62%
JL188 300 62%
JL190 300 62%
JL192 300 62%
RECHE) =R HFE(HA) S |_JL2gl .800 62%
JL233 800 | 62%
JL237 800 | 62%
JL239 800 | 62%
JL241 800 | 62%
[ZIES JL232 800 | 62%
JL234 800 | 62%
JL236 800 | 62%
JL240 800 | 62%
JL242 800 | 62%
R (PE)=LEE SR CRE) % | _JL263 100 62%
JL255 100 | 62%
JL257 100 | 62%
JL259 100 | 62%
JL261 100 | 62%
JL263 100 | 62%
JL265 100 | 62%
JL267 100 | 62%
LEB% JL252 100 62%
JL254 100 | 62%
JL256 100 | 62%
JL258 100 | 62%
JL260 100 | 62%
JL262 100 | 62%
JL264 100 | 62%
JL266 100 | 62%
R (FE)=K% R CRE) % | JL661 1400 46%
JL663 900 | 45%
JL665 900 | 45%
JL667 500 | 46%
JL669 200 | 49% 700, B:25.200
JL671 700 | 51% 900, H:22.000
ARH JL662 500 54%
JL664 700 | 48% 700, H:20.400
JL668 20.200
JL670 20.200
JL672 600
JL674 100
R (PE)=RE FRCFE) % |_JL60S 500
JL607 700
JL609 200
JL611 200
JL613 000
JL615 000
RIGR JL606 000
JL608 500
JL610 000
JL612 200
JL614 200
JL616 500
R (PE) FRCHE) % |_JLe23 .200
JL625 100
JL627 100
JL629 900
JL631 .900 :
JL633 500 000, H:20,600
JL637 800 | 54% 700, B:20.600
JL639 200 | 56%
BEAR JL622 .600 50%
JL624 300 | 48%
JL626 700 | 57%
JL628 7000 | 59%
JL630 200 | 48%
JL632 200 | 48%
JL634 200 | 48%
JL638 700 | 57% |H:
HRFTFR) LS L JL3403 9.800 61% :18.600
AL07 (35 F ) 3| JL3406 9500 | 62% |H:18.300

JAL



MFEEI5121 1 EEXR (2R 12~18AEBESD)

EBEERA 2019/09/21 ~
2/12-18
=/ B4 BEHMIE
R CRE)=ALIR (T FR)| RRCABE) % | JLs0t 00,
JL503 00, %:
JL505 00, %:
JL507 00 &
JL509 00, &
JL51
JL513 N N N
JL515 00, £:21,400. £ H:21,100
JL517 £:20,600, H:21.100
JL519 £:20,600, H:21,100
JL521 H:21,400, £:20,500
JL523
JL525 N
JL527 %:27.100, £:19,500
JL529 20.200 1,000, £:27.100, £:18,100, H:21,700
JL531 600 700
FLIR BT ) %[ _us00 300 100
JL502 800
JL504 100
JL506 .100
JL508 100
JL510 100
JL512 500 3,300, 20,600
JL514 000 23,300, £:20,600
JL516 .700 S
JL518 800 |
JL520 800 3
JL522 800
JL524 20,200 3
JL526 20.200
JL528 20.200 .700, £:18.100
JL530 18,100 700
KB (B§78) =ALIR (BT %) KMR (BS#E) % | JL2501 21,200
JL2503 10,700
JL2505 9,700
FLIR (H7 T #%) 5 [_JL2502 9,300
JL2504 300
JL2506 400
R (HE) =& #H5 HR(FHE) S |_JL565 800
JL567 800
JL569 400
BT JL562 400 | 67% 16,400, 19,300,
JL564 400 67% 16,400, £:19,300, £
JL566 600 | 62% NE]
R (FE) =R HECHE) % |_JLs51 7700 60% ,300, £:20.100
JL553 8400 | 58% 22,000, H:19.000
JL555 6800 | 62% 100, 1:16.900. H:19.000
JL557 7700 | 60% 17.500, % H:19.000
JEIIES JL552 200 | 59% |HH:17.500, +:17.700
JL554 800 | 62% |%F:15900. H:18.700
JL556 800 | 67% [#:15400, +:13,000. H:18,800
JL558 800 | 67% |%:15400, £:13.000, H:18.800
R (FE)=HIE HECHE) % |_JL678 000 68% 00, +:21.800, H:17.000
JL575 900 | 56% .900
JL577 900 | 56% 9.900
JL579 900 | 54% |%:22800, £:18,100, H:23.000
WER JL570 900 54% 1:22.800, H:18.900
JL572 900 | 58% 9900, F:14.900. H:20.800
JL574 7900 | 58% 00, 14,900, H:20.800
JL576 9000 | 56% 00, £:18,000. H:22.000
R (FE) =M S CRIE) % |_JL183 9.700 61% .300
JL185 12.700 | 48% 300
JL187 10200 | 59%
JL189 9,700 61%
JL191 9700 61%
JL193 10200 | 59%
INASE JL182 10200 | 59%
JLi84 9700 61%
JL186 10200 | 59% 9,300
JL188 11,600 | 53% 200, £ H:9.300
JL190 12.500 | 49% 9,300
JL192 9,700 61% 00, £ H:9.300
RECHE) =R HFE(HA) S |_JL2gl 700 62%
JL233 200 | 61% 12,800
JL237 900 | 50% [:14.100, A:15.300. 215,700, T H:12,800
JL239 600 | 54% |A%:15700. £ H:12.800
JL241 900 | 53% |+ H:12.800
[ZIES JL232 300 | 61% [5:12.700. £ H:12.800
JL234 700 | 53% |:14,500, + H:12.800
JL236 700 | 62% 700, T H:12.800
JL240 700 | 53% |+ H:12.800
JL242 700 | 53% |®: 12,
R (PE)=LEE RRECRE) % | _JL253 000 62% 600, + H:13.100
JL255 000 | 60% |A%:14.600.  H:13.100
JL257 500 | 4% 100
JL259 900 | 48% 100
JL261 3900 | 60% 200, T A:13.100
JL263 3300 | 62% 6300, £ H:13.100
JL265 7200 | 50% 113,100
JL267 7300 | 50% 7,800, £:18.900. £ H:13.100
LEB% JL252 4,100 59%
JL254 7300 | 50%
JL256 900 | 60%
JL258 900 | 60%
JL260 300 | 62%
JL262 500 | 52%
JL264 100 | 45%
JL266 100 | 45%
R (FE)=K% R CRE) % | JL661 1400 46%
JL663 900 | 45%
JL665 900 | 45%
JL667 500 | 46%
JL669 200 | 49% 0, £:19.700, H:25.21
JL671 700 | 51% 00, +:18.900, H:22.000
ARH JL662 500
JL664 700
JL668 500
JL670 500
JL672 600
JL674 100
R (FE)=RE FRCFE) % |_JL60S 500
JL607 700
JL609 000
JL611 000
JL613 000 00, A:21,
JL615 000 00, A:21,700
RIBSE JL606 000 00, £:19.000, £:21.200, H:18.400
JL608 500 £:21.200, H:19.800
JL610 .000 20,000, £:20.700. :20.400, H:21.200
JL612 200 00. A:23.300
JL614 200 00. A:23.300
JL616 500 00, £:18.000. B
R CHE)=] HR(PHE)F [_JL623 .200 0,400, H:17.500
JL625 100 20,700, 1:20600. H:17.000
JL627 100
JL629 900
JL631 900 X
JL633 500 18,400, £:19.200. £:19,000, H:20,600
JL637 800 600
JL639 200 00, :19.000, %:21.900, £:18.100. H:21.200
BEAR JL622 .600 00, H:19.000
JL624 300 18.200
JL626 700 £:18,300, H:18.100
JL628 7.000 £:18.300, H:18,600
JL630 200 20,600, 1:19.900
JL632 200
JL634 200
JL638 700
HAMFFR)=LE e JL3403 7.700 X
AL07 (35 F ) 3| _JL3406 7700 | 65% |+ H:18.800

JAL



EBEERA

2019/09/21

MFEEI5121 1 EEXR(2A19~298 %)

=]

2

2/19-20,2/25-29

AR CPIE)=ALIR (37 F %))

RERCAE) %

JL501

JL503

JL50S

JL507

JL509

JLE11

JLE13

JLE1S

JLE17

JL519

JLE21

JLE23

JLE25

JLE27

JL529

JLE31

HIRGHTFR) R

JL500

JLE02

JL504

JLE06

JL508

JLE10

JLE12

JLE14

JLE16

JLE18

JL520

JLE22

JL524

JLE26

JLE28

JL530

KR (RS 78) =4LIR (37 F %))

K (B78)

JL2501

1
23900, 1:24.000
200

JL2503

JL2505

HIRGHTFR) R

JL2502

JL2504

JL2506

R (PR = #H5

RRCAE) %

JLE6S

JLE67

JLE69

ESPIES

JLE62

JL564

JLE66

R (FE) =R

RRCAE) %

JLE51

JLE53

JLE55

JLE57

JEIES

JLE52

JLE54

JLE56

JLE58

R (FE)=HIE

RERCAE) %

JLE73

JLE75

JLE77

JLE79

HILFR

JLE70

JLET2

JLE74

JLE76

R (FE) =M

RRERCAE) %

JL183

JL185

JL187

JL189

JL191

JL193

MR

JL182

JL184

JL186

JL188

JL190

JL192

R (FE) =FE L

RERCAE) %

JL231

JL233

JL237

JL239

JL241

[0TE

JL232

JL234

JL236

JL240

JL242

R (PE)=LEE

RRCAE) %

JL253

JL255

JL257

JL259

JL261

JL263

JL265

JL267

LEB%

JL252

.200

JL254

JL256

JL258

JL260

JL262

JL264

JL266

R (FE)=K%

RRCAE) %

JL66T

JL663

JL665

JL667

JL669

JL671

ARH

JL662

JL664

JL668

JL670

JL672

JL674

R (FE)=RE

HRCHH) %

JL60S

JL607

JL609

JL61T

JL613

JL61S

RIGR

JL606

JL608

JL610

JL612

JL614

JL616

R (PE)=

HRCHH) %

JL623

JL625

JL627

JL629

JL631

JL633

JL637

JL639

BEAR

JL622

JL624

JL626

JL628

JL630

JL632

JL634

JL638

HAMFFR)=LE

JL3403

LEEH
FLOR (37 F %)

JL3406

JAL



MEEEIS121 SEEXR(1A10~13BEED)

EREAE 2019/09/21 ~
4 E447 W/WDK 1/11~ 1/12~ 1/13~
P B2 57 E| B{E{7 E[ BB T E| BRI E
| RS | BEE | mam | EEa
RECRE) =R (FF&)| HECPE)H |_JL501 =] 20.700
L503 22,200
[ JL50S 23,400
[JL507 26.200
L509 26,200
L 26.200
L! ,.800
L 100
L! .200
L519 200
L521 ,100
L523 100
[ JL525 26,400
L527 27.800
[ JLs29 27.800
JL531 26.400
FLIR (B F i) % |_JL500 22,900
[JLs502 24,100
[ JL504 23,400
[ JL506 800
[JL508 500
JL 500
JL 000
JL 000
JL 000
JL518 500
[ JL520 500
[ JLs22 500
[ Jis24 23.400
[ JL526 400
[ Jis28 300
JL530 300
RRCAB)=%@% | Fom (RHE)5 | _JL565 500
[ JL567 400
JL569 700
RmAIFE | _JL662 600
[ JL564 600
JL566 700
FR CRE) =Rl HR(PE)H [ JL551 100
[ JLs53 300
[JL555 000
JL557 000
JENTES JL552 400
JL554 17.600
JL556 B 19.700
JL558 19.700
RRCHE)=%I4 RECHE) % |_JL578 20.200
JL575 20.100
JL577 20,100
JL57 21.400
HILF JL57! 20,300
JLS57. .100
JL57. 100
JL57 000
RA CHE) =W RECHE) % | JL23 500
[ JL23 .000
JL237 700
JL23 15.700
JL24 16,000
TEILFE JL23 14.100
JL23 15,600
JL23 15.700
JL24 15,700
JL24. 15.700
RRCHE)=ES R CAE) % | _JL25 15,000
JL255 16.000
JL257 20,100
JL259 19.300
JL261 16,800
JL263 16.800
JL265 18,900
JL267 19.600
3 JL252 15,500
JL254 18,600
JL256 6.800
JL258 16,800
JL260 6.800
JL262 18,900
JL264 9.500
JL266 19,500
RRCHE) =K% RECHE) % |_JL661 22.800
JL663 22,300
JL665 22.300
JL667 22,800
JL669 22,800
JLBT71 23,300
RRH JL662 19,100
JL664 23,300
JL668 21.700
JL670 21,700
JL672 24,000
JL674 24,000
RRCHE)=R& RECRE) % |_JL605 19,600
JL607 22,800
JL609 21.200
JLB11 21,200
JL613 22,800
JL615 22,800
RER JL606 19,000
JL608 21,300
JL610 20.800
JL612 22,300
JL614 22.300
JL616 22,400
RECRE)=RER HECRE) & | JL623 20,700
JL625 21,300
JL627 21.300
JL629 20,000
JL631 20,000
JL633 19,400
JL637 20,000
JL639 22,100
AR JL622 20.800
JL624 21,600
JL626 19.000
JL628 19,000
JL630 20.800
JL632 21,800
JL634 21,800
JL638 21,800
IR FFR)=LE [I=s3 JL2901 21.600
JL2903 21,600
JL2905 23.300
JL2907 19,100
JL2909 18.100
FLOR (FHF%) | JL2900 16,300
JL2902 20.400
JL2904 20,400
JL2906 20.800
JL2910 20.800

JAL



MEEZI5I21 EER (R4~ 11AEBES)

EEEAE 2019/09/21 ~
s @37 e 24 2/5 2/6 2/7 2/8 2/9 2/10 2/11
X B4 BEM7E| BEI7E| BEITE| BEIMTE| BEMTE| BEMTE[ BEMIE[BEITE
" $§?WE EEE | EEE | @EE | @EE | EEE | =S | EgE | EEH
RRECRB) =AM FHF&)| RRCAE)HE |_JL593 =kl 700 800
L501 700 800
[JL503 800 200
[JL505 500 200
[ JL507 800 400
L509 800 400
L511 500 400
L513 200 400
L515 500 200
L517 100 200
L519 100 200
L521 200 200
1523 200 200
[ JL525 200 200
[ JL527 400 200
[ JL529 200 .200 200
L531 600 200 200
FLOR (BT #%) % |_JLS00 300 00 500
[ JL502 800 500 500
1594 800 500 500
[ JL504 100 500 500
[ JL506 100 00 500
L508 100 500 500
L 100 500 500
L 500 00 500
L 000 00 500
L 000 00 500
L 100 00 500
[ JL520 100 00 500
[ JL522 100 00 500
L524 20,200 00 700
200 00 600
200 400 400
100 00 400
KR (P =AM FFR)| KRB HE | J 100 00 400
100 00 800
.100 00 100
200 00
IR GRTFE) % J .500 00
200 00
700 00
[J 700 00
KRR (BIEE) =ALIR (Fr F&%)| KR (BAEE) % | JL: 2400 ¥
700
9,700
AR GHTFR) R 9,300
300
1400
R CRE) =X # 3 ME)F | JL565 .300
L567 300
L569 400
S TS L562 .900
[JL564 ,900
1566 600
R CRE) =R FRERCRE)F |_JL551 7,700
[JL553 8,400
[ JL555 6,800
L557 7,500
JENIES L552 200
[ JL554 800 100
[ JL556 800 200
1558 800 200
HRCRE)=HIK FRERCRE) # 573 .000 100
L575 900 500
L577 ,900 500
L 900 300
BILFE L .900 800
L 900 000
L 7,900 000
L 000 000
FR CRE) =Rl RERCRE)F | JL: 700 700
[JL233 200 200
[JL237 900 900
[JL239 700 200
L241 900 200
FL%E | JL232 300 200
[JL234 700 200
[JL236 700 700
240 700 200
1242 900 200
RRCAE)=RE RRERCPE)F | _JL253 000 500
[ JL255 000 500
[JL257 500 500
[JL259 900 500
[JL261 3,900 900
[JL263 3,300 500
[JL265 7,200 500
1267 7,600 500
EEB%E | _JL252 4,000 500
[JL254 7,300 500
[JL256 ,900 900
[JL258 900 900
[JL260 300 500
[JL262 500 500
[JL264 100 500
1266 100 500
R CHE) =K% FR (@)% |_JLe61 400 700
[JL663 1900 200
[ JL665 1900 200
L667 600 300
[ JL669 200 400
L671 700 500
K% | _JL662 500 600
L664 700 600
[ JL668 000 200
1670 1000 200
L672 600 800
L674 100 000
R CRE)=RIG RRERCPE)F |_JL60S .500 400
L607 1700 500
[JL609 000 600
L611 000 600
L613 000 900
L615 000 900
RB% | _JL606 200 200
L608 500 200
L 500 100
L 200
L 200
L 500
R CRE)=MER RR(PE) S [ JL62: .200
[ JL625 100
[JL627 100
[JL629 900
[JLe3t ,900
[JL633 500
[JL637 800
1639 400
AR | J622 600
1624 300
[JL626 700
[ JL628 7,000
[JL630 1,00
[ JL632 1,200
[JL634 1,00
L638 7,700
ALIR BT R) =G (=¥ .200
300
700
700
700
IR GRTFR) | J 9,500
200
200 1.700_|
300
300

JAL
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TR CRED AL (W T a8)| S CRE) 5

501

IR (HTF )R

RIR (A =AU (B F3)| R0 (A % | JL2001

[JL2019 | 21EW | 25800 | 23800 | 19300 | 21800 |
FLIE(HF ) [ L2000 21200 | 22200 | 21800 | 20800 |
21.200 | 22200 0

22700 | 18300 | 28200 000
RIR (A7) =#LIE (9 F )| AR (387 % | JL2501 [ 218 [ 16000 | 24700 | 17300 [ 17.300 |

R CRE) 5

ESEEY

R CHE) 5

16300
552 18200
554 18200
556 16900 | 14600 | 16000
558 16000
541 16200
543 | 2 18800
545 17,300
540 16,400
542 18800
544 21,500
573 14,100

16000

16000

18900

18900

18900

18900

17,300

[IEY

R CHE) 5

R (AE

R

R CAE)=HIE R CAE) 5
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R CHE) =

R

R CHE) 5

ECEY
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T EZISI21 1 EEXRCGAI~5BEEN)

EREAE 2019/09/21 ~
3/1-5
=40} B2 - BREMTE
T e ksl
R (FE) =4I (T F )| RRCRE) % [_JLs01 B 19,400
JL503 20.500
JL505 21,200 :22.100, H:19.400
JL507 23.600 :19.400
JL509 23,600 :19.400
JL511 23.300 [B:20.400
JL513 20,900 kK:21.200, H:21,700
JL515 20.100 £:20.500. H:21.800
JL517 18,600 :21,800
JL519 18.600 :21.800
JL521 20,900 7K:19.400. H:22.100
JL523 20.900 7K:19.400. H:22.100
JL525 20,900 :21,200, H:22.500
JL527 22.100 2.900
JL529 20,900 21,700, H:22.500
JL531 20.200 :22.500
ALUR (B F %) 5| JL500 ,000 122,100, H:18.600
JL502 600 :20.100
JL504 900 :21,200
JL506 800 21.200
JL508 600 :21,700
JL510 600 [B:22.900
JL512 20,100 :24,100
JL514 .700 :24.100
JL516 500 :22.600, H:24.100
JL518 600 :24.700
JL520 600 :24,700
JL522 600 :24.700
JL524 20,900 [H:23.600
JL526 20.900 :23.600
JL528 20,900 [B:22.500
JL530 18.600 22.500
KB (BAEE) =#LIR (i FiR)| KB (BEFE) R | JL2501 21.200 7.700
JL2503 10.700 200
JL2505 9,700 200
ALIR G %) ¢ |_JL2502 9.300 .600
JL2504 .300 600
JL2506 600 22,800, H:26.700
FRCRE)=k#5 HR(PE)F |_JL565 .900 .00
JL567 .800 :17.900
JL569 000 :21.300
BT JL562 6.400 :20.300
JL564 6.400 [B:20.300
JL566 15.100 :17.900
FRCRE) =R RRECPHE)F |_JL551 B 17.700
JL553 18400 | 61% |H:19.000
JL555 16.800 | 64% |H:19.000
JL557 17500 | 62% |KA:17.700. H:19.000
JIIIES JL552 18200 | 61%
JL554 16.800 | 64% |H:18.700
JL556 17.600 | 62% |H:21.600
JL558 17.600 | 62% |H:21.600
RE (PA)=HE RRCAE) % |_JL578 17.000 | 63%
JL575 18.900 | 58% 20.900
JL577 18.900 | 58% 20,900
JL579 19.900 | 56% 23,000
B JL570 19.900 | 56% 18.900
JL572 17.900 | 61% 20,800
JL574 17.900 | 61% 20,800
JL576 19.000 | 58% 22,000
R (HE) =M HRCHE) % [ _JLis3 9.700 64%
JL185 12700 | 53% .600. H:10.200
JL187 10.200 | 62% 800
JL189 9.700 64 .800
JL191 9,700 64% 800
JL193 10200 | _62% |H:10.800
INEFE JL182 10200 | 62%
JL184 9.700 64
JL186 10200 | 62% 10.800
JL188 11600 | 57% 10.800
JL190 12200 | 55% 10.800
JL192 12200 | 55% 9700, H:10.800
R CHE) =W HRCHE) % [ _JL2si 12700 | 65% 14.800
JL233 13200 | 64% |H:14.800
JL237 13.900 | 62% |A:14.100. :15300. H:14.800
JL239 15600 | 57% 15,700, H:14.800
JL241 15.900 | 56% 14.800
ELLF JL232 13300 | 63% 12,700, H:14.800
JL234 15700 | 57% 14.800
JL236 12700 | 65% 14,800
JL240 15700 | 57% 14.800
JL242 15700 | 57% 800
AR (PE)=LS HRCHE) % [ _JL253 13100 | 65% |A:13.800. H:15.200
JL255 14,100 | 62% 800, H:15,200
JL257 19500 | 47% |H:15.200
JL259 17900 | 52% 15,200
JL261 13900 | 62% |A:16.200. H:15.200
JL263 13300 | 64% 15,600, H:15.200
JL265 17200 | 54% 15.200
JL267 17300 | 53% 17,800, H:15.200
=S JL252 14100 | 62% 15.200
JL254 17300 | 53% 15,200
JL256 13.900 | 62% 15.200
JL258 13900 | 62% 15,200
JL260 13200 | 64% 15.200
JL262 16,600 | 55% 15,200
JL264 19.100 | 48% 15.200
JL266 19,100 | 48% 15,200
R (FE) =K% HRCHE) % [ _JL661 21900 | 48% 18.800
JL663 22400 | 47% 20,300
JL665 22400 | 47% 20,300
JL667 21800 | 49% |X:22,000. H:25.800
JL669 20500 | 52% |H:25.800
JL671 20000 | 53% |K:19,800. H:22.400
K55 JL662 18.800 | 56%
JL664 21000 | 50% 20,700
JL668 20300 | 52% 20.500. X:21.400,
JL670 20300 | 52%
JL672 23000 | 46% |H:24.900
JL674 22500 | 47% 24,900
RECRR)=Ri& RR( JL605 20,700 55% :19.300
JL607 23000 | 50% 21,100
JL609 20000 | 57% |H:23.600
JL611 20000 | 57% 23,600
JL613 19.100 | 59% |H:23.000
JL615 19100 | 59% 23,000
R JL606 19100 | 59% |H:19.600
JL608 21700 | 53% |H:20,900
JL610 20000 | 57% |X:20.600. H:22.500
JL612 23600 | 49% 24,700
JL614 23600 | 49% |H:24.700
JL616 20700 | 55% |H:23,100
AR FHTFR) =R L&% JL3403 18.900 | 65% | H:20.200
FLOR (37 F58) 3| JL3406 18,900 65% :20,200

JAL



MEEZIS21 1 EERGA~1TAERESD)

EREAE 2019/09/21 ~
3/6-11
=40} B2 BREMTE
1o mmm [S00 [
AR #I51% "
R (FE) =4I (T F )| RRCRE) % [_JLs01 Z] 19.400 51% 122,500, +:22.100, H:18,600
JL503 20500 | 49% |%:29.300. L
JL505 21200 | 47% |%£:20.300, %
JL507 23600 | 41% 29,300,
JL509 23,600
JL511 23.300
JL513 20,900
JL515 20.100
JL517 18,600
JL519 18.600
JL521 20,900
JL523 20.900
JL525 20,900
JL527 22.100
JL529 20,900
JL531 20.200
ALUR (B F %) 5| JL500 ,000
JL502 600
JL504 900
JL506 800
JL508 600
JL510 600
JL512 20,100
JL514 .700
JL516 500
JL518 600
JL520 600
JL522 600
JL524 500
JL526 20.900
JL528 20,900
JL530 18.600
IR CRE) =18k RRCRME) % [ JL303 19.100
JL305 22.800 | 48% |4:26.800. 1
JL307 25500 | 42% |%:29,900. 1
JL309 7.100 :31.600, 1
JL311 7.800 31,600, 1
JL313 7.100 :31.600, 1
JL315 900 :28.100, 1
JL317 .000 :28.200, 1
JL319 800 :20,500.
JL321 100 127700, 1
JL323 800 :27.700, 1
JL325 .700 127700,
JL327 B .700 :28.700, H:25.200
JL329 400 :30.300. +£:21.700.
JL331 400 :30.300.
JL333 400 :30.300.
JL335 200 :30.300, 1:20.500.
[ JL300 .900 124900, 1:23.400.
JL302 400 126,800,
JL304 400 126.800.
JL306 600 129,600, 1
JL308 4,200 :28.800. 1:26.C
JL310 .900 126,600,
JL312 400 127200, 1
JL314 100 :26.000, 1
JL316 100 :26.800. 1
JL318 200 30,100, 1
JL320 200 :30.100, 1
JL322 200 3 :30.100.
JL324 600
JL326 600 3
JL328 600
JL330 700 | 48%
JL332 19.100 | 56%
KB (BAEE) =#LIR (3 FiR)| KB (BEFE) F | JL2501 21,400 56%
JL2503 10700 | 78%
JL2505 9.700 80%
ALIR G F %) 6 |_JL2502 9.300 81%
JL2504 10400 | 79%
JL2506 22800 | 53%
R (PE)=EE R CAE) % |_JL585 17.300 | 54%
JL587 17,000 | 55%
JL589 19200 | 49% |£:23.600. H:21.400
S JL584 20,300 46% 21,400
JL586 18600 | 51% |£:22.700. H:22.400
JL588 19200 | _49% 3,300, H:
R CHE) =M HRCHE) % [ _JLis3 9.700 64% |%:11.300. £
JL185 12300 | 55% | k12,700
JL187 11,800 | 56% | %kok:12.200. F
JL189 9,700 64% 0,800
JL191 9.700 64% | H:10.800
JL103 10200 | 62% |£:11,800. £:9,700. H:10,800
IVEAFE JL182 10200 | 62% |£:11.300. +:10.800
JL184 9,700 64%
JL186 10200 | 62%
JL188 11600 | 57% 12,200, 1 H:10,800
JL190 12200 | 55% |£:12.300. £ H:10.800
JL192 12,200 | 55% |3:9.700, £:12,300. £ H:10,800
R (CHE) =W HRCHE) % [ _JL2si 12700 | 65% |£:15.700. £ H:14.800
JL233 15700 | 57% |+ H:14,800
JL237 13900 | 62% |A:14.100. %:15.700, £ H:14.800
JL239 15600 | 57% |#:15.700. £ H:14,800
JL241 15800 | 56% |+ H:14.800
e JL232 13300 | 63% 12,700, £:14.600. T H:14.800
JL234 15700 | 57% H:14.800
JL236 12700 | 65% 15,700,  H:14.800
JL240 15700 | 57%
JL242 15700 | 57% 800
R (FE)-LS R CRE) % | JL253 13100 | 65% 200
JL255 15800 | 57% 200
JL257 19500 | _47% .200
JL250 17.900 | 52% 20,600, £ B:15,200
JL261 13.900 | 62% 8700, £ H:15.200
JL263 13300 | 64% 8400, £ H:15.200
JL265 17.200 | 54%
JL267 17.300 | 53%
LE% JL252 14100 | 62%
JL254 17300 | 53%
JL256 13.900 | 62%
JL258 13900 | 62%
JL260 13200 | 64%
JL262 16,600 | 55%
JL264 19100 | 48% |4
JL266 19100 | 48%
AR FHTFR) =B L&% JL3403 18.900 | 65%
FLOR (37 F58) 3| JL3406 18.900 65%

JAL



MEEEIS121 EEXR(BA12~18BERED)

EREAE 2019/09/21 ~
3/12-18
=40} B4 - BREMTE
T e %
RECRE) =R (FF&)| HECRE)H |_JL501 B .400 27K:20,200, #:22,500, +:23.200, H:18,600
JL503 1400 :20.500, :20.900. £:29.300, +:28.300. H:18.600
JL505 100 :21.200, £:20.300, £:28,300, H:19.400
JL507 600 X K:24.600. % +£:29.300. H:19.400
JL509 23,600 X 7K:24,600. % +:29.300. H:19.400
JL511 23,300 K:24.300. % +:29.300. H:20.400
JL513 20,900
JL515 20.900
JL517 18,600
JL519 8.600 19,500, £:24.900, £:22.200. H:21.800
JL521 20,900 :21.800. 7K:20.200. £:26,000, & H:22,100
JL523 20.900
JL525 21,800
JL527 22.100
JL529 21,800
JL531 20.200 500, H:22.500
ALUE (37 F#%) % [_JL500 23,000 000, H:18.600
JL502 600
JL504 900
JL506 .900
JL508 600
JL510 600
JL512 20,100
JL514 21.700
JL516 23,500
JL518 600
JL520 600
JL522 600
JL524 500
JL526 20.900
JL528 20,900
JL530 9500
IR CRE) =18k HR(CRE) % |_JL303 21,000 26.800
JL305 22.800 :27.700. B:19.800
JL307 25500 :19.800
JL309 7.100 :20.500
JL311 7.800 :20,500
JL313 7.100
JL315 2,900
JL317 1.000
JL319 20,500
JL321 100
JL323 800
JL325 .100
JL327 B 100
JL329 26,000
JL331 26,000
JL333 23.400
JL335 24,200
BER JL300 21.900
JL302 26,000
JL304 26,000
JL306 4,600
JL308 4,200
JL310 .900
JL312 400
JL314 100
JL316 100
JL318 200
JL320 200
JL322 200
JL324 600
JL326 600
JL328 600
JL330 700
JL332 1.000
FRCRE) =/ M2 FRCPE)$ |_JLi83 9.700
JL185 12.300
JL187 11.800
JL189 9.700
JL191 9,700
JL193 10.200
IVEAFE JL182 0200
JL184 9,700 64%
JL186 10200 | 62%
JL188 11600 | 57% | koKl 110,800
JL190 12200 | 55% | kaKid :10.800
JL192 11,800 | 56% |kl 110,800
R (CHE) =W R CRHE) % | JL231 12700 | 65% [kk:d t H:14.800
JL233 15700 | 57% |+ H:14,800
JL237 15100 | 58% 114100, A:15.300. F H:14.800
JL239 15700 | 57% |+t H:14.800
JL241 15800 | 56% |+ H:14.800
TS JL232 14200 | 61% 12,800, /13,300, %:14,600, + H:14,800
JL234 15700 | 57% |+ H:14.800
JL236 12700 | 65% |JJK:13,600, %:15.700. T H:14,800
JL240 15700 | 57%
JL242 15800 | 56%
AR (PE)=LS HRCHE) % [ _JL253 14400 | 61% 115,800, & H:15.200
JL255 17300 | 53% 800, + H:15.200
JL257 19500 | 47% X H:15.200
JL259 17900 | 52% 20,500, + H:15,200
JL261 15300 | 59% |H:16.200. :13.900, £:18.700. £ H:15.200
JL263 14700 | 60% |3:15,600. A:13,.300, £:18,400, £ H:15200
JL265 17200 | 54% |XJK:18.800. %:20.000. & H:15.200
JL267 19,000 | _49% 7,400, :17.800, %:20,700, & H:15,200
=S JL252 14100 | 62% |JJK:15.300. %:16.700. & H:15.200
JL254 17300 | 53% |JJK:18,600.
JL256 13900 | 62% |XJK:15.300. %:19.000,
JL258 13,900 | 62% |JK:15,300, £:19,000,
JL260 13200 | 64% |XJK:14.400. %:18.200, 5.200
JL262 18,100 | 51% 6,500, 7:16.600, %:20,000, & H:15,200
JL264 19100 | 48% |JIK:19.500. 600 + H:15.200
JL266 19100 | 48% 20,100, #:21,100, + B:15.200
AR FHTFR) =R L&% JL3403 18.900 | 65% 20.200
FLOR (37 F58) 3| JL3406 18.900 65% 20.200

JAL
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EREAE 2019/09/21 ~
3/23-28
=40 B2 BREMTE
h | Eaa
AR
R (FE) =4I (T F )| RRCRE) % [_JLs01 B 20,600
JL503 21,800
JL505 22,500
JL507 25,000
JL509 25,000
JL511 .700
JL513 500
JL515 300
JL517 800
JL519 800
JL521 200
JL523 200
JL525 200
JL527 600
JL529 200
JL531 500 g
ALUR (B F %) 5| JL500 23,400 :
JL502 25.100 R
JL504 400 |5 :23.
JL506 300 | 42% | H:22.200
JL508 800 | 50% |A:
JL510 800 | 50% |A:
JL512 300 | 47% |A:
JL514 100 | 42% |A:
JL516 23900 | 40%
JL518 24,000 | 40%
JL520 24000 | 40%
JL522 24,000 | 40%
JL524 23900 | 40%
JL526 200 | 4%
JL528 200 | 44%
JL530 800 | 50%
IR CRE) =18k RRCRME) % [ JL303 .000 52%
JL305 25200 | 42% |
JL307 28,300 | 35%
JL309 30100 | 31%
JL311 31,000 | 29%
JL313 30100 | 31%
JL315 26000 | 40% |
JL317 200 | 47%
JL319 800 | 50% |
JL321 000 | 52%
JL323 800 | 50%
JL325 4100 | 45%
JL327 B 4100 | 45%
JL329 26000 | _40%
JL331 26000 | 40%
JL333 26000 | _40%
JL335 26800 | 39%
BER JL300 24.200 44%
JL302 26000 | 40%
JL304 26000 | _40%
JL306 27300 | 37%
JL308 26800 | 39%
JL310 4700 | 43%
JL312 700 | 43%
JL314 000 | 52%
JL316 000 | 52
JL318 600 | 4%
JL320 4600 | 44"
JL322 26800 | 39%
JL324 27300 | 37
JL326 27300 | 37%
JL328 27300 | 37
JL330 25100 | 42%
JL332 000 | 52
R (HE) =M HRCHE) % [ _JLis3 800 | 56%
JL185 .800 | 49%
JL187 800 | 53%
JL189 .300 | 55%
JL191 300 | 55%
JL193 .800 | 56%
IVEAFE JL182 800 | 56%
JLigd | 2 11,800 | 56%
JL186 | 2 11800 | 56%
JLigs | 2 12,200 | 55%
JL190 | 2 13000 | 52%
JL192 | 2 13,000 | 52%
R (CHE) =W HRCHE) S | JL231 | 2 13.600 | 62%
JL233 | 2 15700 | 57%
JL237 | 2 15100 | 58%
JL239 | 2 15700 | 57% |+:14.800
J2at |2 15800 | 56% |+:14.800
TS JL232 | 2 14300 | 60% |/:12,700. £:14.800
JL234 | 2 15700 | 57% |£:15.600. +:14.800
JL236 | 2 13,600 | 62% 12,700, £:15.700, £:14,300
JL240 | 2 15700 | 57% 14.800
JL242 | 2 15,800 | 56% 14,800
AR FHTFR) =B LB% JL3403 | 2 18.800 | 65% 20,000
FLOR (B Fa8) 3[ J13406 | 218 18,900 65% 20,200

JAL
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EREAE 2019/09/21 ~
4 E447 3/19 _ 3/20 _ 3/21 _ 3/22 _
P B2 857 | {E{7 E[ BT E| BRI E
| RS | BEE | mam | EEa
R (FE) =4I (T F )| RRCRE) % [_JL501 B 25,800
L503 25.800
[ JL505 25,800
[JL507 28.900
L509 28,900
L 28,000
L 28,000
L 25.800
L 25,800
L519 25.800
L521 7,700
L523 7.700
[ JL525 7,700
L527 4,200
[ JLs29 4,200
JL531 3.300
FLIR (B F i) % |_JL500 28,900
[JLs502 28.900
[ JL504 28,000
[ JL506 25.800
[JL508 25,800
JL 25.800
JL 28,900
JL 28.900
JL 28,900
JL518 28.900
[ JL520 28,900
[ JLs22 28.900
[ JL524 28,900
[ JL526 28.900
[ Jis28 25,800
JL530 25.800
B (FW) =8 HECHE)F [JL303 27.300
[JL305 27.300
[ JL307 28,400
[JL309 28.400
JL 28.400
JL 28.400
JL 7,300
JL 7.300
JL319 7,300
JL321 7.300
[ JL323 7,300
JL325 7.300
JL327 E 7.300
JL329 29.100
JL331 29,100
JL333 25.200
JL335 30.100
FES JL300 7.300
JL302 7.900
JL304 7.900
JL306 7.900
JL308 7.300
JL31 7.300
JL31 7.300
JL31 7.300
JL31 7.300
JL31 7.300
JL32 7.300
JL322 7.300
JL324 28.400
JL326 28.400
JL328 21.200
JL330 28,800
JL332 25.100
BRCRE)=k#&5] RRECPHE)F |_JL565 25,800
JL567 25.800
JL569 20.300
s ES JL562 17.700
JL564 17,700
JL566 16.000
R CRE) =R FRCRE)$ |_JL551 20.000
JL553 21,300
JL555 19.900
JL557 23,900
JCITIES JL552 20.800
JL554 19,400
JL556 20.500
JL558 20,500
IR CRE) =82 RRECPE)H | JL541 25,600
JL54 26,800
JL54 18.200
FIIEES JL54 20,200
JL54: 26.800
JL544 18,500
WA CHE) =%k R CRIE) % | JL573 17.200 .
JL575 22,000 20,100 | 22,100
JL577 22,000 22.100
JL579 21,600
HILF JL570 21,000
JL572 21,000
JL574 21,000
JL576 17,800
RR(CRE)=HfE RRERCPE)F |_JL585 20.900
JL587 18,800
JL589 22.600
AR JL584 22,700
JL586 7.300
JL588 22,600
R (@) =@ WRCRE) % | JL161 5.800
JL163 18,400
JL165 4,600
JL167 18,400
HER JL162 15.900
JL164 14,600
JL166 6.900
JL168 ,000
RRCRE) =R RRCPE)F |_JL231 .500
JL233 ,000
JL237 700
JL239 ,700
JL241 200
[55[ITE JL232 ,500
JL234 700
JL236 15,700
JL240 15,700
JL242 16,000
RECAB)=LES HECRE) & | JL253 15.000
JL255 16,000
JL257 20.500
JL259 20,000
JL261 16.600
JL263 17,200
JL265 19.300
JL267 20,000
LER JL252 15.900
JL254 20,000
JL256 7.900
[ JL2s8 7.200
[JL260 200
[ JL262 .300
JL264 900
JL266 .900

JAL



MEEEIS121 EEXR(BA19~22BERED) JAL

EW#EMAAE ;. 2019/09/21 ~

smsqra3/19 | 8/20 [ 3/a1 [ /22
P O el 32 s o P
|8 s EER | EE8 | EEH | 2848

HECRB) =8 HR(PE)F | _JL453 B 23.900
[_JL455 .900
L457 600
[ _JL459 600
L461 600
[ JL463 600
L465 600
Ee%E | _JL452 600
L454 600
[_JL456 600
[ JLas8 100
[_JL460 .100
[ Jra62 600
L464 600
R CRE) =B RR(PE) R L475 20.200
JL4T7 25,000
JL479 23,900
JL481 20.200
[ JL483 20,200
|_JL485 25,000
JL487 25,000
BT JL474 21,500
JL476 22,900
JL478 20.200
[ Jraso 20,200
| _JLds2 22.000
JL484 25,000
JL486 25,000
R CRE) =l HR(PE)H [ JL431 23,200
JL433 25.800
[ JLa35 22,200
JL437 22.200
[ JLa39 26,000
JL443 28.300
EATIES [ JL430 27.600
JL432 27.600
JL434 23,200
JL436 3.200
[ JLa38 7,600
JL440 7.600
FRCRE) =R HR(PE)F |_JL605 7.500
[_JL607 28.900
[ JL609 28,900
JL611 28,900
JL613 B 28,900
JL615 28,900
RIER JL606 28,900
JL608 28,900
JL61 29,300
JL61 29.700
JL61 29,700
JL61 28700
R (PA)=f RRERCPHE)F |_JL62! 27,500
JL625 27.500
JL627 28,700
JL629 28,700
JL631 28,700
| JL633 28,700
JL637 28,700
JL639 28,700
233 JL622 27,500
JL624 28,700
JL626 28,700
JL628 28,700
JL 28,700
JL 28,700
JL 28,700
JL 28,000
RR(CRE)=21 RRERCPHE)F |_JLes7 7.700
JL689 7.700
JL691 7.700
JL693 7.700
JL695 7.700
JL697 | 2 27,700
EEES JL688 | 2 28,700
JL6%0 | 2 27,900
JL692 | 2 27.900
JL694 | 2 28,300
JL6% | 2 28,300
JL698 | 2 28,700
IR EFFR)=LE (¢ 3 JL2901 | 2 21.800
JL2903 | 2 21,800
JL2905 | 2 23,700
JL2907 | 2 19,400
JL2909 | 2 18.400
FLOR (3 F %) S| _JL2900 | 2 19,200
JL2902 | 2 25,800
JL2904 | 2 25,800
JL2906 | 2 18.400

JL2910 | 218 18,400 | 25800 | 16,000




e
M58 ERU0A2T~11AIRHEES)
EEEAR
T0/27-31.11/5-9
=R + EMITA + FH3TB
BA BE . EEE
CRE) =L (H F &) 288 300, £:15,300, H:13,300 45 700
285 300, £:15,300, H:13,300 700
286 300, H:14,400 300
28H 500 600
[E] 600, H:14,300 000
[E] A H:15.600 400
(17 ooo 900
14400 414500, £:17.000, B:15,900 400
[ 1 £:14,800. H:15.900 400
4500 +:14,800. H:15.900 ,000
28H ,000
28H 500
28H 500
28H 700
28H 600
28H 600
28H 700
285 300
000
000
500
500
,000
,000
500
900
285 900
285 500
285 500
285 500
285 800
285 800
285 900
285 100, H:15,800 700
Z] 500, :15,200, :17.300 100
285 ooo & 15 100
B 200
700 1,800, £:19,000, H:13,500
700 | 50% 1,800 1 19,000,
200 | 51%
100 | 58%
300 | 65%
300 | 65%
300 | 65%
700 | 62%
700 | 62%
000 | 61%
800 | 57% N
:17.900. ﬁueoo Ex 15900 £:18,200 800 | 57% 900, H:17.200
000, %:25,600, £:15.900, H:21,100 600 | 55% 00, H:20,100
0 9 600 | 55%
300 | 60%
000 | 59%
000 | 59%
400 | 554
400 | 55%
000 | 6d%
000 | 6d%
300 | 65%
300 | 65%
400 | 63%
000 | 6i%
100, % 21,400, 17,000, 20700 900 | 59% 000, H:19,500
500, £:22.900, :16,500, F:21400 000 | 56% 500, H:20,400
000 | 56%
400 | 58%
300 | 58%
300 | 65%
R CHE) =8 Gh5) 600 | 77%
I 000 | 59%
1,500, % +:23,200, F:19.200 600 | 53%
321 500 % 1:23,200, A:19.200 600 | 53%
X 600 | 57%
oo A:21,100, & 3:21,400, A:19,000 500 | 57%
14,400, 1:17.400 700 | 68%
13,900, £:16,900 200 | 69%
8,900 9,800 79%
29, 8,800 81%
3:14,600, :16,700, £ H:16.900 14200 | 69%
4,600, :16,800, %:25,900. T H:16,900 9,500 79%
10,600, F:16,400 13700 | 70%
[F H:8.900 9,800 79%
[A:9.300, £ £:8,900 9,200 80%
79%
66% 300, H:16.900
60% 200, H:20.200
5% ,200, :18,500, H:20,200
285 50%
285 00, £:22,000, £:19.300, H:23.200 55%
285 1:19.800, . 5:22.400 58%
285 0500, % £:10,700, H:22.000 77%
288 800, £ £:9,700, H:15.000 80%

KR (75 =4#LI% (i Fk) 288 400, 1:23,400, H:14.500 65% 1:16,300, 1:22,400, H:14,200
285 400, F:22,200, H:16.900 65% | 74:16.300, 11,400, F:21,200, H:15,800
285 £ H:12000 78%

285 1 00, %:19,800, H1:15.400. 116,500 73% 00, B:14,900
285 16. [5:9.800. % £:18,900, H:13.800 65% 200, & 3:17,400, A:13,200
28E1 81 | 11 13,800, £:18,900, £:13.100, H:15,400 76%
28I AT |16 400, H:21,800 65%
28EI AT |16 400, H:21,800 65%
KB (BEE)=4LIR (3 F i) 28EAT | 12 :13,300, £ £:20,100, H:14,300 74%
285 £ H:12000 79% |2
285 12,000 81% 000, £ H:11,600
285 10,100 81% |£:8000, £ H:9,800
285 %:9,700, F:9,900, H:12.100 79% _[£:9.000. £:9.800. H:11,300
285 7,400, £:15.900. H:16.200 65% 4,700, 1:14,900, A:14,200
RO (B =il (R ER) 288 19,000, H:17.400 53% £:18,900, H:16.400
285 .90 77%
285 500, B:10,400 76% | A H:9.500, % 1:8.800
285 0,000, H:22,000, £:18.000 50%
ABM=HLIR (37 F %) 28E B | 76%
285 7 78%
285 7 78%
285 7 78%
HE( 7 72%
285 6 69%
285 65% 68%
285 67% 70% 115,700, F:14,300
285 67% 70% 15,700, £:14.300
285 74% 75%
HR CHE) =8Il [ 2687 7i% 725
285 68% 70%
285 69% 7%
285 68% 70%
285 67% 69%
285 69% 71%
285 72% 73%
285 72% 73%
TR G A 286 58% 68%
285 53% 50%
285 58% 66%
=] 57% 66%
=] 60% 65%
285 56% 66%
288 63% 68%
288 63% 68%
285 6% 66%
285 6% 66%
285 56% 61%
285 6% 66%
R (PH)=RF 288 68% 73%
285 7 62%
285 69%
69%
69%
0. & 69%
13900 }\isann £:17.900 69% 13900 KK:13.800, 15,700
13,900, 16,600, F:17.000 69% :13,800, £:15,200
I E N 69 ES
50% 19,000, B:21,600 64%
59% | H%:19.000, H:21,600 64%
67% | B:13,000, J¢:15,100, £:17,100, H:17,500 7%




[ %555 EER(10A27T~11AIBEES)

BREAR 2019/09/21 ~

10/27-31,11/5-9

=] B8 ERITA - — FWITB
| maw | EAE . BRE | wizim
HR(PE) % | JL623 14,600 45 00 73%
15,500
16.500
15,500
15,500
15,500
16.800
17.100
AR 13,900
17900
15,500
15,500
15,500
15,500
15,500
[V 15.100
RRCRH) =25 HERCAE)FE| J 15,500
28EE | 13,900
28EE | 15500
28EE | 15500
28E1 | 15500 auu ﬁmoo H:18,000 600 | 67%
28 EI A | 15,500 5,100, %:17.500, F1:18,500 600 | 67%
EEE 28EE | 15500 900, +:17,000, H:14,000 ,900 66%
28EE | 15500
28 EI A | 15,500 200, £:15.700. H:15.000
28EE | 15500
28EE | 15500
[ J 28H AT | 15,500
RR(PE) R 28EE | 11,200

28EE | 14.000
28EH | 18,900

28EE | 13000

28EE | 13000

L¢ 28EE | 12,600
28EE | 13000

28EE | 13,000
BERES L 28EE | 11,300
L¢ 28EE | 13100
L¢ 28EE | 12100

L¢ 28EE | 13000
28EE | 17.100

28EE | 17.100
28EE | 13300

28EE | 13000

BEE(PE) =R (FFREEE (PR _J 28H AT | 15,700
28EE | 15300
28EE | 12,400
28ERI | 9,500
28EE | 11,600

000, 0
HLIR (B F2%) 3 _J 2,800, 1 13, 200 [E] 11 800 700, £:13,100

28E R | 12,500 70% #:13,100, £:13,600, H:12.700 .900 72% 700 113200

28E81 | 15900 | 626 | 16,600, £:16.400. ) 800 | 624 |
28R | 15100 | 6% 5,400, £:12.300, H:14,700 000 | 64%
ARG TR -LE nax 28681 | 0900 | 69% 9,500 70%
28E181 | 12200 | 62% ||oo 112400 H:11,900 12,000 | 62%
28681 | 0900 | 69% 9,500 70% |
28681 | 12700 | 60% zsoo ﬁIEZDD 12,000, 513,700 12300 | 6i%
28681 | 11.700 | 63% 500, $:14,200, F:11,000, H:12,700 11300 | 65%
AXEIETEZSE I 286181 | 9,400 71% 200, %:8,700, +:8.900, H:9,600 800 72%
28R | 9900 | 69% 10,100 500 70%
28R | 9900 | 69% 10,100 500 70%

28E AT | 10,600 67%
28EI AT | 10,600 | 67% |
28EI AT | 13700 | 73% |

+14,000, £:10,300, H:11.700 500 67%
4,000, £:10,300, H:11,700 500 67%
:13,100, £:15,000, H:14.400 700 75% _|@:1

HRGTFR)-ES 600, 113500 F.13,000

L85
[FLO% (35 T 2%) 3| 28E Rl | 13100 74% :14.400 700 75% ,900, B1:13.900




I£5825| BEXR(11B10~208E %)

EEHEAR 2019/09/21 ~

T1/10-20
= 23 ER/ITA _ FETB
¥ | an 7 B ey
| BAM | T A #3|% "
HRE(FHE) BERFEE R J 28H% | 14100 458 68% 13,000, :16,300
[J 2881 | 14,100 458 68% 13,500, £:17.900
[J 28 #1 | 20300 458 53% 19,800, %:20,300, £:19,000, H:14,600
[J 2881 | 21,600 458 50% 21,100, %:21,700, 1:18,900, B:14,600
J 2881 | 21,600 458 50% 21,100, £:21,700, 1:18,900, B:14,600
[J 2881 | 21,200 458 51% 21,200, £:19,700. H:15.100
J 2871 | 17800 458 58% 17,300, % 1:19,300. H:14,800
J 28B#1 | 15700 516,300 458 64% 14,300, 7K:17.400, %:17,200, F:17.100. H:15,300
[J 2881 | 15300 0 458 65% 14,600, %:17,700, +:15,600, H:15,800
[J 28E#1 | 15300 458 65% 18.200, +:15,300, H:17.200
[J 2881 | 16,700 458 62% 15,900, %:18,300, +:15.300, H:17,200
[J 28BH1 | 16,700 458 62% |£:18,300, +:15.300, H:18,600
[J 2881 | 17000 458 61% 18,000, %:19,600, +:15.600, H:18,700
[J 2871 | 18,800 458 57% 23,200, £:14,900, H:19,100
[J 2881 | 18,800 458 57% |%:19,200, +:14.900, B:16,800
[J 2881 | 19,600 458 55% 22,700, £:14,900, H:19,800
28 #1 | 19600 458 55% 22,700, F:14,900. H:19,800
wExE | J 17,300 458 60% £:13,300
[J 17,900 458 50% 300
[_17.900 458 50% .
[J [ 19,500 458 55% 100, +:18.300. B:15.100
[ 19,400 458 55%
[ 16,000 458 64%
L: [ 16,000 458 64%
L: [15.300 458 65%
L: [15.300 458 65% 000
[ L [_16.400 458 63% 119,300, £:16.700, H:18,700
[ JL320 17,000 458 61% 100, H:18,700
[ JL322 A 17900 458 59% | A:17,100, £:18.800. +:16,000, H:18,700
[ JL324 [ 19,000 458 56% | K:18,300, 7:18.500, %:21,900, +:15,500, H:20,200
[ JL326 [ 19,000 458 56% | 7K:18,300, 718,500, %:21,900, F:15,500, H:20,200
[ JL328 [ 18,400 458 58% | K:18,000, %:21,600, +:14,300, H:20,100
[ JL330 [_18.300 458 58% & 14,300, 8:19,200
[ JL332 [15.300 458 65% 700, F:13,100, H:17.400
RRPE BN | R () 5| JLs51 | [ 12,900 [ 4587 72% 700, 13,800, %:14,700, +:15,000, H:13,000
[ JL553 [ 13,300 458 71% &
[ JL555 [ 13,000 458 72%
L557 [ 14,300 70%
[CIES L552 [ 14,800 69%
[ JL554 [ 13,000 72%
[ JL556 [ 12,600 00. 00, £:12.900, H:15.100 73% 713,300, %:14,200, F:12,100. H:14,700
[ JL558 [ 11,900 600, +:12,900. B:15.100 74% 500, %:14.200, £:12,100, H:14,700
HFE(PE)=K5 BR(FE) R [_JL661 [ 16,700 58% X 500, % 1:15.400, H:12.200
[ JL663 [ 18500 | 54% 000, F:21.200, H:18.200 000, %:17,500, +:18.500, B:15.900
[ JL665 [ 15900 | 60% 0
[ JL667 [ 15600 | 61%
[ 16,100 | 60%
[ 15800 | 60% 600, H:19,800
K5 [ 15900 | 60% 800
[ 15900 | 60% 800
1
1 14,000, H:14,700
[ 17 7.200, +:15.700. H:18,300
1
R (FH)=Ri& RERCAE) | _J [ 1
1
1
1
1
[ 1
ELCE [ 1
1
1
L 1
L [
| JLGI6 | 1 458 1
RR(AE TR CAE) % |_JL623 458 000
[ JL625 458 900
[ JL627 458 400
[ JL629 458 500
[ JL631 458 500
[ JL633 458 800
[ JL637 458 100
L639 458 700
[ JL622 458 500
[ JL624 458 900
[ JL626 458 500
[ JL628 458 900
[ JL630 458
| _JL632 458 400
[ JL634 458 ., H:17.
| JL638 12,900, £:16,000, H:15,600
RRCAE)=ERE |RRCAEH 72% :16,600, 1:17.400 600
67% #:16,600, £:19,600, H:15,000 4,600, +:15.600
68% 00 7.000, £:15.100
70% 16,100, H:16,800
70% 16,100, H:18,000 ,100
70% 800 100
70% 7,000, B:18.100 600, H:14,600
70% :19,000 1600, H:12,600
BERER 72% 16,600 800
68%
70%
70%
70%
59%
69%
70% 17,100
HLRFFR)=E [=E 3 69% :10.100
57% 800, k:11,100, 7K:12,700, +:15,000, H:11,300
69% :10,100
62% | 7KA:13,200, %:15,500, £:12,500, B:13,700
HLOR (37 F %) S{_J
11,100
11,100
HMEFFR) =S LSS i | 13,600
WLOR (37 F 58 ) |_13.100
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11/21-30
=Gl ki £ FEFITA FHIIB
e ws wam | 20
AN #31%E
|_JL593 [ 28 BRIl .300, H:12.400 11.700 69%
[__JL501 28E A 11.700 69%
| _JL503 | 28 BRIl 12.400 87%
[_JL505 | 28 BAT 14,100 62%
|_JL507 [ 28 BRIl 14.400 62%
[_JL509 | 28RN 14.800 61%
|_JLS11 28 B Al 13.400 64%
[_JL513 | 28 BAT 13.400 64%
[ _JL515 [ 28 BAIT 13.400 64%
[_JL517 | 28 BAT 13.000 65%
[ _JL519 [ 28 BRIl 13.000 65%
[_JL521 28E A 13.400 4¢
| _JL523 [ 28 BRIl 13.400 4¢
[_JU525 | 28 BAT . H:16.700 13.600 4¢
[ _JL527 [ 28 BRIl . H:17.100 14.600 1
[_JU520 | 28 AT 17.100 14.600 il
531 28 B Al 11.700 69%
L% (3 T2) H__JL500 | 28E AT 15.300 59% 900.
502 | 28 BRI 16.800 55% |4 16.500. 2:17.0¢ H:14.500
1594 | 28 BRI 16.800 55% | X7K:16.500, £:17.000, F:17.800, H:14.500
[CJis04 | 28 16500 | 564 | k7K:15900, F:16.90
506 | 28 BAT 15.500 59%
508 | 28I AL 13000 | 65% o 15200
[_JLs5i0 | 28 BAT 13.000 65% 3 )00, +:14.700, H:15.800
[CJisi2 | 28EdT 14,500 100, % +:14.600. B-15.90¢
514 | 28 AR 14.700 900. 17.000
[CJis16 | o8B 14,700 17,500
[ _JLs5i8 | 28 BAT 14.500 16.900
[JL520 | 28 BT 14,500 16.900
522 | 28 AR 14.500 16,900
524 | 28 E AL 13700 | 63%
1526 | 28 BIA 13.700 63% 16,600
[CJis28 | a8 BT 00. 7:13.200. F:1 13,100, B:15.800 12700 | 66% 15,500
| JL530 | 28 BAT 11,700 69%
WRCAE)-8E | BUR (3% | JL303 | 28HAT 13100 | 68%
1305 | 28 AR 13.100 68%
307 | 28E AL E3 15,600 18900 | 54%
309 | 28 AN 15,600 20,400 50%
[JLaii | seEdn 5,600 20400 | 50%
[_JL3i3 | 28 BAT 19.900 52%
[CJLais | o8B 16600 | 60%
[_JL317 | 28 BAT 0. 16.300 14.300 65%
[CJLaie | o8B 14300 | 65%
L321 28E AT 14.300 65%
[JLa23 | 28T 15700 | 674
|_JL325 | 28 BAT 15.700 62%
[JLa27 | 28T 0 16400 | 60%
1329 | 28 BA . H:20.900 17.800 57%
[JLaai | ssEdi §:20200 17800 | 57%
[_JL333 | 28 BAT 18.600 55%
335 | 28 E AL 00, E] 22000 18600 | 55%
EER 1300 | 28 B 16.300 60%
[JLa02 | 28 Edi 17600 | 57%
[_JL304 | 28 AT 17.600 57%
[JLa06 | 28 Eai & 16.100 18400 | 55% A
1308 | 28 AR 18.400 55% |#:19.600, +:19,000, H:15.100
[JLaio | o8Bt 15000 | 64% 16,800 H:15.800
[_JL3i2 | 28 BAT 15.000 64% 900.
[CJLsi4 | s8EaT 14300 | 65%
[_JL3ie | 28 BAT 14.300 65%
318 | 28EAL E 20600 15700 | 67%
[ _JL320 | 28 BAT 16.700 59%
[JLa22 | o8B 8 22200 18300 | 55%
1324 | 28 AR N 100, H:21.800 18.400 55%
[JLaz6 | o8B 900, £:1 21800 18400 | 55%
| _JL32s | 28 AT 18.200 56%
[JL330 | 28EaT 300, 521,000 17300 | 58% 115301
| JL332 | 28 BAT 5,000, H:19.200 14.300 65% 700, 1:14,000, H:18,000
TR (FIE) 5 |_JL565 | 28 AT 3:16.500 13100 | 724 600, 15,900, H:15.400
[_JLs67 | 28 BAT 3:18.200 14.400 69% 5 16.1 600, H:17.000
[JL569 | 28 AT 18,100 14700 | 684 |$H:16.700, £:17.500
ZEAF | _JL562 | 28EH AT 1:17.000 13.700 70% <:14,200, £ H:15.700, F:14.500
[ U564 | 28T % H:17.000 13700 | 70% S E.15.70
| _JLs66 | 28 BAT £:13.000, £:12.200, H:15.000 11.300 75%
HRCAE)BN | Bm (E) % | JU551 | 28HAL ES 4,300 15300 12500 | 77%
1553 | 28 AN £:16.900, 1:18.200, H:14.200 12,700 1%
[CJLs55 | o8 Ea H:15500, 14800 12200 | 77%
1557 | 28 AT H:15,500, +:14.800 13.200 70%
(IS 552 | 28 AL 13900 | 69%
L554 | 28 ELAIT 12.200 2%
[JL556 | a8 Ena 44 15500 12000 | 73%
| _JUss8 | 28 BAT 212,500, +:11.800, H:15.500 11.300 74%
WR(AE)-An | JoRCRE) S| JL66l | 28EHAL I 515500 K %:16.700 14200 | 64%
1663 | 28 AR 200, A:19,500, £:20,000, F:21,000, H:18.000 16.600 58%
[Je65 | o8B 4500 | 64%
|_JL667 | 28 BAT 14.600 63%
[JL669 | 28T 14500 | 64% H.17500
L671 28EH AT 14.300 64% 14,200, £:16.400, 1:14.900, H:17.900
R5% | _Jie6z | 28En 13700 | 66% 15200
[_JLe6a | 28 BAT 13.700 66% 14.200. I|SZOU
[ JL668 | 28E15T 14700 | 63% 0
L1670 | 28 AR 14.700 63%
672 | 28661 16,900 | 58%
L1674 | 28 AR 15.000 62%
R (PE) =R B (FE)f[_JL60s | 28BRT 12.300 725
1607 | 28 EAT 16.700 62%
[ JL609 | 28E15T 14600 | 67%
[_JL611 28EH A 14.500 87%
[CJL613 | 28EAT 13500 | 69%
L615 | 28 AR 000, @‘I HDU H:20.300 13.500 69%
T 06 | 28EAL 14500 | 67%
608 | 28 HAT 000 14.500 87%
[CJLe10 | 28EAT 16000, F:18.100 14200 | 67%
[_JL612 | 28 AAT .000, A £:18.600, £ ZU 000, H:21.500 16.200 63%
[Jtei4 | 28EAT 000 A £:18 21,500 16200 | 63%
L616 | 28 AR 100, H:18.000 12.500 1%
R (HE)FEA | BoR CRE) S| JL623 | 28 AL 100, £:16,600 12000 | 71%
|_JL625 | 28 BAT z: 1 . £:17.500 12.900 69%
[Jte27 | 28E8T 7,000, %:17,900_£:19,000 15000 | 64%
[_JL629 | 28 BAT 14.300 65%
[CJL631 | 28EsT 14300 | 65%
|_JL633 | 28 AAT 13.800 66%
[CJt6s7 | 28EAT 15000 | 64%
1639 | 28 AR 15.200 63%
WA | J622 | 28880 14500 | 65%
1624 | 28 AR 16.700 59%
626 | 28E1A1 4500 | 65%
628 | 28 AR 13.500 87%
630 | 28E1A1 13,700 | 67%
1632 | 28 AR ﬁ 17.000, H:19.500 14.500 65%
[Jt6sd | 28E1AT 20, 20800 14500 | 65%
1638 | 28 AR 100, 13.100 68%
R (PE) == R (PE)R[_JLes7 | 288 R 13,300 68%
[_JL6ss | 28 BAT 14.300 85%
[JL691 | 28E1sT 14300 | 65%
[ _JL693 | 28 AAT K 13.500 87%
| _JL695 | 28 BAT 000, #:16.500, H:18.600 14.500 65%
1697 | 28 AAT .500, H:19.500 14.500 65%
5 | _JL688 | 28HAT 800, £:17.000 14,500 65%
[ _JL690 | 28 AAT 14.500 65%
[ _JL692 | 28 BAT & 8:16.300, £:15.800 13,500 67% £:14, 1 13.900
[ JL69a | 28 AAT . H:17.000 14.500 65% 4,100, A:13.700, £:15.000, H:16.000
| _JL696 | 28 BAT 5.600, H:19.000 14.500 65% . H:18.000
1698 | 28 AAT H:17.500 14.500 65% \5500 H:16.500
B (HE) R 28 BRI 9,700 78% |12
L¢ 28E A 12,600 71% | &:14.600. £:15.600
28E A 12.100 £:14.100, £:15.100
L¢ 28E A t:1 0. H:16.800 11.100
[J 28 B 11 100, B:18,000 11.100 100
[_JLB51 28E A 16.000, B IBBDB 11.100 100
|_JL653 | 28 BAT 17.000, H:18.900 10,600 600, H:14.600
1655 | 28 ELAT 17.000. H:19.000 10.600 600, H:12.600
EREE 28R 115,100, £:16.600 9,800
L¢ 28E A 100, 1:18.200 11.600 600
28R 100, £:17.500 10600 600
L¢ 28E A 00 11.100 .100
28E A 6. 1 18.200 10,600 600
[ _JLes0 | 28 AAT %:18.000. £:17.000, H:19.300 11.600 X
652 | 28 BRI .500, H:18.200 12.100 100, H:16.300
L1654 | 28 AR 7.500, H:18.200 11.100 100, H:14.100
R FTR) S 5% | JL2901 | 28HAL 10.100 9,500 0
| Jr2903 | 28 AAT k7K:11.100, £:12.400. H:10.800 11.400 64% :10.700, £:12.000. H:10.400
| _JL2905 | 28 BAT 10.100 9500 70%
[ Jr2907 | 28 AAT 5.200, £:12.000, H:13.700 11.800 63%
2909 | 28 A 200, 11,000, B:12.700 10800 | 66%
LO% (37 F2) #_JL2900 | 28EA1 | 8.300 :9.000. + H:8.700 8.200 74% 8,800, + H:8.500
[ _JL2902 | 28 BAT 9.900 0.100 9500 700
[ Jr2904 | 28 BAT 9.900 0.100 9.500 00
2006 | 28R | 11100 | 65% |JK:10,600. %1380, 10,300, H:13700 10,700 200, % 113,400 9,900
2910 | 28E A1 11.100 65% | X7K:10.600, #:13.800. £:10.300. H:13.700 10.700 200, 2 H:13.400. 1:9.900
HIREFFR)-LES e 3403 | 28 E1AI | 13.700 73% 12,600 ,900
[FL38 (27 8518 Ji3406 | o8BI | 13100 | 74w 12,500 600,  H:13.800

JAL
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TESE5 ERR(12A1~5BERS)
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12/15
=M % - RFIMTA = E— FfFIM7B
ER " EEHR it W&
| AR A LEES
HRE(FHE) BERFEE R J 28H B 74% 11,000
J 28 B8] 12000 | 72% 11,500
[J 28BAL 21200 | 51% 20,700 H:13,200
[ J 2818 4508 | 23200 | 47% 22,700, H:13,200
J 28 B8] 4508 | 23200 | 47% 22,700, H:13,200
[ J 28 B8] 45087 | 22200 | 49% 21,700, H:13,700
J 28 B8] 45087 | 19400 | 56% 7,100, B:13,700
J 28 B8] 45H 61% | ] 514,200
[ J 2818 45H 69% 4,200, :15.200, H:15,700
[ J 28 B8] 45H 69% 4,200, :15.400, H:17,700
[ J 28 B8] 45H 65% 5,600, 7:17.600, £:18,200
[ J 28 B8] 45H 68% | 14,600, :25.800, H:19,200
[ J 28 B8] 45H 61% | A2 H:18,600
[ J 2818 45H 63% 6,700, 7:25.800, B:21,200
[ J 28 B8] 45H 63% | H:16,700, :25.800, B:21,200
[ J 28 B8] 45H 62% | 817,500, A:25.800, B:21,200
28 BRI 4585 62% | A1 X 21,200
wEE [ _J 28 BRI 45H 61% | AJK:16.700, H:14,000
[ J 281 8] 45H 65% | KoK:14.700, H:12,200
28 BRI 458 60% 14,700
[ J 281 8] 458 50% 1,500, B:14,700
2808 | 2 4585 50% 500, H:18,300
28818 | 1 458 66% 400, B:15.700
L 28818 | 1 458 66% 400, B:15,700
L 28687 | 15.200 67% 700, B:15.700
L 28681 | 17.00 63% 700, B:18,900
K 2887 | 18,00 61%
| JL320 | 28EAT | 19.300 58%
| JL322 | 28EAT | 16,300 65% 800, B:21.200
[ JL324 | 2641 | 18.200 61% 700, H:21,200
| JL326 | 267 | 19,200 58% 700, H:21,200
| JL328 | 28E AT | 19.200 58% 700, B:21,200
| JL330 | 28E AT | 19.200 58% 0. 5:20900
| JL332 | 28EAT | 14.200 70% 00, B:17.000
RECRE)=Z#3 FR CRIE) %[ _JL565 | 28E A1 [ 14.400 12%
| JL567 | 28E AT | 15,300 70%
L569 | 28 1A | 16000 70%
EXEE] 562 | 28E18j | 15900 70%
| JL564 | 28E AT | 15500 70%
| JL566 | 28E AT | 13.100 75%
B CHE) =) BR(F@)R[_JL551 [ 28887 [ 13,100 73%
| JL553 | 28E AT | 14.900 70%
| JL555 | 28E AT | 13,600 72%
L557 | 28I | 14600 70%
TEIIF Ls52 | 28HF1 | 13,600 | y
[ _JL554 | 281 | 13000 | 72% 600, H:14.900
[ _JL556 | 28EA1 | 12400 | 73% 700, H:15,600
| JL558 | 28EA1 | 12400 | 73% 700, H:14.700
R (HE) =%k RECRE) S| _JL573 | 28HF | 12900 12% 400
L575 | 28R | 13900 | 69% 100 300
L577 | 2881 | 13900 | 69% 600 300
1579 | 28H@j | 13,100 | 71% 00, 500
IR L570 | 28EEy | 14300 | 69% 00, 700
L572 | 28H8j | 13,100 | 71% 600, 500
L574 | 28H8j | 13,100 | 71% 600, 500
L576 | 28H@j | 12700 | 72% 00, 900
B F GFME) 3| _JL231 | 28EAT | 12,600 | 65% 300 400
[ JL233 | 28ERI | 12600 | 65% 800 400
[ JL237 | 28ERI| 12800 | 65% 300
| JL239 | 28FAI | 14,500 | 60% | H:13,400 100 H:12.300
L241 | 28/ | 11,700 | 68% 400
FL%E | Jl232 | 8EAI | 11,700 | 68% 500 H:11.400
| JL234 | 28ERI | 14900 | 59% 400 700 H:12.300
[ JL236 | 28ERI | 12600 | 65% 800 300
L240 | 28/ | 14200 | 61% 400 200
| JL242 | 28ERI| 15300 | 58% 400 800
RR(AH)-LE | ®m (FMH) 5| JL253 | 28AA] | 12,000 | 65% 100, H:13.700 900
[ JL255 | 28EA1 | 13900 | 62% 100, H:13.700 900
| JL257 | 28HE | 17.600 52% ,700 100
[ JL250 | 28RN | 17.000 | 54% 700 600
[ JL261 | 281 | 13800 | 63% 300, H:14.100 700
[ JL263 | 28ERI | 12800 | 65% 400 000
[ JL265 | 28E Rl | 14300 | 61% 200 700
L267 | 2841 | 13800 | 63% 500 700
JRB% | _JL252 | 28Hgi | 13200 | 64% 700
[ JL254 | 28ERI| 15200 | 50% 700
[ _JL256 | 28E#1 | 12900 | 65% 400
[ JL258 | 28ERI | 12900 | 65%
| JL260 | 28HE | 12800 65% 00
| JL262 | 28HE | 16,100 56% 00
| JL264 | 28HE | 16400 00
| JL266 | 28EEI [ 1 00
HR(PE)=-ES ERCRE) %[ _JL453 | 28HA1 | 1 00
| JL455 | 28E@I [ 1 00
457 | 28H8T | 1 00
28 AN | 1 00
28 AN | 1 00
28 AN | 1 00
28 AN | 1 00
EE% 28HAT| 1 00, H:13.600
28 AN | 1
28 AN | 1
28 AN | 1
28 AN | 1
28 AN | 1
[ J 28HFT [ 1 B:13,600
HR(HE)=RS EREBE | J 28HFT | 1
28 AN | 1
28 AN | 1
28HFT [ 1 B:17.100
28HFT [ 1 ,000, H:17.500
28HFT [ 1 ,000, H:18,500
RIS L 28HR1 | 1
28 AN | 1
28HFT [ 1 300, H:18,500
L¢ 28E B ,000, H:20.300
L¢ 28E B ,000, H:20.300
L616 | 28EAT
HLRFFR)=E fugse [ JL2001 | 28EHAT 100
[ JL2903 | 28 E AT 000, H:14,600
| JL2905 | 28
| JL2907 | 28E R
L2909 | 28E A
HLORL (37 F %) $_JL2900 | 28 E A
| JL2902 | 28E ]
[ JL2904 | 28 HAT
L2906 | 28 BAT 400, H:14,500
12910 | 28 AR 400, B:14,500
HMEFFR)=LE L% L3403 | 28 A&l
LOR. (37 F 5% 3406 | 28 E AT
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%
= 23 ERITA FETB
5 an B %
| BAM | T EEES .
RR (AH) RROBE|J 266181 | 23,800 28% 11,600, JUK:11.000
[ J 2881 | 26,800 1% 12,000, K 7K:11.500
[ J 28871 | 27.800 45H 39% 21,000, % 7K:20,700
[ J 28871 | 27.800 45H 39% 23,000, 7K:22,700
J 28871 | 27.800 45H 39% 23,000, 7K:22,700
[ J 28871 | 27.800 45H 39% 22,000, 7K:21,700
J 2881 | 20,00 45H 56% 7.100, £ 1:26.800, H:13.700
J 286871 | 18,00 45H 61% % 125800, H:14.200
[ J 286871 | 14.700 45H 69% 200, £ 125,800, B:15.700
[ J 2881 | 14.700 45H 69% 400, # F:25,800, H:17.700
[ J 28681 | 16.100 45H 65% 600, % 1:25,800, H:18.200
[ J 2881 | 15.100 45H 68% 8,600, 125,800, H:19.200
[ J 28871 | 17.800 45H 61% 25,800, H:18,600
[ J 28871 | 17.000 =] 63% 1,700, % +:25,800, H:21,200
[ J 2881 | 17.000 63% 1,700, % +:25,800, H:21,200
[ J 2881 | 17.700 62% 1,500, % +:25,800, H:21,200
28681 | 17.700 62% £ 21,200
wEE [ _J 2887 | 26,800 16,900
[ J 2887 | 26,800 15,200
2887 | 26,800 8 7
[ J 2887 | 26,800 K:21,600, £:22,000
2887 | 26,800 500, 7:21,600, %:21,800
2887 | 26,800 14,900, £:16.900
L 2887 | 26,800 6,900
L 2887 | 26,800 0
L 2887 | 26,800 0
K 2887 | 26,800 £:20.200
| JL320 | 28E AT | 18,800 21,300, T H:26.800
| JL322 | 28EAT | 15800 23,000, T H:26.800
| JL324 | 28EAN | 17.700 »:21,500, = H:26,800
| JL326 | 28E AT | 18,700 »:21,500, = H:26,800
| JL328 | 28EAT | 18,700 500, 1 H:26,800
| JL330 | 28EAT | 18,700
| JL332 | 28EAT | 13,700
FRCAE)=%iB3 | R CRE) %[ _JLs6s | 28E AT | 14.400
| JL567 | 28E AT | 15,300
L569 | 28E 81 | 16,000
EXEE] L562_| 28E R | 15900
| JL564 | 28E AT | 15500
| JL566 | 28E AT | 12.100
R GAE)IB)II | B GAE) 3| _JL551 | 28E181 | 13,100
| JL553 | 28E AT | 14.900
| JL555 | 28E AT | 13,600
L557 | 28E81 | 14600 ¥
JCIES 552 | 288 | 13,500 700, £
| JL554 | 28E AT | 12,900 0
| JL556 | 28E Al | 12,400 0. £
| JL558 | 28HE | 12400 NES
R (HE) =%k RECRE) S| _JL573 | 28HF | 12900 NES
L575 | 28 A | 13,900 ,300 1% 800, +:1
L577 | 28EAI | 13900 300 | 71% 800, £:1
L579 | 28R | 13100 500 400, £
ETR 3 L570 | 28H 1 | 14300 700 0. B
L572 | 28R | 13100 500 0.
L574 | 28R | 13100 500 0,
L576 | 28R | 12700 900 800, +:12,000. H:14.300
FR (GFIE)=fE W RECRE) S| JL231 | 28HF1 | 12600 .400
| JL233 | 26E 7] | 12,600 400 12,300
| JL237 | 26E7] | 12.800 300
| JL239 | 28E Al | 14,500 ,100 £ 8:12.300
L241 | 28HR1 | 11,700 400
ELsE | _JL232 | 28EAG | 11,700 500 £ H:11,400
| JL234 | 28E AN | 14.900 700 £:13,300, T H:12,300
| JL236 | 26E 7] | 12,600 300
1240 | 28R | 14200 200
| Ji242 | 26E7] | 15300 N 800 N
RR(AH)-LE | R ()| JL253 | 28AA] | 12,000 X X 900 100, T H:12,600
| JL255 | 26E7] | 13,900 100, £ H:13,700 900 5 100,  H:12,600
| JL267 | 26E7] | 17,600 100 | 54% 600
| JL269 | 28] | 17,000 600 | 55% 600
| JL261 | 26E 7] | 13,800 900 K:13.700
| JL263 | 26E 7] | 12,800 000 2,600
| JL265 | 26E 7] | 14,300 700 4200, F B:11,600
1267 | 28R | 13800 700 4200, T B:11.400
EB% | _JL252 | 28EA7 | 13.200 0 12,600
| Ji254 | 26E7] | 15200 12,600
| JL256 | 26E 7] | 12,900 12,900
| JL268 | 26E7] | 12,900
| JL260 | 28HE | 12800 00, + H:12,600
| JL262 | 28 @I | 16,100 00, + H:12,600
| JL264 | 28HE | 16400 400, + H:12,600
| JL266 | 28HA | 16400 400, + H:12,600
R (HE)-BE T (FIM) 5| _JL453 | 28EEY | 14,900 300
| _JL455 | 28E AT | 14,900 300
457 | 2877 | 13,200 .300
28HB | 13200 .300
28HF | 14,300 .300
28H B | 14,700 .300
28HF | 14,700 100, % H:10.300
BEEE 28 H1 | 13,000 300
28HBI | 13200 .300
28HF | 13200 .300
28HBI | 13200 .300
28HF | 13200
28HF | 13200
[ J 28HF | 13200
HR(HE)=RS EREBE | J 28 AT | 14600
28H B | 18500
28H B | 15500
28H B | 15500
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JL637 | 558 2700 | 69% [F :13,000, 7K:13.200, %:13.900, H:14.700
JL639 | 558 3900 | 66% |XkA e +£:13.100, H:15.800
233 JL622 | 558 3100 | 68% [k 100, +:15.700
JL624 | 558 4,400 | 65% 15,200, H:15.100
JL626 | 558 3400 | 67% 14,800, B:15.100
JL628 | 558 3400 | 67% :13,200, %:14,100, £:13,000, H:14,700
JL630 | 558 3400 | 67% 113,200, £:14.100, F:13.000, H:14.900
JL632 | 558 3100 | 68% 14,700, H:15.200
JL634 | 558 3.100 | 68% 14,700, H:15.200
JL638 | 558 2,000 | 71% g
R CRE)=2h TR CFIE) % |_JL687 | 558 2100 | 71% |4
JL689 | 558 3,100 | 68% |4
JL691 | 558 3400 | 67% [:X:13.100. &1 H:13.900
JL693 | 558 3400 | 67% |%:13,300, 7K:13,100, H:14.400
JL695 | 558 3400 | 67% [X+:13.100. 7K:13.200, £:14.200. H:15.200
JL697 | 558 3400 | 67% |%E:13100, 7k:13,200, £:15200, H:15.800
EEES JL688 | 558 3400 | 67% [A:13.100. 200, +:15.000
JL690 | 55 13,100 | 68% |X:15.100, k:
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JL694 | 55 13.100 | 68%
JL696 | 55 13.100 | 68%
JL698 | 55 13400 | 67%
ER(CPAE)-ERE RRECPE)F |_JL641 | 55 .000 79%
JL643 | 55 400 78%
JL645 | 55 .900 77
JL647 | 55 ,900 77
JL649 | 55 .900 77
JL651 | 55 ,900 77
JL653 | 55 400 78%
JL655 | 55 10,100 | 77%
BERB% | _JL640 | 55 9500 78%
JL642 | 55 10,100 | 77%
JL644 | 55 400 78% | &
JL646 | 55 ,900 7% | K
JL648 | 55 400 78% | X:14.900. H:10.400
JL650 | 55 400 78% | X:14,900, H:10.400
JL652 | 55 10.400 | 76% [X:11.300. %:11.400, H:12.400
JL654 | 55 9,900 77% | k£ H:10.900
ALIR TR =LE e % JL2901 | 55 8,500 73% |+ H:8.700
JL2903 | 55 10000 | 69% [+:10600. H:10.100
JL2905 | 55 8.500 73% |+ H:8.700
JL2907 | 55 12700 | 60% |£:14,900. £:12,600, A:
JL2909 | 55 11.700 | 63% [£:13.900. F:11,600, H:12.200
FLER (37 T 2%) 3_JL2900 | 55 7.900 75% 200, H:8.100
JL2902 | 55 8500 73% |+ H:8.700
JL2904 | 55 8,500 73% |+ H:8.700
JL2906 | 55 10.000 | 69% [£:10.300. £:10.100, H:10.600
JL2910 | 55 10000 [ 69% 10,300, +:10.100. H:10.600
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55 300 | 67% 0,400, H:13.500
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55 500 | 69% |k 600, H:14.400
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55 600 | 73% | 112,000, B:13.900
55 1400 | 73% kA :13,200, H:14.000
Es S 55 000 | 74% [k 13100, £:14.100. £:13.300, H:12.900
55 100 | 72% 700, £:12.700, H:12.900
55 300 | 78% |JK4A
R (RE) =B RRCEE)FE | J 55 .100 75% |J) :12,500, £:12.000
55 000 [ 75% [ 12.800, £:12.100. H:11.500
55 900 | 75% |k
55 300 | 72% P
JENTES 55 700 74% KA
55 900 | 75% kA
556 100 [ 75% |F
550 500 | 76% |A 1.300, £:9.700. H:10.800
HR CRE)=HIE R CHE) % 550 400 | 74% :11,200, H:10.600
556 300 | 71 £:12.600
556 300 | 71% |4
556 500 | 71 . £:11.600
E733 556 100 | 70% :14.700, H:12.300
556 200 | 74% [KA: 14,000, £:11.900. H:13.100
556 200 | 74% KA 114,00 ,900, H:13.100
556 400 | 76% [KA: :10.700. H:12.000
RR(CRE)=K5 FR(CRE) % |_JL661 | 558 800 70% kA
556 500 | 66% [} 4,700, £:15.800. H:13.600
556 600 | 66% 00
556 600 | 66%
556 600 | 66%
556 600 | 66%
K55 550 600 | 66%
556 600 | 66%
556 600 | 66% K:13,100, H:14.600
556 600 | 66% | X:13.400. 7KA:13.100, H:14.600
556 4400 | 6a% |A 4,000, %:16.300, +:14,100, H:15.800
556 100 | 67%
RR(CRR)=RIK RE(CPE)F | _JL605 | 55H 700 73%
556 600 | 69%
556 400 | 69%
556 400 | 69%
556 200 | 70% ,000, H:15.100
556 200 | 70% ,000. H:15.100
AR 550 400 | 69% :15.000
556 3400 | 69% :15,000
556 3200 | 70% 3,400, H:13.900
556 3900 | 68% [X :13,600, H:15.800
556 3.900 | 68% |/ :13,600, H:15.800
556 700 | 73% |3
RR(CRE) =R RRER(CPE)F | _JL623 | 55H 500 72% |$
JL625 | 558 400 | 70%
JL627 | 558 00 | 68% :15.100, 1:14.800, H:13.400
JL629 | 558 3100 | 68% 115,100, £:14,700, H:13.400
JL631 | 558 3.100 | 68% 700, B:13.400
JL633 | 558 3100 | 68% 13,600, H:13,900
JL637 | 558 2700 | 69% |A 5,100, H:14.700
JL639 | 558 3900 | 66% [X :13,100, H:15.800
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JL626 | 558 3400 | 67% 14,800, H:13.900
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JL630 | 558 3200 | 68% 100, +:13.,000. H:14.900
JL632 | 558 3100 | 68%
JL634 | 558 3.100 | 68%
JL638 | 558 2,000 | 71%
R CRE)=2h TR CFIE) % |_JL687 | 558 2100 | 71%
JL689 | 558 3100 | 68%
JL691 | 558 3400 | 67
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JL692 | 55 13.100
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JL698 | 55 13.400 £:13.100
ER(CPAE)-ERE RRECPE)F |_JL641 | 55 000
JL643 | 55 .400
JL645 | 55 .900
JL647 | 55 ,900
JL649 | 55 .900
JL651 | 55 ,900
JL653 | 55 400
JL655 | 55 10,100
BERB% | _JL640 | 55 9500
JL642 | 55 10,100
JL644 | 55 400
JL646 | 55 ,900
JL648 | 55 400 78% | H:10.400
JL650 | 55 400 78% | H:10,400
JL652 | 55 10.400 | 76% [£:11.400, H:12.400
JL654 | 55 9,900 77% 110,900
ALIR TR =LE e % JL2901 | 55 8,500 73% |+ H:8.700
JL2903 | 55 10000 | 69% [+:10600. H:10.100
JL2905 | 55 8.500 73% |+ H:8.700
JL2907 | 55 12700 | 60% |£:14,900. £:12,600, A:
JL2909 | 55 11.700 | 63% [£:13.900. F:11,600, H:12.200
FLER (37 T 2%) 3_JL2900 | 55 7.900 75% 200, H:8.100
JL2902 | 55 8500 73% |+ H:8.700
JL2904 | 55 8,500 73% |+ H:8.700
JL2906 | 55 10.000 | 69% [£:10.300. £:10.100, H:10.600
JL2910 | 55 10000 [ 69% 10,300, +:10.100. H:10.600
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L509 ,200
1 200
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7 900
9 900
21 700
[ JLs23 700
[ JLs25 900
[ Jis27 800
[ JLs29 200
531 100
FLOR (B F#%) g JL500 500
[ JLs02 000
[ JLs04 500
[ JL506 700
508 ,900
,900
L 200
L 100
L ,100
700
[ JL520 700
[ JLs22 700
[ Jis24 900
[ JLs26 900
[ JLs28 100
[ JL530 100
FECRE) % |_JL303 ,100
[JL305 ,100
[JLs07 600
309 900
1 ,900 300, 1 17,800
L313 900 500 +:18,300
L315 300
L317 300 1 ‘700‘ £:16,200
L319 300 200
L321 300 00
[ JLs23 700 5:18,800. £:14,900
[ JLs25 700
[ JLs27 000
[ JL329 800
[ JLsat 800
[ JL333 600
L335 600
BE®E | JL300 300 [£:16,800.
[JLs02 300 | 63% [7k:16,000,
[JLs04 300 | 63% [7k:16,000
[ JL306 400 | 58% [A:18.10
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K 300 | 68% [£:15,700.
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600 900
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EBRE | JL562 400
[ JLs64 400
[ JLs66 600
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[ JLss8 9,300
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9.800 4% #:10.100
000 | 60% |A:11.300. £:11,600, £ H:9.800
.900 57% H:10.300
400 | 59% 700
1400 59% 1:11,800
400 | 59% +11.800
400 | 59% 1:11.800
KR (751 % 7.600 72%
400 59% 2,700, +:9.800, H:7.800
400 | 59% |H:12.700, %:9.800. H:8.000
400 59% | H:12,700. £:9.800. H:8.000
.800 1% _|£:9.800. H:8.000
.400 % £:10.100. H:8.000
800 £:10.100, B:8.000
800 % [JKA:9.700.
800 kA
.800 b | IKA:
800 KA
800 AES 1
12.200 | 56% |+:10.100. H:12.300
11.700 58%
11700 | 58% 800, B:12.100
FERCAE)=HIRGFTR)| RRCHE) R | _J 8,400 79%
400 79%
.400 74% ,500
000 | 70% 600, H:12.200
,000 70% 200
500 | 69% .600
.500 1% 100, H:11,600
000 | 72%
.000 72%
000 | 72% 11,900, H:13.100
.000 72% 900, £:11,900, H:13,100
000 | 72% 100
.000 72% ,100
1.300 | 72% .000. B:12.800
B 2100 | 70% .000. H:13.200
JL529 | 75H 1500 | 71% .900. B:12.600
JL531_| 75H 9,400 76%
FLIR (3 T A% 3_JL500 | 758 800 | 73%
JL502_| 75H 300 | 69%
JL594 | 758 300 | 69%
JL504_| 75H 800 | 68%
JL506 | 758 .300 | 69%
JL508 | 75H 9,900 75%
JL5 756 9.900 75% 11500
JL5 758 0900 | 73% 000, H:12.200
JL5 756 400 | 71% 300
JL5 758 400 | 71% 800
JL518 | 758 000 | 70%
JL520 | 75H 000 | 70%
JL522 | 758 .000 | 70%
JL524 | 75H 300 | 72%
JL526 | 75H 1.300 | 72 .
JL528 | 75H 0300 | 74% 12,
JL530 | 758 9.300 77
R CHE)=&#&ES | RRCHE) R [ JL565 | 758 2300 | 75% 800, F:14,300
JL567 | 758 3200 | 73% 700, £:15.200
JL569 | 75H 4100 | 71%
L@ | _JLs62 | 75H 2000 | 75% &
JL564_| 75H 1700 | 76% H:12.100.
JL566 | 758 6.600 86%
RRCHE) =R R CRE) % |_JL561 | 75H 1.400 | 76% |K:10.600, £:10.900, £:12.600, H:12.000
JL553 | 75H 3100 | 72% |A:10.500, £:12.700. £:13.500, B:13.200
JL555 | 75H 0900 | 77% |A:10.400, H:11.700
JL557 758 1,700 75% | A:11,000, £:11,600
B JL552_| 75H 0400 | 78% |+:11.300
JL554 758 0,400 78% 11,500
JL556 | 75H 6.700 86%
JL558 758 6,600 86%
RRCHE)=HIK WS CRIE) % |_JL573 | 758 0000 | 78% |£:10100. £:14.300, H:11.300
JL575 758 1,700 74 +:11,900, H:12,300
JL577_| 75H 1700 | _74% |H:12.300
JL579 758 100 74 A:11,100, £:11,600, H:12,900
BILE JL570 | 75H 500 | 72% 11,700, £:14.700
JL572 758 ,900 76! 11,400, £:12,500, H:13.200
JL574_| 75H .900 | 76% |%:11.400. £:12.500, A:13.200
JL576 758 ,600 85%
R (CHE) =W HRCHE) % |_JL231 | 756 400 74% | £:11.400. H:10.900
JL233 758 ,400 74% |+ H:9.600
JL237 | 75H 600 73%
JL239 758 11,400 69% |+ H:11,500
JL241_| 75H 8.000 78%
[EIES JL232 | 758 8,000 78%
JL234 | 75H 11700 | 68% |£:12.000. & H:11.600
JL236 758 9,600 73%
JL240 | 75H 11.800 | 67% |£:12.200. & H:11.600
JL242 758 12,800 65% |£:13,300, £ H:11,600
RR(AB)=E8 RRERCPE)F | _JL253 | 758 9.700 74%
JL255 758 10,700 1
JL257 | 75H 14300 | 61% |+ H:11.800
JL259 758 13,900 62! 1 H:11.800
JL261 | 758 8.000 78%
JL263 75 10,800 71% |+ H:11,000
JL265 | 75 12700 | 66% |%:12.800. £ H:
JL267 75 12,700 66% |£:13,300, +
LE% JL252 | 75 9700 74%
JL254 75 12,700 66% |£:12,800. £ H:11.800
JL256 | 75 11.000 | 70%
JL258 75 8,000 8%
JL260 | 75 10700 | 71% 1,000, H:11.500
JL262 75 12,800 65% 11,800
JL264 | 75 13.800 | 63% :11.800
JL266 75 13,800 63% 11,800
RECAR) =8 HE(RE) % | _JL453 | 75 10.000 72% 9.
JL455 75 10,000 12% 3:9,300
JLa57_| 75 9.000 75% 0,000, £ H:9.300
JL459 75 9,000 75% 0,000, + H:9,300
JL461 | 75 9.000 75%
JL463 75 10,000 12%
JL465 | 75 8.700 76%
BB JL452 | 75 8,700 76% 9.
JLa54_| 75 9.600 73% | %:10,000, £ H:9.300
JL456 75 ,600 73% 0,000, + H:9,300
JL458 | 75 700 73% :9.300
JL460 75 ,000 75% 9,300
JLa62_| 75 .900 72% £:10.000, + H:9.300
JL464 75 9,900 12% 10,000, £ H:9.300
R (FE) =24 TR CRIE) % | _JL491 | 75 9.500 75%
JL493 75 9,500 75%
JL495 | 75 9.000 76% 9.400. £:9.800. H:9.500
497 7 500 75%
JL499 | 7 700 77% | H:9.500
BaMFE | _JL490 | 7 500 75%
JL492 | 7 700 77% | £:9.500
L494 7 500 75%
JL496 | 7' 500 75%
L498 7 500 75%

JAL



TS %RBEER(12A6~12BEES) JAL

EREEAA : 2019/09/21 ~
12/6-12
Fi =5
) @ | AN —— DLESER
i’ B | yaie w5
HRCRE) =R RRPE)F [ J .600 75% :11.800, £:13.100
800 [ 7 +12.000. £:13.300
800 | 74% £:14,300, H:14.100
800 [ 7 4.100
800 | 74% 3300, H:13.600
800 [ 7 3.300. H:13.600
R .800 74%
800 | 7
200 | 7 :11,800, H:12.700
000 [ 7 3.800. H:14.300
.000 | 74% 800, H:14.300
600 | 75%
R (CRE) =R HRPB)R [ J .400 74%
000 | 72% |4
000 | 72% | :13.300
000 [ 72% [ :13.300, £:13.100
000 | 72% 113,300, +:13.100
800 [ 73% H:12.600
000 | 72% 4,100, H:13.800
200 [ 72% 114,100, H:14.300
AR 800 | 73% 4,100
000 [ 72% 3.800. H:14.100
000 | 72% |4 3,800, H:14.100
000 [ 72% 3.300
800 | 73% 13,100, H:13.300
800 [ 73% N 00
800 | 73%
800 | 73%
FR(CRE)=215 RRPE)F [ J .000 77% |[£B:9.
800 | 73% |%:12.000, £:12.800
800 | 73% |A:12,000. £ E H:12.200
800 | 73% [£:12.000. H:12.200
.000 72% [7K+:11.800, AH:14.100, $:12.800
800 | 73% | 7k:12.000, £:13.800. H:14.300
EE 000 72% [7k:11.800. 3.300
800 | 73% | A X:14.300. K%:12.000
.800 73% 3:12.600. +
800 | 73% [A:12.000. #:
800 | 73% |%:12.000. H:13.300
000 [ 72% 11,800, £:13.100, H:13.500
RER(AEB)=ERS HR(PE) R .700 81% .600
.900 81% 600
400 80% 400
.400 80% 100
B 400 80% 100
B 400 80% .000
B .900 81% 100, +:10,600. H:9.900
B 600 79% 100, £ H:10.600
ERBR B .000 80% | +:10.000
B 600 79% | 4:14.300. £:11.600
B .900 81% | X:14.300, £:9.900
B 400 80% .100
B 900 81% | H:9.900
B .900 81% | H:9.900
B 10700 | 77% 2,100, H:14.100
B 9.400 80% 3:10.400
IR EFFR)=LE [TE=E 3 B 1.500 78% H:7.700
B 13.100 | 62% 12.900. #:11.300, £:13.700. H:12.100
B 7500 78% H:7.700
B 10000 | 71% |%:12.600. £:10.800. H:11.100
B 9.000 74% |#:11,600, 1:9.800, H:10.100
FLIR (3 T 5%) 3_JL2900 | 758 6.800 80% |+ H:7.000
JL2902 | 758 7500 78% |+ H:7.700
JL2004 | 758 7.500 78% |+ H:7.700
JL2906 | 758 12.200 | 65% |£:12.700. £:9.500. H:14.000
JL2910 | 758 12.200 | 65% |£:12.700. £:9.500. H:14.000




TS ERGIHE

EEXR(12R13~26BEFED)

BRBAE - 2019/09/21 ~
12/13-26
4 S
= s | mAm DAERE
B e om '
BalE |
HE RE) ARG | F CHE) 3 [ 1ot E3
03 -
[JLto7 56% | A:13,000, £:12,300, H:10.300
L As:12,200, £:11,800, H:9,800
L ES .700, H:9.800
L X 1,600, H:9.800
L AR #:11.100, £ H:9.800
L As#:10.100
L A:10.100
L 60% | A:11,300, £:11,600, 1 H:9,800
L 57% |K; ,700, £ H:10.300
L 59% | A& 800, H:11,700
L 59% | K N 800, H:11.800
L 59% | A& 600, H:11.800
L 59% | K 600, H:11,800
P AGTE ) I E
L 59% Z 700, 1:9.800, H:7.800

59%

12,700, £:9,800, H:8,000

59%

2,700, 1:9.800, H:8.000

61%

62%

800, H:8,000

£:10.100, H:8.000

:10,100, H:8.000

N\.N\.Hm%m:ﬂ

TR CRE) =AU (i F %)

R (PE) % |_J

7
A

HLIR G FiR)

.200, 1:11,900, H:11.500

700 ﬁiﬂSDO . H:13.900

RBR () =#LIR (R F i)

AR (R | J

500, +:11,000, QBEOO

HLIR (T FiR) $9_J

11,000

:15,800, F:11,500, H:13,300

200

K 7K:8,500,, #:9.400, F:10,900, H:13800

t H:15.200

i

500, 1:15,200, H:19.200

200, A1

RR(FHE)=KH5

RROPE)E [ _J

14,500, K14700 %12700

ESCFIES

; ‘ZOO. £ H:12,300, +:12,500

12,100, £:12,300

7:10,400, £:10,300, 1 H:11,000

RRCHE) =)

RROPE)E [ _J

A:11,400, £:10,900, 1:12,600

7%

11,700

H:12,900, :13,200, A:14,500, £:12,700, +:13,500
x

JENIES
78% | A%:10300, £:9,600, H:12.800
78% | A:10,300, %:10,200, £:9,500, H:12,500
R CAE)=HIK R CRE) £ 78% 700, #:10.100,
74% 1900, H:12,300
74% 300
74% | R:11900, %:11,600, H:12,900
HILR %
FRGB-AL | ARG E gorRER 06. H:10.800
R | J
£:12.000. T H:11,600
12,300, %:12.200. 1 B1:11,600
113,300, + B:11,600
RRCHE) =L RR(HE) %
14,800, T B:11,800
7K:13.900, A&:14,300. F H:11.800
7)<n 600, A:12,800
00, H:11,200
RS
713400, %:12.800. £ H:11,800
111,100, £:11.000, B:11,500
+13,400, £ H:11,800
000, %:14,300. £ H:11,800
266 | 7568 | 14300, £ B:11.800
RRCHE) =5 RR(HE) % 300, + H:9,300
110,300, + H:9,300
300, A:9.500. 1 H:9,300
300, 9,500, £ H:9,300
BEER

0000, 1 H:9,300

00, 1+ H:9,300

300

:9,600, F H:9,300

0,000, £ H:9,300

0,000, + H:9.300

JAL



TSR BIEER (12R13~26BEES) JAL

SEEEMAE . 2019/09/21 ~

12/13-26
= ® | WAM DAFIER

B | a= ‘:%,]—g@_ W

RRCHA) =54 RHRCHE)H L491 | 758 500 75% :9.700. 2( I1 500
[ JL493 | 758 500 75%
5 76%
5%
7%
5%
7%
5%
75%
5%

B

R (FE)=K% R (PE) % |_J 65%

80‘0« H:16.100
18,800, H:16.600
18,800, H:16,600

EE

R CRE) =R R CRE) [ JL605 |

700, £19900 |
00, +:19,900. H:15,000
700, 19,900, H:15,000

,700, £:15,000, H:16.600

RiEs

13 400

RR CRE) =R RRCRE)F [ J

b=l

2

1514800, 7K:20700, £22.700. & B 1

:14,800, 7K:20.700, £:22.700, & E1:16,100
AR A H:13000, 00

XE:14,100, 00

K £:14,100, 00

J7K:12,900, 00, % H:13.100

K:13.000, £ H:13.100
+:13,000, £ H:13,600
+:13,000, £ H:13.600
7K:13,000, £:14,100, H:13,600

RRCHE) =58 R (HE) % | JL A +:18.800. 7 19900 7:22.700

9,900, 7K:20,700, 7:22,700, +:18,800
700, AK:22,700, £:15.000, 113800 H:14.800

00, k: N
3,600, 1:15,100, H:14.100

00, £ H:14,100
2,800, 1:14,600, H:13,100

R (HE)=ERE RR(HE) %

BRBR
HRGHFFR=lE =3 758 1 8:7.700
758 67% | F:13,100, X:14,500, JK:15.100, A:13:300, F:13,700, H:12,100
758 78% | A+ H7700
758 71% | :11900. 7K:11,800, A:13,800, %:12,600, +:10,800, H:11,200
758 74% | 910900, 7K:10.800. A:12.800, %:11.600. +:9.800. H:10.200
FLUR (T ) 3_JL2900 | 758 80% |A:8300. T H:7,000

[JL2902 [ 758 78% | A:10400, + B:7.700

[JL2904 [ 758 78% | A:11900. :tEI 7,700

[JL2906 [ 758 62%

L2910 | 758 13000 | 62%




EREAR

2019/09/21

TS BIEER(12A27~31BEED)

=40]

F
A
[

12/27

T I

EEEH

R CRE) =R

RRCAE)F | J

14,500

14.700

24,600

25.600

ENIES

.400

.400

.300

.200

RRCAB)=ES

RRCAE)F | J

.700

.700

000

.400

700

.700

700

.200

S

.800

.800

.800

.800

.800

.800

.800

.800

R CRE)=HE

R CRE) #

.300

.900

o

500

500

700

700

S =B

700

.600

.900

.900

R CRE) =&

R CRE) %

.100

.500

.200

.900

.900

.900

.200

.000

200

1.000

1.000

1.400

1.400

1.400

FRCRE) =t

RRECRE)#

5.200

6.300

20.000

20.500

IS

RECRE) =K%

RRECPE)#

EX

R CRR) =Ri&

RRECRE)#

R

R CRE)=REX

RRECRE)#

JL623

JL625

JL627

JL629

JL631

JL633

JL637

JL639

JL622

JL624

JL626

JL628

JL630

JL632

JL634

JL638

RECRR) =B

RRECRE)#

JL687

JL689

JL691

JL693

JL695

JL697

JL688

JL690

JL692

JL694

JL696

JL698

RRCAEB)=ERS

RRECRE)#

JL641

JL643

JL645

JL647

JL649

JL651

JL653

JL655

JL640

JL642

JL644

JL646

JL648

JL650

JL652

JL654

IR FTFR) =S

N

JL3403

[#L0R (37 F %) | JL3406

JAL



EREAR

2019/09/21

TSR FIERER(A1~6BERD)

=40]

F
A
[

1/1

T

1/3
T I

EEEH

EEEH

R CRE) =Xk (#51)

R CRE) %

,200

,000

KB (5 %

R CRIE) =ik (%)

RRCRE)F | J

iR GRER) R |_J

KR (751 =ALIR (B F %)

ENACES S

FLIR B Fi%)

KR (751) =iehi (FR%R)

KR (£751) %

HHR )

R CRE)=FEl

RRECRE)#

RS

RECAR)=LES

RRECRE)#

E&%

RRECRR) =8

RRECRE)#

RECAR)=K%9

RRECRE)#

RRHE

RECRR)=R&

RRECRE)#

RIGF

JAL



EREAR
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r9ILS%

28

S

BEER(A1~6BEBES)

=40]

Fi
WA
R

1/1

1/3

T

T I

EEEH

EEEH

R CRE)=MEK

RRCRE) | JL

6.700

7.100

7.300

7.300

7.300

6.800

7.100

7.100

BAR

7.800

7.800

7.800

7.800

7.800

7.800

7.800

.400
800
000
000
000
.100

9.300

R CRE) =58

RRCRE)F | J

5.200

7.300

.800

.800

.800

.300

7.800

7.800

8.000

7.800

7.800

.000

RR(PE)-ERS

R CRE) %

700

.100

300

7300

7.300

6.600

7.100

7.100

ERBR

200

.600

.600

.600

.600

.600

.600

.600

65 (R ED) =ALIR (B T | 2 (P ED)

.000

.000

.000

.200

FLIR B TF %) _JLS

.000

.000

,200

11.200

AR GRFR)=lE

8,900

9.800

9.500

10.700

.500

HLIR BT 5

.400

.900

500

JL2906

12,000

JL2910

12.000

JAL



TNSEFIERER(AT~IBERD)

EREEAA : 2019/09/21 ~
1/7-9
Fi ===
37 @5 | BAM [—— e PR
i’ B | gyziw w5
RECRE) =R (3 F&)| R (FE) % [_JL 7 8,400 78%
7 400 | 72% |7K:10.900
7 200 | 70% |7K:12.500, A:12.700
7 200 | 70% |7K:12.500, A:11.700
7 600 | 69% |7K:13.000, A:12.200
7 000 | 71%
7 500 | 72%
7 500 | 72%
7 .200 | 73% | 7K:10.400. £:9.900
7 200 | 73% | 7K:10.400. £:9.900
7 200 | 70% |7K:10.900, A:11,500
7 200 | 70% |7K:10.900, A:11.500
7 800 | 69% |K:11.400
7 600 | 66% | 4:12.300
[ J 7 000 | 68% [X:11.600
JL531 | 7 9.900 74%
AL (BT F %) _JL500 | 7 .300 67%
[ JLs02 | 7 800 | 66%
| JL504 | 7 300 | 67%
| JL506 | 7 400 | 67% |K:12.800
| JL508 | 7 800 | 71% |7k:10400, £:9.900
JL! 7 800 | 7 7K:10.400, #:9.900
JL 7 .900 | 71%
JL! 7 900 | 6 X:11.500
JL! 7 600 66% | A:12.900
JL518 | 7 500 | 67% | 12200
| JL520 | 7 500 | 67% |X:12.200
| U522 | 7 500 | 67% | :12.200
[ JL524 [ 7 .400 70% _[7K:11.800, A:11.600
| JL526 | 7 400 | 70% |7K:11.800, A:11.600
| JL528 | 7 700 | 71% | A:10.900
JL530 | 7 9.900 74%
FRCRE)=k#5 R CPIE) e |_JL565 | 7! .000 76% |7K:11.900
| JLs67 | 7 900 | 74% |k:12.800
JL569 | 7 700 | 75% |K:12.700
THRI%E | _JLs62 | 7 000 | 74% |7k:12.800
| JL564 | 7. 700 | 75% [7K:12.500
JL566 | 7 9.900 79% _|7K:10.400
FR CRE) =Rl R (PE)F [ _JLS6T | 7 .600 76% | 7K:11.500
| JL553 | 7 500 | 76% | K:11.400
| JL555 | 7 400 | 77% |K:10.900
JL557 | 7 000 | 75% |7K:11.600
JENIES JL552 | 7 100 | 75% |K:12.100
JL554 | 75 400 | 77% | k:10.700
JL556 | 758 500 | 76% |7K:11.100
JL558 | 758 .000 | 77% |k:10.200
RR(CRR)=RIK RRCRIMA) % [_JL605 | 758 .600 73%
JL607 | 758 800 | 73%
JL609 | 758 800 | 73%
JL611_| 758 1.800 | 73%
JL613 | 758 1.800 | 73% |A:12.000
JL615 | 758 1.800 | 73% |A:12.000
RIER JL606 | 758 1.800 | 73% |K:12.000
JL608 | 758 800 | 73% | 412000
JL610 | 758 800 | 73% | X:12.000
JL612 | 758 000 | 72% |A:12.200
JL614 | 758 000 | 72% |A:12.200
JL616 | 758 600 | 73%
R (PA)=f RRCPMA) % [_JL623 | 758 .400 72%
JL625 | 758 000 |71
JL627 | 758 800 | 71% |A:12.000
JL629 | 758 1.800 | 71
JLi 756 1.800 | 71%
JL 756 1.800 | 71
JLi 756 1.800 | 71% |7K:12.000
JL 756 800 | 71% |7K:12.200. A:12.000
AR JL622 | 758 800 | 71% |X:12.000
JL624 | 758 000 | 71% |A:11.900
JL626 | 758 000 | 71%
JL628 | 758 000 |71
JL630 | 758 800 | 71% |X:12.000
JL632 | 758 1.800 | 71% [4:12.000
JL634 | 758 1800 | 71% |X:12.000
JL638 | 758 1800 | 71% [:12,000
RE(CRR)=515 RRER(CPE)F | _JL687 | 758 0.000 76
JL689 | 758 1,800 | 71
JL691 | 758 1.800 | 71%
JL693 | 758 1,800 | 71
JL695 | 758 1800 | 71% |X:12.000
JL697 | 758 1,800 | 71% [K:12,000
EEES JL688 | 758 4100 | 66% |A:12.000
JL690 | 758 1,800 | 71% [2:12,000
JL692 | 758 1800 | 71% |X:12.000
JL694 | 758 1800 | 71% [K:12,000
JL696 | 758 1.800 | 71%
JL698 | 758 1,800 [ 71% [7k:12,000
ERCPAE)=-ERE RRER(CPE)F | _JL641 | 758 .700 80%
JL643 | 758 ,900 80%
JL645 | 758 .400 78%
JL647 | 758 400 78%
JL649 | 758 400 78%
JL651 | 758 400 78%
JL653 | 758 .900 80%
JL655 | 758 9,600 78%
ERB% | _JL640 | 758 9.000 79%
JL642 | 758 600 78%
JL644 | 758 .900 80%
JL646 | 758 400 78%
JL648 | 758 .900 80%
JL650 | 758 ,900 80%
JL652 | 758 10.100 | 77%
JL654 | 75 9,400 78%
IR GFTFR)=E [IE=E3 JL2901 | 75 7.500 76%
JL2903 | 75 7.900 75%
JL2905 | 75 7.500 76%
JL2907 | 75 12,500 | 61% [7K:12.600
JL2909 | 75 11500 | 64% |7K:11.600
FLER (37 T 2%) 3_JL2900 | 75 7.400 77%
JL2902 | 75 7.500 76%
JL2904 | 75 7500 76%
JL2906 | 75 7.900 75%
JL2910 | 75 7.900 75%

JAL



TS5 BIEER(1A14~20B-ES)

EREEAA : 2019/09/21 ~
1/14-20
Fi ==
37 @5 | BAM [—— e PR
i’ B | gyziw w5
R CRE) =R (3 F)| =mCRE) % [_JL 8,400 78% |%+:9.400
10400 | 72% |k%:10.900. £:12.700, H:9.200
9.800 74% |8 00, 7:12,700, £:13.200. £:15.100
700 | 69% [% 200, +:14.100. H:9.800
1200 | 67% | 12,900, F:14,600, H:10.200
000 | 7
500 | 72% |4
500 | 7
9,900 74% K 500, H:12.400
9.900 7 Y 500, B:12.400
500 | 69% [k 700
500 | 69% [k 700
800 | 69% .300. H:12.800
600 | 66% | X 13.200
600 | 69% X :12.800
9.900 74%
FLIR (T FiR) 59 .300 67% &t
800 | 66% 300, H:10.700
300 | 67% |4 . H:10.700
400 | 67% |4
9,900 74% | K 112,200, £:11,900
9.900 74% X 200, +:11.900, H:13.200
900 | 71% _|&
900 | 68% [k
600 66% A £:11.900, H:14.200
500 | 67% [k 600
500 67% [k
500 | 67% [k X
600 [ 69% [k 400, H:13.700
600 | 69% [k :10.400, B:13.700
900 | 71% |k 900, H:12.800
9.900 74% &
TR PR -Kma | RRCHE) R | J 000 | 76% |4 :13.000, B:10.300
900 | 74% |4 :13.900, B:11.200
700 | 75% |J :12.600, B:13.300
ESTIES 000 [ 74% & 2.300
700 | 75% |k&: :12.100
9.900 79% |7 :10.300
FR CRE) =Rl RRPE)F [ J .600 76% |7} :11.400
500 | 76% |4 :10.900
400 | 77% |4 :11.600
000 | 75% |4
JENIES 100 | 75% |4
400 [ 77% [sk:10.
B 500 | 76%
B .000 | 77% |7k:10.200. %:9.500. H:10.300
HR CRE)=HIE R CHE) % B 800 | 75% 0100, +:10.600. H:10.000
B 1500 | 73% &:11.700. £:11.900. H:12.500
B 1500 | 73% £:11.700, H:12.500
B 600 | 73% 0.800. H:14.300
HILF B 500 71%
B 700 | 75%
B 700 | 75% N
B 000 | 77% 2,000, t
RR(CRE)=K5 RERCRE) % B .000 75%
B 000 | 70% | &:11.800. A H:12.600, £:13.600. £:14.100
B 000 | 70% |K:11.800. AH:12.600, %:13.600. £:14.100
B 600 | 68% | Jcil. 3600, H:14.100
B 100 | 67% |11, . £ H:14.100
B 100 | 67% [k . £H:14.100
K55 B 600 | 68% | X
B 600 | 68%
B 600 | 68% | X . H:13.600
B 600 | 68% |k .800. H:13.600
B 600 | 66% | KA & +:13.100. H:14.100
B 000 | 70% |4 1360
R (PE) =R R CHE) % B 600 [ 73% [&: 2.900
B 800 | 73% |%:
B 800 | 73% $:13.100. H:12.200
B 1.800 | 73% :12.200
B 1.800 | 73% 3,100, H:13.600
B 1.800 | 73% 3,100, H:13.600
AR B 800 [ 73% :13.300
B 1,800 | 73 :12,600, £:13,300
B 2.000 | 72% :11,800, H:12.500
B 2,200 |72 13,600, H:14,300
B 2200 | 72% 113,600, H:14.300
B 1,600 | 73 :13.900
R (PE) =X W CRIE) % |_JL623 | 758 1400 | 72% :13.200
JL625 | 758 2,000 | 71
JL627 | 758 2,000 | 71% 7K:11.800, % +:13.300
JL629 | 758 1,800 | 71 H:12.000, £:13,300, £:13,100
JL631 | 758 800 | 71% H:12,000, £:13.300. £:13.100
JL633 | 758 1,800 | 71 12,000, #:12,200, £ H:12,600
JL637 | 758 2000 | 71% £:12.200, H:13.700
JL639 | 758 2200 [ 70% [& . £:14,100, H:14,300
233 JL622 | 758 800 [ 71% [k 100
JL624 | 758 2000 [ 71% |X<£:13,300, 7:11,900, £:13,800. H:14,100
JL626 | 758 2000 | 71% |X%:13,300. +:13.800, H:14.100
JL628 | 758 2000 [ 71% [%:12800, £:13,100, H:13,300
JL630 | 758 2,000 | 71% 2,800, JKA:11.800, #:13.100, H:13.300
JL632 | 758 1,800 | 71 12,000, %:13,300, H:13,800
JL634 | 758 800 | 71% 113,300, B:13.800
JL638 | 758 1,800 | 71 H:14,100
RRE(CRR)=215 RRER(CPE)F | _JL687 | 758 0.000 76
JL689 | 758 1,800 | 71 . £:12,800
JL691 | 758 800 | 71% T H:12.200
JL693 | 758 1,800 | 71 3:12,200
JL695 | 758 800 | 71% £:12.800, H:14.100
JL697 | 758 1,800 | 71 :13,800, H:14,300
EEES JL688 | 758 2,000 | 71% :11.800, £:13.100. £:13,300
JL690 | 75 11,800 | 71% 12,000
JL692 | 75 800 | 71% & H:12.600. £:12.000
JL694 | 75 11,800 | 71% (13,100, %:12.200, H:13,300
JL696 | 75 800 | 71% £:12.000. H:13.300
JL698 | 75 12,000 | 71% 11,800, £:13.100, H:13.500
ER(CPAE)-ERE HRERCPE)F | _JL641 | 75 .700 80%
JL643 | 75 ,900 80%
JL645 | 75 400 78% |
JL647 | 75 400 78% |
JL649 | 75 400 78% | X:10.800
JL651 | 75 400 78% | X:10,600, £:14.100
JL653 | 75 .900 80% | X:10,600. % H:9.900
JL655 | 75 9,600 78% | k£ H:10.600
BR&% | _JL640 [ 75 9.000 79% | %:10.200, £:10.000
JL642 | 75 600 78% | :13,800, £:10,600
JL644 | 75 .900 80% | 4:13.600, +:9.900
JL646 | 75 .400 78% | X
JL648 | 75 .900 80% | X :9.900
JL650 | 75 ,900 80% | K: ,900
JL652 | 75 10100 | 77% |k 1,100, H:12.100
JL654 | 75 9,400 78% & 10400
IR GFTFR)=E [IE=E3 JL2901 | 75 7.500 76%
JL2903 | 75 9,400 71%
JL2905 | 75 7.500 76%
JL2907 | 75 12,000 | 62% 4,100, H:12,500
JL2909 | 75 11.000 | 66% 3,100, H:11.500
FLER (37 T 2%) 3_JL2900 | 75 6.900 78% 7200
JL2902 | 75 7500 76% :7.700
JL2904 | 75 7500 76% :7.700
JL2906 | 75 9.400 71% :9.700
JL2910 [ 75 9,400 71% |+ H:9.700

JAL



TS %RBIEER(A21~31BEES)

EREEAA : 2019/09/21 ~
1/21-31
Fi =z
37 @5 | BAM [—— e PR
i’ B | gyziw w5
RECRE) =R (3 F&)| R (FE) % [_JL 7 8,400 78%
7 10400 | 72% 112,700, H:9.200
7 9,800 74% 00, 7:13,300, £:14.400. F:15.100
7 500 | 67% 500, +:14.100. H:9.800
7 000 | 65% 14,300, £:14,600, H:10.200
7 000 | 7 .200
7 500 | 72% |4 3:11.600
7 500 | 7
7 .400 | 72% X 500, £:11,500. H:12.400
7 400 [ 7 GEX 500, B:12.400
7 500 | 69% [ 00
7 500 | 69% |k 700
7 800 | 69% .300. H:12.800
7 600 | 66% | X 13.200
[ J 7 600 | 69% x: :12.800
JL531 | 7 9.900 74%
FLIR (37 F %) 54_JL500 | 7 300 | 67% |4 :9.900
[ JLs02 | 7 800 | 66% :10.700
| JL504 | 7 300 | 67% [&:13, :10.700
| JL506 | 7 400 | 67% kA :11.800
| JL508 | 7 400 | 72% X 800, £:11,900. H:12.200
JL! 7 400 | 7 9. .800. £:11.900, H:13.200
JL 7 900 | 71% [A .900. H:13.700
JL! 7 900 [ 6 PR
JL 7 600 | 66% |A :11,900, H:14.200
JL518 | 7 500 | 67% [k
| JL520 | 7 500 | 67% [k
| U522 | 7 500 | 67% [k
| JL524 | 7 800 | 69% |A: b
| JL526 | 7 800 | 69% |A :10.400. H:13.700
| JL528 | 7 .900 | 71% [ kok: 900, H:12.800
JL530 | 7 9.900 74%
FRCRE)=k#5 R CPIE) e |_JL565 | 7! .000 76% :12.100
| JLs67 | 7 900 | 74% :13.000
JL569 | 7 700 | 75% 112,600, H:13.300
THRI%E | _JLs62 | 7 400 | 75% 500, £:13.400. £:12.800, H:12.300
| JL564 | 7. 500 | 73% 2,800, £:12,300, B:12.100
JL566 | 7 9.900 79% :10.300
RE(CHE) = HR(CHE)$ | _JL551 [ 7 600 76% 111,400
| JL553 | 7 500 | 76% 10.900
| JL555 | 7. 400 | 77% 3:11.600
JL557 | 7 000 | 75% :11.600
FEIES JL552 | 7 100 | 75% .300
JL554 | 75 400 | 77% :11.200
JL556 | 758 500 | 76% :10.300
JL558 | 758 000 | 77% £:10.900, £:9.500. H:10.300
HR CRE)=HIE R CHE) % [ _JL573 | 758 800 | 75% :10.000
JL575 | 758 1500 | 73% . £:11.900
JL577 | 758 1700 | 73%
JL579 | 758 600 | 73% . £:10.800. H:14.300
B JL570 | 758 500 | 71% 111,700
JL572_| 758 700 | 75% |4 111,000, B:12.500
JL574 | 758 700 | 75% |J .000. B:12.500
JL576 | 758 000 | 77% 900, B:11.400
RR(CRR)=RIK RRE(CPE)F |_JL605 | 758 .600 73%
JL607 | 758 800 | 73%
JL609 | 758 800 | 73%
JL611_| 758 1.800 | 73% :12.200
JL613 | 758 1.800 | 73% +13.300, H:13.600
JL615 | 758 1.800 | 73% 3300, H:13.600
RIER JL606 | 758 1.800 | 73%
JL608 | 758 800 | 73%
JL610 | 758 800 | 73%
JL612 | 758 000 | 72%
JL614 | 758 000 | 72%
JL616 | 758 600 | 73%
R (PA)=f RRER(CPE)F | _JL623 | 758 .400 72%
JL625 | 758 000 |71
JL627 | 758 000 | 71% 300
JL629 | 758 800 | 71 100
JL631 | 758 800 | 71% 100
JL633 | 758 000 |71 600
JL637 | 758 000 | 71% 700
JL639 | 758 2,200 |10 :14,100, H:14.300
AR JL622 | 758 800 | 71%
JL624 | 758 2,000 | 71
JL626 | 758 2000 | 71%
JL628 | 758 2,000 | 71
JL630 | 758 800 | 71% £:12.000, %:13.100. H:13.300
JL632 | 758 1,800 | 71 2,000, %:13,300. H:13.800
JL634 | 758 800 | 71% 2,000, #:13.300, H:13.800
JL638 | 758 1,800 | 71 :12,000, £ H:14,100
R CRE)=2H W CRIE) % |_JL687 | 758 0000 | 76% |+ H9.900
JL689 | 758 1,800 | 71 12,000, £:12,800
JL691 | 758 800 | 71% 12,000, &+ H:12.200
JL693 | 758 1,800 | 71 :12,200
JL695 | 758 800 | 71% X:12,000, £ H:14.100
JL697 | 758 1,800 71% [7K:12,000, #:13,800, H:14.300
EEES JL688 | 758 2,000 [ 71% [7k:11.800, #:13.100, +:13.300
JL690 | 758 1,800 [ 71% [4:14,100, £:12.000
JL692 | 758 800 | 71% |%H:12600, :12.000
JL694 | 758 1,800 | 71% |H:12.000, %:12,200, H:13,300
JL696 | 758 800 | 71% [£:12,000. H:13.300
JL698 | 758 2,000 | 71% |KZA:11,800. £:13,100. B:13,500
ERCPAE)=-ERE RRERCPE)F | _JL641 | 758 ,700
JL643 | 758 ,900
JL645 | 758 400
JL647 | 758 400
JL649 | 758 400
JL651 | 758 400
JL653 | 758 900
JL655 | 75 9,600
BERB% | JL640 | 75 9.000
JL642 | 75 600
JL644 | 75 .900
JL646 | 75 400
JL648 | 75 .900
JL650 | 75 ,900 80% ,900
JL652 | 75 10.100 | 77% 1,100, H:12.100
JL654 | 75 9,400 78% |4 H:10400
ALIR TR =L E [T JL2901 | 75 7.500 76% :7.700
JL2903 | 75 9,400 71% 9,700
JL2905 | 75 7.500 76% :7.700
JL2907 | 75 12,000 | 62% 4,100, H:12,500
JL2909 | 75 11.000 | 66% |£:13.100. H:11.500
FLER (37 T 2%) 3_JL2900 | 75 6.900 78% |+ H:7.200
JL2902 | 75 7.500 76% :7.700
JL2904 | 75 7500 76% 7700
JL2906 | 75 9.400 71% :9.700
JL2910 | 75 9,400 71% 9,700
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=40)
BRCRE)=ki#E5] KRB [ J
ESEES
FRCRE) =R HR(PA)F [ JL
JENTES
FR(CRE)=K5 RRPE)F [ J
K%
FRCRE) =R RRPE)F [ J
RIBGFE
R (PA)=f RRPE)F [ J
JL639 | 758 300
EAR JL622 | 758 000
JL624 | 758 000
JL626 | 758 000
JL628 | 758 000
JL630 | 758 000
JL632 | 758 300
JL634 | 758 300
JL638 | 758 100
AR CRIE) =58 RRECPE)H | _JL687 | 75H .000
JL689 | 758 600
JL691 | 758 100
JL693 | 758 100
JL695 | 758 100
JL697 | 758 300
EEES JL688 | 758 000
JL690 | 758 000
JL692 | 758 000
JL694 | 758 200
JL696 | 758 200
JL698 | 758 .000
ERCPE)-ERS RRER(CPE)F | _JL641 | 758 ,700
JL643 | 758 100
JL645 | 758 600
JL647 | 758 100
JL649 | 758 100
JL651 | 758 3.600
JL653 | 758 4.100
JL655 | 758 4,100
ERB% [ _JL640 | 758 0.200
JL642 | 758 100
JL644 | 758 100
JL646 | 758 600
JL648 | 758 600
JL650 | 758 600
JL652 | 758 100
JL654 | 758 3,100
IR EFFR)=ILE (¢ 3 JL2901 | 75H 8.300
JL2903 | 758 10,900
JL2905 | 758 8.300
JL2007 | 758 13,700
JL2909 | 758 12.700
FLIR (37 T 2%) 3_JL2900 | 758 7.800
JL2902 | 758 8.300
JL2004 | 758 8,300
JL2906 | 758 14,500
JL2910 | 758 14,500
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